VIGOUR i5E

ULTRA HIGH PURITY GAS SYSTEM
B mRy

Gas

Control
Solutions




Elgiloy® is registered trademark of Elgiloy Specialty Metals.
Hastelloy” is registered trademark of Haynes International,Inc.
Viton® and Kalrez® are registered trademarks of Dupont.
Vespel® is registered trademark of Dupont Specialty Metals.



B = |

ok INODIN

BEgRES | P1~42

VSR-50UB / UC F%1

VSR-100UB / UC Z7%l
VSR-1000UB / UC &7l
VSR-210UB / UC &%l
VSR-410UB / UC &%l
VSR-510UB / UC &%l
VSR-610UB / UC &7l
VSR-710UB / UC Z7%l

VSR-910UB &%l
VSR-911UB 7%l

VSR-920UB / UC Z7%l

VSR-930UB &7l
[RREHE

VDV32UA Z7%l
VDV33UA &7l
VDV32UB / UC &%l
VDV42UB / UC &%l
VDV33UB / UC &%l
VDV52UB / UC &%l
VDV22UB &%l
VDV36UB / UC &%l
VDV46UB / UC &%l
VDV37UB / UC &%l
VDV38UB / UC &%l
VDV39UB %7l
VDV40UB / UC &7l

R

VUBV &7l
VUBV2 %5l

R ERITER

VBMV 75l
itE1
VMV 71

RFETRE

VALD %7l

BSR4 |

VG &7
VVGV1 &7l
VVGV2 &7l

SIFEBREE

VUCV &7l

pl~4
p5~8
p9~12
p13~16
p17~20
p21~24
p25~28
p29~32
p33~34
p35~36
p37~40
p41~42

P43~90

p43~44
p45~46
p47~50
p51~54
p55~60
p61~64
p67~68
p69~72
p73~76
p77~80
p81~84
p85~86
p87~90

P91~94

p91~92
p93-94

P95~96

p95-96

P97~99

p97~99

P100

p100

P101~104

p101~102
p103~104
p105~106

P107

p107

B[

VCVH &7l
aJiFztamiE
VCA &%l
SIEIRER
VUP &7
iTieEs

VUF 71
VFH %5l

B R3UidiERs

VUGF &7l

MEFRX

VEFS1 %l

VFS &AM

VVR &7l
HVVR 7%l

S iEA M

VMW 71

IREEAN

VTW £7%1

EIREEIEY
VWRZ7
MR
VUC 75l

VUC DISS %5l

Eh=

IZWe

| P108

p108

| P109

pl09

| P110~112

p110~112

| P113~115

p113~114
p115

| P116

pl16

| P117

p117

| P118~129

p118~126
p127~129

| P130~133

p130~133

| P134~136

p134~136

| P137

p137

| P138~140

p138
p139~140

| P141~144

| P145-148



B sVRERS / Single Stage Pressure Regulator
VSR-50UB 7%l

| P
. BEAES

o REYEEE 10pin. Ra (25pin. Ra AJifk)

o POEB(RER/N, WRETRYE)RE

o [FRMRSS ASTM A479 / A484 / A276 tRifE
o 7i&: 15 slpm (tRf), 30 slpm (HF%IRN)

+ 100% S Sittiwte

I ~=&ERS (mm)

|
45?’“@1\
TN -
3 | 1 J o ‘/g\
T
28.4 2-M5-7 6.4

11.2
[

70.6

I BARSE

£ 51l
HSES:
HSEA:
FEGEE
)54

BR:

R -

&R

B/ HSER:
BEIER:
R

RESH
R ERRSUS

B&:

BBRCRE

150 psig (10bar)

Vac to 10/30/60/100 psig (0.7/2/4/7bar)
10uin. Ra (25pin. Ra AJ5)

FEIITIESE

PCTFE (Vespel® aJi%)

Hastelloy® C276

174" VFSEES S ResE

-40°F to +160°F (-40°C to +71°C)
<1x10° mbar I/s He (5N2B)
<1x10® mbar I/s He (FB)
Cv=0.06 (Cv=0.1 AJk)

Cv=0.06 HSEHE TR0 psig HSESHLEFH0.2 psig;
Cv=0.1 HSEHE K20 psig HSEHLEF0.4 psig

£9 0.5kg (BUA T ZEEEEIEIN)

VIGOUR #&El

HSEH psig (bar)

HEES psig (bar)

N =
lﬁi

35(24)
30(2.0)
25(1.7)
20(1.3)
15 (1.0)
10 (0.6)
5(0.3)
0

35(24)
30(2.0)
25(1.7)
20(1.3)
15 (1.0)
10 (0.6)

5(0.3)

0
0

HSED

M 100psig [6.8bar] M 30psig [2.0bar]

2 4

6 8 10

il (slpm &5)

HSESD
M 75psig [5.1bar]
M 45psig [3.1bar]

30psig [2.0bar]

—_
—~

10 20 30 40 50 60

70 80

i (slpm &5)



Single Stage Pressure Regulator / B4R\ iFEERS
VSR-50UB &%l

| PANE
*
*
2] [1] FrE
T B/ HSEE
FV4: 1/4" VFS 84y TW4: 1/4" 1BEEE
MV4: 1/4" VFS 8261 P: EAFE (1/4" VFSEO)
* RN, e,
[ 1 \
I BOR AR |
VSR -50UBS -10-7-3P-1-2-3-R25-HF-VS-P
WM& J T2
S: 316L &K Z=H: VS001B
SHP: 316L ARG BHAFAI ————
Hastelloy® C22 @ 2p: 23, * FIEESHIR.
B IRERE RIS Hastelloy® C276. 3p: 37
— IREEIAIN
5 = Z=H: PCTFE
HSED — HSED VS: Vespel®
10: 150 psig V0.7: Vac to 10 psig *
V2: Vac to 30 psig .
V4: Vac to 60 psig L CviEn
V7: Vac to 1'00*psig ZS[: Cv=0.06
0.7: to 10 psig HF: Cv=0.1
2: to 30 psig
4: to 60 psig
7: to 100 psig L EKEYOEE
* WVETI R BRE, ZsH: 10 pin. Ra
REBEIRDTRE. R25: 25 pin. Ra
| pAYaES]
VSR-50UBS-10-7-3P-FV‘4-F"-F‘V4
1 -2- 3 3] 1]

VIGOUR #&El



B sVRERS / Single Stage Pressure Regulator
VSR-50UC &%l

| P
. BEAES

« FEYEEE 10pin. Ra Average
(10pin. Ra Max / 7pin. Ra Max / 5pin. Ra Max BJi5)
+ PIBBAR)N, WRERdIERE
o [EAMRAS ASTM A479 / A484 / A276 TR
o 7i&: 15 slpm (tRf), 30 slpm (HF%IRN)

+ 100% S Sittiwte

I ~=&ERS (mm)

|
457/\@{-‘\
[Ny <
. Uk R
===
T
28.4 2-M5-7 6.4

1.2
[

70.6

I 5aARSE

ESiTH

HSESD P1:
HSESA P2:
FENGEE:

TR

BHA:

HRIE :

&R

B/ HSER:
BEIER:
thmER

hrad =~ *h .
RESH:

LR :

BE:

BARURE

150 psig (10bar)

Vac to 10/30/60/100 psig (0.7/2/4/7bar)

10pin Ra Average

(10uin. Ra Max / 7pin. Ra Max / 5pin. Ra Max aJi5)

HITEESE

PCTFE (Vespel® TJi%)

Hastelloy® C276

1/4" VFSEESL iR aeee

-40°F to +160°F (-40°C to +71°C)

<1x10° mbar I/s He (9MR)

<1x10® mbar I/s He (PIEE)

Cv=0.06 (Cv=0.1 AJ3%)

Cv=0.06 HSEHDE 20 psig HSENEF0.2 psig;
Cv=0.1 #SEHETHE20 psig HSESEF0.4 psig
£9 0.5kg (BURTIERELIEDN)

VIGOUR #&El

HSEH psig (bar)

HEES psig (bar)

:ﬁE

JILER

35(24)
30(2.0)
25(1.7)
20(1.3)
15 (1.0)
10 (0.6)
5(0.3)
0

35(24)
30(2.0)
25(1.7)
20(1.3)
15 (1.0)
10 (0.6)

5(0.3)

0
0

HSED
M 100psig [6.8bar]

W 30psig [2.0bar]

0

2 4

6 8 10

il (slpm &5)

HSESD
M 75psig [5.1bar]
M 45psig [3.1bar]

30psig [2.0bar]

—_
—~

10 20

30 40 50 60

70 80

i (slpm &5)



Single Stage Pressure Regulator / B4R\ iFERS
VSR-50UC %51

1iTas#
*
*
« « « +
 En
T B/HSRIEE
FV4: 1/4" VFS 124y TW4: 1/4" |BEHEE
MV4: 1/4" VFS 8857 P: FEAEE (1/4" VFSEEN)
* BT, BEERT.
[ [ |
| ?%Fﬁ?\itﬁi%‘}% |
VSR -50UC SLV-10-7-3P-1-2-3-R5-HF-VS-P
MR J TZHEE
SLV: 316L Zixiaks A4k P: VS001A
SHP: 316L A{AFOEE * FEBSR.
Hastelloy® C22 {&#F BHAFAT
*FrEIEIEBRIIR A A4 R9/9 Hastelloy® C276, op: 27, | Hﬂ&iﬁlﬁj
3P: 34, ZH: PCTFE
. ®
HEES VS: Vespel
10: 150 psig - HSED \
V0.7: Vac to 10 psig * ——— CQvikIn
V2: Vac to 30 psig Z=H: Cv=0.06
V4: Vac to 60 psig HF: Cv=0.1
V7: Vac to 100 psig
0.7: to 10 psig *
2: to 30 psig L KEYSEE
4: to 60 psig -~ .
. f ZSH: 10 pin. Ra
7: to 100 psig R7: 7 pin. Ra
* VIR BRI, R5: 5 pin. Ra
REENRERAE.
| PRl
VSR - 50UCSLV -10-7-3P-FV4 -P -FV4
I
l-E-E

VIGOUR #&El



BRI RESS / Single Stage Pressure Regulator
VSR-100UB 7%l

| P
- BEAES

« FRESEEE 10pin. Ra (25uin. Ra Ai%k)

« ARSI

o {EFFIERREE ASTM A479 / A484 / A276 TR
- JiE: 30slpm (FRA), 120slpm (HFEIR)

« ENEEIEHE

« BEEEIEE

+ 100% S Sittiwte

I ~=&ERS (mm)

K 140

&=

I BASH

£ty
HEED:
HEES:
RKEEE
MR

BHE:
eI -
BR:

/SR

[EEimO
BEER:
Ly =R

mESH
LR :

BE:

e A

i)

O inch (mm)
FV4
iva 3.70 | (94.0)
TW4 2.96 (75.2)
FV6
Ve 470 |(119.4)
TW6 296 | (75.2)

RRCRE

Max. 3500 psig (250bar)

ac to 10/30/60/100/150 psig (0.7/2/4/7/10bar)
10uin. Ra (25uin. Ra AJi5)

FEITHSE

PCTFE (Vespel® TJi%)

Hastelloy® C276

1/4" 3/8" VFSEELEIREES

1/8" NPT (EifRZEERS, FEimOFRRIBEOER)

-40°F to +160°F (-40°C to +71°C)

<1x10° mbar I/s He (9}N3B)

<1x108 mbar I/s He (WEP)

Cv=0.09 (Cv=0.15 AJik)

Cv=0.09 #HSEHE FRE100 psig tHSESEF0.35 psig
Cv=0.15 HSEDE 100 psig HSEHEF0.5 psig
£9 1.35kg (BURTERESRIELT)

VIGOUR #&El

HEER psig (bar)

HSEA psig (bar)

HEEA psig (bar)

sﬁ =
I)ILE
HSED
B 3500psig(241bar) M 200psig(14bar)
100(6.9)
90(6.2) —
80(5.5) S
70(4.8) S— —
60(4.1) —
50(3.4) i\
40(2.8) =
30(2.1) —
20(1.4)
10(0.7) ; [~
0 0 100 200 300 400 500
Cv=0.09 it (slom &S)
HSED
B 100psig(6.9bar) 40psig(2.8bar)
™ 80psig(5.5bar) ™ 20psig(1.4bar)
50(3.5)
40(2.8)
30(2.1)
20(1.4)
10(0.7) —
. —
0 20 40 60 80
Cv=0.09 ifi& (slpm &5)
HSED
B 100psig(6.9bar) 40psig(2.8bar)
B 80psig(5.5bar) M 20psig(1.4bar)
60(4.1)
\
\
\
50(3.5)
40(2.8)
\
30(2.1) \
*—;\
20(1.4) ———
s B =
10(0.7)
—
0 0 20 40 60 80

Cv=0.15 ifit& (slpm &S)



Single Stage Pressure Regulator / BRER TRk ERS

VSR-100UB %7l

11154
2]
3]
[1]
[4]
B/ SiERE

FV4: 1/4" VFS poigsr
MV4: 1/4" VFS §MBLL
FV6: 3/8" VFS PIiBLY

* HEERinE, EEErE.

*

*

&
X

[4] -

MV6: 3/8" VFS JMELY

&
¥

«[1]

*EDER

TW6: 3/8" 124

IFV4: 1/4" BRI T RS EHFREO

TW4: 1/4" 1955%E

P: S (1/4" VFSEEO)
IP: [EJ5E (IFV4#EO)

1
VSR - 100UBPS -250-10-4P-1-2-3-4-R25-HF-VS-P
\ |
LRI TZH5E
TH: R LE ZSH: VS001B
P: EHRZSE * BHARFLL P: VSO01A
* EIREEEFAR: ®36mm 2P: 23 * FIEESEMR.
3P: 37l VR BRI T
4P: 4 3,
%154 - Z5[9: PCTFE
S: 316L &K L =% VS: Vespel®
SHP: 316L A{AFOmEE HSE -
Hastelloy® C22 {@tF V%? \\;ac EO 133 psig Cv IR
. " . R : Vac to 30 psig .
FrEEINERIER F R Hastelloy® C276 V4: Vac to 60 pSIg fﬁE: Cv=0.09
V7: Vac to 100 psig HF: Cv=0.15
s = | V10: Vac to 150 psig s
BRED 0.7: to 10 psig* REYGEE
20: 300 psig 2: to 30 psig . :
4 . ZH: 10 pin. Ra
250: 3500 psig 4: to 60 psig - .
7+ t0 100 psig R25: 25 pin. Ra
10: to 150 psig
* BWSESH V07§ "0.7" BY,
HSENDREER "20" .
— * BV R RE,
| EAp el {REBENRRROUE.
VSR - 100UBS - 250-10-4P-FV4-P-P-FV4
o]
1 -2-3- 4

VIGOUR #&El



B sVRERS / Single Stage Pressure Regulator
VSR-100UC &%l

P
. BEAES

o FRMEYEEE 10pin. Ra Average
(10pin. Ra Max / 7pin. Ra Max / 5pin. Ra Max \Ji5)

« ARSI

o [FRMRSS ASTM A479 / A484 / A276 #x
 fE: 30slpm (tRfE), 120slpm (HFEIR)

« ENEEHELE
« BEEEIEE

100% S SR

X 140

e

I SRS

ESit
HSEND:
HEES:
RENGEE:

TR

BK:

HRJEE :

A
B/HSER:
iRm0
BEER:
ittmER:

MESH:
LRI :

BE:

WO "
inch (mm)
FV4
. 4,

V4 3.70 | (94.0)
TW4 2.96 (75.2)
FV6

Ve 470 | (119.4)
TW6 2.96 (75.2)

BRTURE

Max. 3500 psig (250 bar)

ac to 10/30/60/100/150 psig (0.7/2/4/7/10 bar)
10pin. Ra Average

(10pin. Ra Max / 7pin. Ra Max / 5uin. Ra Max aJi%)

= VRRIAE2 34

PCTFE (Vespel® TJi)

Hastelloy® C276

1/4" 3/8" VFSEELEIREEE

1/8" NPT (iR, EEROANSIRSOER)
-40°F to +160°F (-40°C to +71°C)

<1x10° mbar I/s He (5N2h)

<1x10® mbar I/s He (R&B)

Cv=0.09 (Cv=0.15 HJi%)

Cv=0.09 HSEHE THE100 psig HSEHEF0.35 psig
Cv=0.15 HSEHETHE100 psig HSEHEFHO.5 psig

£ 1.35kg (BURTFERZEIER)

VIGOUR #&El

I REE

HSEA
B 3500psig(241bar) ™ 200psig(14bar)
100(6.9)
90(6.2) —
80(5.5) S —
T 70(4.8) —
S 5o E——
° : —
8 50(3.4) i\
@ 40(2.8) =
ﬂ__,g 30(2.1)
20(1.4) = T
10(0.7) = I
%% 100 200 300 400 500
Cv=0.09 7 (slpm &S)
HSEN
B 100psig(6.9bar) 40psig(2.8bar)
¥ 80psig(5.5bar) ™ 20psig(1.4bar)
50(3.5)
40(2.8)
®
< 302.1)
°
a
R 20(1.4)
[ix}
v
B 1007
. —
0 20 40 60 80
Cv=0.09 7 (slpm &5)
HSED
B 100psig(6.9bar) 40psig(2.8bar)
B 80psig(5.5bar) 20psig(1.4bar)
60(4.1)
\
\
\
50(3.5)
~ 40(2.8)
o
Q
o \
8 302.1)
B
t _
H 20(1.4)
e S —
10(0.7)
—_—
% 20 40 60 80

Cv=0.15 7 (slpm &%)



Single Stage Pressure Regulator / BRER TRk ERS

VSR-100UC 5%l

11154
Bt/ HSiERE

FV4: 1/4" VFS FIELX
MV4: 1/4" VFS §MBLL
FV6: 3/8" VFS PIIBLY

* HEEnE, 505,

MV6: 3/8" VFS 4

IFV4: 1/4" BRINIT BN EHFRED

*

*

&
X

[4] -

MR

TW4: 174" IR

|

?ﬁl]ﬁ?iﬁ“&?%

*EDER

TW6: 3/8" IBfsise
P: S (1/4" VFSEEO)
IP: FEA%R (IFV4AEO)

VSR - 100UCP SLV-250-10-4P-1-2-3-4-R5-HF-VS-P

\
REL
TH: [REBSEEREE
P: EifRZEE *
* EREEEFLER: ©36mm

ZJ

SLV: 316L ZRiaiE Ak

316L AN
SH: 316L RIS AR

Hastelloy® C22 pygBHaf4:

SHP: 316L ZRIAKE Ak
Hastelloy® C22 [@tF
316L M

H: Hastelloy® C22 A{AFERHEE

* FTBIEIERYER F#4/R1979 Hastelloy® C276

HSED

20: 300 psig
250: 3500 psig

2P:
3P:
4P:

V0.7

10

* BHSESRN V07" F1 "0.7" BT,

V2:
V4.
V7:
V10:
0.7:
2:
4:

7:

BHARFAL

2%
37
47

— HSEAS

: Vac to 10 psig*
Vac to 30 psig
Vac to 60 psig
Vac to 100 psig
Vac to 150 psig
to 10 psig*

to 30 psig

to 60 psig

to 100 psig

: to 150 psig

HSENREER "20"

BV AR SR,
NHEHRERGE.

IiTaE5)

VSR - 100UCSLYV -

250-10- 4P -FV4-P - P - FV4

I .

- B - 4

TZ58
P: VSO01A
" HRESANR,

R EEISEII
ZsH: PCTFE
VS: Vespel®

L Cvi&In

1. Cv=0.09
HF: Cv=0.15

REOEE
ZH: 10 yin. Ra

R7: 7 pin. Ra
R5: 5 pin. Ra

VIGOUR #&El



BRI RESS / Single Stage Pressure Regulator
VSR-1000UB %7l

| P

BT ERS
REGE
RBBASE

& 10uin. Ra (25uin. Ra AJi%)

{EFF RS ASTM A479 / A484 / A276 R
& 30slpm (KRf), 120slpm (HFEIR)

EHiztliEE
- )

100% S SttRE

500

I =RRJ (mm) MEE
HSED
B 3500psig(241bar) M 200psig(14bar)
100(6.9)
»54 90(6.2) —
80(5.5) —
M ‘\ ( ‘ H T 70(4.8) \\*
InE AN < s0a) -
Y, ﬁ wﬁ/ K 50(3.4) —
L i B w08 —
g T 3021
| 3 # 200 . T~
= I
‘ 10(0.7) —
prmpez; oh A ) 0 0 100 200 300 400
,\:\\/,i 370 | (040) Cv=0.09 #i& (slpm &)
TW4 2.96 (75.2)
;\\/,% 470 | (119.4) if"cb’fﬁ _
50(3.5)
40(2.8) -
% 30(2.1)
IReH j =
H 1007 -
ESich RRCRE —
WSES: Max. 3500 psig (250bar) o 20 20 60 80
HEES: ac to 10/30/60/100/150 psig (0.7/2/4/7/10bar) Cv=0.09 7if (slpm &)
RENEE 10pin. Ra (25uin. Ra BJi%k) y—
7f7_fﬁ B 100psig(6.9bar) 40psig(2.8bar)
N N st M 80psig(5.5bar) ¥ 20psig(1.4bar)
B HITEESE 60(4.) —
HRIEE - PCTFE (Vespel® AJ3%) T
&R Hastelloy® C276 2089
it/ 1/4" 3/8" VFSELSUREEE s
R E 1/8" NPT (EiRLERT, EHinOARIBRLOER) % — | —
REER: -40°F to +160°F (-40°C to +71°C) E‘ 202.1)
SRR <1x10° mbar I/s He (5}2B) = e
I - :: £ 20(1.4) B E—
<1x10¢ mbar I/s He (%) = N
RESH: Cv=0.09 (Cv=0.15 FJi%) 100 \\\
[ALE IV Cv=0.09 #HSEHE FHE100 psig HSES EFH0.35 psig = S —
Cv=0.15 #HSESHE 100 psig HSESLEF0.5 psig o, 2 © P -
58 £ 1.35kg (BURTFIZEEZTIEIR) Cv=0.15 7 (slom F=)

VIGOUR #&El



Single Stage Pressure Regulator / BRER TRk ERS
VSR-1000UB %71

| BRI S )
4
(3] [2]
Ly ¥
*ELE
« «

/e SERE

FV4: 1/4" VFS poigsr MV6: 3/8" VFS 4MBsy TW6: 3/8" IR

MV4: 1/4" VFS SMBLY IFV4: 1/4" BRI RIREDZFREO P: S (1/4" VFSiEO)
FV6: 3/8" VFS puigsy TW4: 1/4" 18 IP: EHFE (IFV4EN)

* HEERinE, EEErE.

| EOfsER |
1
VSR - 1000UBPS -250-10-4P-1-2-3-4-R25-HF-VS-P
\ |
LRSI TZH5E
TH: R LE ZSH: VS001B
P: ERZSE * BHARFLL P: VSO01A
* EIREEEFAR: ®37mm 2P: 23 * FIEESEMR.
3P: 37l L (EIEESEIR
4pP: 473,
MR -~ z=H: PCTFE
S: 316L &K L =% VS: Vespel®
SHP: 316L A{AFOmEE HSED -
Hastelloy® C22 {gtF V%;: \\;ac ’io ;g psig L CviETR
. " . R : Vacto si .
* PSRRI Hastelloy® C276 Var: Vac to 60 zsig ZSE: Cv=0.09
V7: Vac to 100 psig HF: Cv=0.15
s = | V10: Vac to 150 psig s
BRED 0.7: to 10 psig* L RENEE
20: 300 psig 2: to 30 psig . ;
. : : . Z=H: 10 pin. Ra
220 3500 psig 4: 10 60 psig R25: 25 piin. Ra
7: to 100 psig

10: to 150 psig

* HHSEAN V07" F1 0.7 BT,
HSEAREER "20" .

. * BV RS RUE,
I T4 REEHRT R,
VSR - 1000UBS - 250 - 10 - 4P - FV4 - P - P - FV4
] @

- B - 4

VIGOURIEE 1o



B sVRERS / Single Stage Pressure Regulator
VSR-1000UC 7l

| P
. PR

o FRMEYEEE 10pin. Ra Average
(10uin. Ra Max / 7pin. Ra Max / 5pin. Ra Max BJi5)

« ARSI

o (EFMERGES ASTM A479 / A484 / A276 R
« FiE: 30slpm (t7f), 120slpm (HFEDR)
o ENEFIREE

« BEEEIEE

+ 100% S Sittiwte

I ~=&R (mm)

I SRS

ESith
HSEN:
HEES:
REGEE:

TR

BK:

HRJE :

A
B/HSER:
iRm0
BEER:
HittmER

MESH:
LR :

BE:

(2]
<
3
B3
(o]
=
R A
IO
o = inch (mm)
FV4
wva 3.70 | (94.0)
3 W4 296 | (75.2)
FV6
W6 470 |(119.4)
TW6 296 | (75.2)
BRTURE

Max. 3500 psig (250 bar)

ac to 10/30/60/100/150 psig (0.7/2/4/7/10 bar)
10pin. Ra Average

(10pin. Ra Max / 7pin. Ra Max / 5uin. Ra Max aJi%)

VRN

PCTFE (Vespel® TJi)

Hastelloy® C276

1/4" 3/8" VFSEELEIREEE

1/8" NPT (iR, EEROANSIRSOER)
-40°F to +160°F (-40°C to +71°C)

<1x10° mbar I/s He (5N2h)

<1x10® mbar I/s He (R&B)

Cv=0.09 (Cv=0.15 HJi%)

Cv=0.09 HSEHE THE100 psig HSEHEF0.35 psig
Cv=0.15 HSEHETHE100 psig HSEHEFHO.5 psig

£ 1.35kg (BURTFERZEIER)

11 VIGOUR BEE

I REE

HSEN
B 3500psig(241bar) ™ 200psig(14bar)

100(6.9)
90(6.2) —
80(5.5) S —
T 70(4.8) —
S 5o E——
° : —
8 50(3.4) i\
@ 40(2.8) =
ﬂ__,g 30(2.1)
20(1.4) = T
10(0.7) — —~
%% 100 200 300 400 500
Cv=0.09 7 (slpm &S)
HSEN
B 100psig(6.9bar) 40psig(2.8bar)
¥ 80psig(5.5bar) ™ 20psig(1.4bar)
50(3.5)
40(2.8)
®
< 3020
° B
a
R 20(1.4)
[ix}
v
B 1007
. —
0 20 40 60 80
Cv=0.09 7 (slpm &5)
HSED
B 100psig(6.9bar) 40psig(2.8bar)
B 80psig(5.5bar) 20psig(1.4bar)
60(4.1)
\
\
\
50(3.5)
~ 40(28)
o
Q
o T
8 302.1)
B
t _
#H 20(1.4)
s B —
10(0.7)
—_—
% 20 40 60 80

Cv=0.15 72 (slpm &%)



Single Stage Pressure Regulator / BRER TRk ERS
VSR-1000UC 5!

1TS54
Bl [2]
X ¥
-
« «
B/ HSERE
FV4: 1/4" VFS pRiBey FV8: 1/2" VFS paigey TW6: 3/8" JSiises
MV4: 1/4" VFS SMBLL MV8: 1/2" VFS JMZLY TWS: 1/2" 12 e
FV6: 3/8" VFS PHRLY IFV4: 1/4" BAINTPRSENFEED P: A% (1/4" VFS#EO)
MV6: 3/8" VFS HMELL TW4: 1/4" \25EE IP: EAIER (IFV4EEO)
* HeiEing, EE0ETHE.
| 1 \
| EOopssEx |
RN
VSR - 1000UCP SLV-250-10-4P-1-2-3-4-R5-HF-VS-P
| |
TEHB TZ2/58
TH: JRAXETE P: VSO01A
P: HER%H * BHAFLAL * FHEESANR.
* ERELEFZE: ®37mm
ZPZ 2 _7rL VE Ry ﬁ
3P: 37, @@&D\
L%f54 4P: 43, fﬁ\% T/CTFE|®
SLV: 316L TRIEKE Af _ - vespe
316L FRFFRIENE — WSED \
SH: 316L Rk A4k V0.7: Vac to 10 psig* Cv i&In
Hastelczx(@rCZZ AERR I V2: Vac to 30 psig ZSE: Cv=0.09
SHP: 316L ZiRIAk: AR V4: Vac to 60 psig HF: Cv=0.15
Hastelloy® C22 [&JtF V7: Vac to 100 psig
316L B V10: Vac to 150 psig .
H: Hastelloy® C22 AAFIPIERHIM 0.7: to 10 psig* L RENEE
* RIS Hastelloy® C276 2: to 30 psig ZSE: 10 pin. Ra
é': i) ?gOpSIg_ R7: 7 pin. Ra
. . to psig . ;
HSEN 10: to 150 psig RS: 5 pin. Ra
20: 300 psig * MHISERY V07" F 107" B,
250: 3500 psig HSENREER 207 .
* VAT RENE S RE,
REEHRERRAE,
01T
2
VSR - 1000UCSLV -250-10-4P-FV4-P-P-FV4
I .
1 -2-3- 4

VIGOURIEE 12



B sVRERS / Single Stage Pressure Regulator
VSR-210UB &%l

| P

o BRHERS

o KREYEGEE 10pin. Ra (25uin. Ra Bi%)

o ERTCILH

. FEEERGES ASTM A479 / A484 / A276 ffe
FIRMEIR TR

o ENEFIEE

o TREREIEN

o BRRHES—AIRT

 100%&SittiwaEn

I ~=&ER< (mm) e
25 HEED
m 80psig (5.5 bar)
m 60psig(4.1bar) *1/2" VFS &k
50(3.5)
@% _ 40(2.8) —
S 3 —
o] 2 a0l
B W |8 A I N
e Vi S50 T 640 g 209 —
MV4 50.8| 4.00 |(101.6) H
TW4 346 | (87.9) 10(0.7) -
;Ylee 522 |(132.6)
e e 0 200 400 600 800
FVv8
635| 5.22 | (132.6)
‘hr/lv\v/g 4.34 | (110.2) & (slom &%)
HSEHD
H 145psig (10 bar) *1/2" VFS i&E
90(6.2)
NP 80(5.5)
I Tﬁﬁ%ﬁﬁ 70(4.8) —— —
§ 604 —
ESid BPRURE = 503.4) —
S . a —
HSES: Max. 3000 psig (200 bar) g e T— \
HSES: Vac to 30/60/100/150/250 psig (2/4/7/10/17 bar) g ooy \
KEDGEE:  10uin. Ra (25uin. Ra TJi%) B e SR
R 10(0.7)
B FEITES30 0 200 400 600 800 1000 1200 1400 1600 1800 2000
HEIEE : PCTFE (Vespel® TJi) FC (530 T (slpm H5)
R Hastelloy® C276
B/MSIER:  1/47 3/8" 1/2" VFSESLapiRisEe D
L] si .3 bar) sig (6.9 bar) ® sig (3.4 bar,
HEEE O : 1/8" NPT (F) (AiRZEER, EEROFRIRSUER) 120(8.3) 150psig (10.3 bar) ¥ 100psig (6.9 bar) ¥ 50psig (3.4 bar)
ERRE: -40°F to +160°F (-40°C to +71°C) £ 1006.9) e R
HitmER <1x10°° mbar I/s He (4MZB) o 8055 —— i R
<1x108 mbar I/s He (R&Zh) E 60(4.1) -
RESH: Cv=0.65 (Cv="1.18Ji5) g vy ———
. R . . 20(1.4 L
MESR:  HSENSTRI00 psig HSEAEF3.5 psig Cv=0.65, o —
SIESETE100 psig HEES_EFH4.2 psig (HF / FC 3EIR) 0 100 200 300 400 500 600 700 800 900 1000
=8 %4 2.0kg (HM&?&}%:E&IH) HF (%£I0) 78 (slpm &5)

3 VIGOUR EE



Single Stage Pressure Regulator / BRER TRk ERS
VSR-210UB 5

| PAYaES 5
E) [2]
X ¥
*EHE
- «
/S
FV4: 1/4" VFS PHREL MV8: 1/2" VFS JMELL TW4: 1/4" 195585E
MV4: 1/4" VFS JMRLy FV12: 3/4" VFS PQIREY TW6: 3/8" I2fEiEE
FV6: 3/8" VFS PIIREL MV12: 3/4" VFS SMRLL TWS8: 1/2" I2#5EE
MV6: 3/8" VFS HMELL TW12: 3/4" J2isizE P: ES3% (1/4" VFSEO)
FV8: 1/2" VFS AR IFV4: 1/4" BRI PIRSEHZREO IP: EAI5R (IFV4EEO)
* EEERE, BERERT.
| 1 1 ]
[ EOREERE |
N
VSR - 210UBPS - 117 -V4-4P-1-2-3-4-R25-HF-FC-VS -P
TEH J TZH5E
TH: AR Z[: VS001B
P: HEiR&EE* AT P: VSOO1A
* EREETLE: ®37mm * EEES IR,
2P: 2%, - N
M 3P: 3%, 3255530
- 4P 49 =[: PCTFE
S: 316L &K VS: Vespel®
SHP: 316L 24 L HEEH
Hastelloy® C22 {&#F ) IR
* FEREAIE ML Hastelloy® C276 V2: Vac to 30 psig R
V4: Vac to 60 psig FC: BRA=(4es
. V7: Vac to 100 psig * FC ¥6IR: SAMESIES 300 psig
HSED — V10: Vac to 150 psig * FCBEIR: /it 1/2"
i 2: to 30 psig * HWSEDAREGER: V2/V4/2/4
20: 300 psig 4 10 60 psi
117: 1700 psig (k) 2. t° ] 0095'9 L CvER
200: 3000 psig* - to 1 7% psig
X 10: to 150 psig Z=[: Cv=0.65
HEFEDARAER: V2/V4/2/4 P17: })ﬁiﬁ}fjj to 250 pSig* HE: Cv=1.1
* HOAESTRIE 250 psig,
MUCESEE 800 psig (5 bar) . XHETEEE
* VTR AT RE, . .
. R S e ZH: 10 pin. Ra
I T4 IR RRR . R25: 25 pin. Ra

VSR - 210UBS - 117 - V4 - 2P - MV4 - MV4

VIGOURIEE 1«



B sVRERS / Single Stage Pressure Regulator
VSR-210UC &%l

| P

o BRRRESS
o FRMEYEGEE 10pin. Ra Average
(10pin. Ra Max / 7pin. Ra Max / 5pin. Ra Max AJi5)
- REBTCIEHA
{ERMRRFTS ASTM A479 / A484 / A276 trifE
- RREE
- ENEHIRETE
. BEEEIEE
« REES—AHigit
+ 100%E SRt

| =1
I ~=RR~ (mm) I REE
254 HESFES
m 80psig (5.5 bar)
m 60psig(4.1bar) *1/2" VFS &g
50(3.5)
*ﬂé% . 40(2.8) —
S 3 —
ig 2 302.1)
Ty e A — R T
g FVa 3.72 (;4.0; mlﬂ’ 2011.4)
MV4 50.8| 4.00 |(101.6) H
TW4 3.46 | (87.9) 10(0.7) —
;X/Ge 5.22 | (132.6)
s o e ) 200 400 600 800
Fv8
635| 522 | (132.6) -
m 4.34 | (110.2) il (slpm F5)
En -
M 145psig (10 bar) *1/2" VFS 1
I Tﬁ*éﬁ‘é& 90(6.2) P
80(5.5)
it B RE ) 70(4.8) — —
HSES: Max. 3000 psig (200 bar) g Bz‘;"”
2 50(3.4
HEES: Vac to 30/60/100/150/250 psig (2/4/7/10/17 bar) é‘ 40; 8; T
KEDGEE:  10uin. Ra Average Uﬁ’ s001) ™ \
(10pin. Ra Max / 7pin. Ra Max / 5pin. Ra Max aJi%) oy T \
R 10(0.7)
Eg: i¥mi]-m@§§i 0 200 400 600 800 1000 1200 1400 1600 1800 2000
HRIRE : PCTFE (Vespel® AT i) FC (3610 o8 (slpm &)
R Hastelloy® C276
B/HSEE:  1/4" 3/8" 1/2" 3/4" VFSEELaiSisEe D
~ . " SN s N u Si .3 bar) sig (6.9 bar) ®50psig (3.4 bar)
[PES N 1/8" NPT(F) (ERZERT, IR RIEIER) vo0e e (e T1%0psio 69ban Eshelo G4ban
EREE: -40°F to +160°F (-40°C to +71°C) £ 1006.9) e R
iR <1x10 mbar I/s He (9M2R) o 069 —— N
<1x10°8 mbar I/s He (9Eh) g 60(4.1)
RESH: Cv=0.65 (Cv=1.1Ti%) L ey ]
20(1.4 —
AL FERORT Cv=0.65 HSENEFII00 psig HEES_EFH3.5 psig; o pa——
HF%&T S EDE FRE100 psig HSEA EFH.2 psig (FCETI) 0 100 200 300 400 500 600 700 800 900 1000
N . Ny IR FiE (slm &S
HE: #9 2.0kg (BURTFIERERILETR) HE GE) 7 (slpm 5

15 VIGOUR BEE



Single Stage Pressure Regulator / BRER TRk ERS

VSR-210UC %%l

11154
o B/HSEER

FV4: 1/4" VFS patgs
MV4: 1/4" VFS Mgt
FV6: 3/8" VFS paigLx
MV6: 3/8" VFS 4MEsr
FV8: 1/2" VFS puiBLY

* HUIEERE, EEREHE.

[2] « < [1]
E) H)
X ¥

[4] - < [1]

MV8: 1/2" VFS JMZEL
FV12: 3/4" VFS RIREL
MV12: 3/4" VFS SMZ&L
TW12: 3/4" |2fehE

IFV4: 1/4" BRINTPIRSUEAFRED

[ [ [ |
| %D%ﬁﬁﬁ |

*
A

< [1]

*EDER

TW4: 1/4" |8isises

TW6: 3/8" jgissises

TWS: 1/2" |8z
P: A% (1/4" VFS#EN)
IP: 1 (IFV4EEO)

VSR - 210UCP SLV- 117 -V4 -4P-1-2-3-4-R5-HF-FC-VS-P

TERI
H: REPSRRE
P: Mt

* EREEFAZ: d37mm

(%)

SLV: 316L ZRIEsHIE 24K
316L AN
SH: 316L ZRIEIE A4k
Hastelloy® C22 pyERtaf4:
SHP: 316L RISk Ak
Hastelloy® C22 (@
316L BEKE
* ISR R ARISA Hastelloy® C276

HSES
20: 300 psig
117: 1700 psig (t7)
200: 3000 psig*
* WSEAARAIER: V2/V4/2/4

I iTaE)

BHAFLZ

2P: 27,
3P: 37,
4P: 47,

- HEES

V2: Vac to 30 psig
V4: Vac to 60 psig
V7: Vac to 100 psig
V10: Vac to 150 psig
2: to 30 psig
4: to 60 psig
7: to 100 psig
10: to 150 psig
P17: FRZEA to 250 psig*
* HOFEAFR 250 psig,
MO ESHTE 800 psig (55 bar) .
* VISR AT E,
REENRERAE.

VSR - 210UCSLYV - 117 - V4 - 2P - MV4 - FV4

| |

1 - 2

TZH5e

P: VSO01A

* FEESIR.

ISR

Z=H: PCTFE
VS: Vespel®

il

FC: RRzsHEE

* FCIEI: S&AHESES 300 psig
* FCIEIL: /SR 1/2"

* HWSFEAFAER: V2/V4/2/4

Cv 3%&In

ZH: Cv=0.65
HF: Cv=1.1

REDCEE

Z=H: 10 pin. Ra
R7: 7 pin. Ra Max
R5: 5 pin. Ra Max

VIGOURIEE 1o



BRI RESS / Single Stage Pressure Regulator

VSR-410UB &%l

| Pt

. PRIURIERS

o XEDGEE 10pin. Ra (25uin. Ra BJi%k)

. IEBTCIER

. [FFHERFS ASTM A479 / A484 / A276 tRrE
o HSEHIEFRA3000 psig

.« EhEEREE

. BRI

« BREE—ART

o TAEAEBIONE

« 100%E SR

I ~=&RY (mm)

z
o
WL B inch (mm)
FV4 3.70 | (94.0)
=Ts MV4 50.8 | 4.00 [ (101.6)
S TW4 3.46 | (87.9)
;\\//66 5.22 | (132.6)
TW6 4.00 | (101.6)
AFA\\//Z 635 522 |(132.6)
TWS 4.34 | (110.2)
I sASH
ESich BARSRE
HSES: Max. 3000 psig (200bar)
HEFEN: Vac to 30/60/100/150 psig (2/4/7/10bar)
REYGEE: 10uin. Ra (25pin. Ra BJi%)
)5
BHAK: TS
FRREE - PCTFE (Vespel® &J35E)
Rk Hastelloy® C276
B/ HSER: 1/4" 3/8" 1/2" VFSIELeiRizEE
= 1/8" NPT (F) (EHRZLERT, EimORNRIRE0ER:)
ERRE: -40°F to +160°F (-40°C to +71°C)
LIPS <1x10° mbar I/s He (4}ZR)
<1x108 mbar I/s He (ER)
WESH: Cv=0.45
LR : HSESIETRE00 psig HSESILEFH.6 psig
BE: £9 2.1kg (BURTFEREEIEIR)

17 VIGOUR BEE

I REE

HSED
W60 psig (4.1 bar) M 80 psig (5.5 bar)
50(3.5) —]
\
40(2.8) —
5 —
Q
o> 30(2.1)
‘& T
E‘ \\
H  20(1.4)
I
H
10(0.7)
0 40 80 120 160 200
& (slpm &%)
HSEN
M 200 psig (14 bar) 600 psig (41 bar) ¥ 2000 psig (138 bar)
90(6.2)
80(5.5, = —
70E4 8; \iii\
T 604.1) —
g ———
2 50(3.4) — —
Q
R 402.8) N
2] —r |
T 300.1)
20(1.4)
10(0.7)
0 100 200 300 400 500 600 700 800
TR (slpm &%)
HSED
M0 psig (0 bar)
0
\\\\\
23(0.2) I
B
> 604) I
E 9(0.6; \\\\
M  -900.6)
I ~—
E:| 1 ]
-12(0.8) —
-14.5(1)
0 1 2 3 4 5 6 7 8 9 10

R (slpm &5%)
* NSRS, EEFERMATOC, 1 atmiORFIRE,



Single Stage Pressure Regulator / BRER TRk ERS

VSR-410UB %I
| BRI S )
4
3]
X ¥

— WHREE

FV4: 1/4" VFS poigLy FV8: 1/2" VFS puiB4 TW6: 3/8" IEisss

MV4: 1/4" VES 4MBLL MV8: 1/2" VFS 4MELY TW8: 1/2" I9fzises

FV6: 3/8" VFS PJIREX IFV4: 1/4" BRINT RIRSUEDZFRREO P: EHFE (1/4" VFSEEO)

MV6: 3/8" VFS JMEL TW4: 1/4" 1S IP: EAEFE (IFV4AEO)

* HUEEnE, EEEETE.

[ [ [ |
| ?\%Di‘%ﬁ‘&%‘: |
VSR - 410UBPS - 160 - V4 - 4P -1-2-3-4-R25- VS - P

| -
= EI'":EZJ%t;(E')'m B
TH: RARRTE = e ==
P EiRE BHAFLZ P: VS001A
* EIRZEEE: ©40mm 2P: 27, * ISR
3P: 37,
4P: 43, L RIEEIEIR
B z=H: PCTFE
S: 316LA - HSED VS: Vespel®
Haster||0y® Cc22 HE_W:F VC2: -12.5~30 pSIg*
* AT IRERRIBE A IS Hastelloy® C276 V2: Vac to 30 psig N
V4: Vac to 60 psig REHVOEE
S V7: Vac to 100 psig ZSH: 10 pin. Ra
HSED - V10: Vac to 150 psig R25: 25 pin. Ra
20: 300 psig 2: to 30 psig
160: 2300 psig (t7f) 4: to 60 psig
200: 3000 psig* 7: to 100 psig
* HESFERAIFE: V2 / V4 / 2/ 4 10: to 150 psig
* VCAETUHSESERA300 psig
* BRVC2Oh, HVIETUIREET RE,
REENRBRAE,
| PPl

VSR - 410UBS - 160 - V4 - 2P - MV4 - MV4

VIGOURIEE 1



B sVRERS / Single Stage Pressure Regulator
VSR-410UC &%l

| P
. BEAES

o FRMEYEEE 10pin. Ra Average

(10uin. Ra Max / 7pin.
- BRI

Ra Max / 5uin. Ra Max AJi%)

o {FRMERFGE ASTM A479 / A484 / A276 TR

« HSJESIHRA3000psig

« ENEENEE

. TR

« BREE—HRT
« SUEVEERAIE

+ 100%R Sttt

I ~=RR~ (mm)

I BARSE

£ 51l
HSES:
HSES:
FEICEE:

MR

B

HRIE :

A

B/ HSER:
fEEimO
ERRE:
R

MESH:
RN -

=28

woEE |8 ——1

inch (mm)
FV4 3.70 | (94.0)
MV4 50.8 | 4.00 | (101.6)
TW4 3.46 | (87.9)
FV6
G 522 | (132.6)
TW6 4.00 | (101.6)
FVv8
e 635 522 |(132.6)
TWS 4.34 | (110.2)

BARRE

Max. 3000 psig (200bar)

Vac to 30/30/60/100/150 psig (2/4/7/10bar)
10pin. Ra Average

(10uin. Ra Max / 7pin. Ra Max / 5pin. Ra Max aJi5)

FEIITIESE

PCTFE (Vespel® TJi%)

Hastelloy® C276

1/4" 3/8" 1/2" 3/4" VFSEELaiiRisiEes
1/8" NPT (F) (EtRZERT, EERinOANRIBRE0ER)
-40°F to +160°F (-40°C to +71°C)

<1x10° mbar I/s He (§N5B)

<1x10® mbar I/s He (RER)

Cv=0.45

HSEHE 100 psig HSES_EFH.6 psig
£9 2.1kg (BURFZEREEIZEIN)

v VIGOUR GEE

HEER psig (bar)

HEEH psig (bar)

HSES psig (bar)

Ao agi —1
mEE
HSEN
W60 psig (4.1 bar) M 80 psig (5.5 bar)
50(3.5) —
40(2.8) I
\
30(2.1)
T
\
20(1.4) e~
10(0.7)
0 40 80 120 160 200
E slpm &5)
HSED
M 200 psig (14 bar) M 600 psig (41 bar) ¥ 2000 psig (138 bar)
90(6.2)
80(5.5) —
70(4.8) o
60(4.1) =
—
50(3.4) H— —
40(2.8) N
1
30(2.1) ~
20(1.4)
10(0.7)
0 100 200 300 400 500 600 700 800
R (slpm &5)
HSEN
M0 psig (0 bar)
-3(0.2) I B
6(0.4) S
-9(0.6)
N |
-12(0.8) ———
-14.5(1)
0 1 2 3 4 5 6 7 8 9 10

& (slpm &5
* N2SIRTERS, FEERFEHTOC, 1 atmiARRE.



Single Stage Pressure Regulator / BRER TRk ERS

VSR-410UC %%l

TS

*

4
[2] - <+ [1] [3] < <+ [1]

) [2]
X ¥

[4] - < [1]

— H/HSER

FV4: 1/4" VFS PIIgLY
MV4: 1/4" VFS JMRLY
FV6: 3/8" VFS PIIRLL
MV6: 3/8" VFS JMRLY

FV8: 1/2" VFS PB4

MV8: 1/2" VFS 4MELY

IFV4: 1/4" BRI REEESUEHZRED
TW4: 1/4" 124

* HEEginE, EEEErE.

| [ [ |

*EDER

TW6: 3/8" IEisss

TW8: 1/2" ISisss
P: EHFE (1/4" VFSEEO)
IP: EAEFE (IFV4AEO)

TZH5E
P: VS001A
" SRS,

R R I

Z=H: PCTFE
VS: Vespel®

T REEEE

Z=*H: 10 pin. Ra Max
R7: 7 pin. Ra Max
R5: 5 pin. Ra Max

[ BORREE
1
VSR - 410UCP SLV-160-V4-4P-1-2-3-4-R5-VS-P
REIT
TH: KRS .
P: EHRZSE BHAFLL
* ERZEFZ: ©40mm 2P: 23,
3P: 37,
& 4P: 47,
SLV: 316L ZRIBHE A4k =
Hastelloy® C22 (& — HSED
316L M VC2: -12.5~30 psig*
SH: 316L IRIAKR 2K V2: Vac to 30 psig
Hastelloy® C22 BRI V4: Vac to 60 psig
* FrEIEIERIE R MRS Hastelloy® C276 V7: Vac to 100 psig
V10: Vac to 150 psig
HSED _ 2: to 28 psig
. . 4: to 60 psig
123: gggopSIg — 7: to 100 psig
: psig () 10 to 150 psi
200: 3000 psig* o psig
- EFEREIR V2 VA /2 4 * VCIETUHSESIERA300 psig
*BRVC2N, BVIETUSARIE T RE,
REENRERAE.

| pAYaES]

VSR - 410UCSLV - 160 - V4 - 2P - MV4 - FV4

| |
3 - 2

VIGOURIEE 2



B sVRERS / Single Stage Pressure Regulator
VSR-510UB %%l

| Pt

o BRSURERS

o REYGEE 10pin. Ra (25uin. Ra aiE)

o OB/, WRETRTE)RE

o [FAMEGTE ASTM A479 / A484 / A276
o fRE: 30 slpm (¥rfE), 120 slpm (HF%EIR)

o ENEFIREE

o TREREIEND

ERES—ARigit

100%& Sittiwtan

=z B
=5~ (mm) TR E
@54 SN
H F 22.2 W 2000-3000psig[138-207bar] 500psig[34bar]
\‘\‘ ‘ y ‘\"\ W 1000psig[69bar] I 200psig[14bar]
NN 100 (6.8)
v V] “ 90 (6.2) —
‘ 2 o5 -/ 80 (5.5) — —_—
= N = —
! 3 S 70(4.8)
‘ i s 60 (4.1) —— [T
E— N A g ) — T~
e e T B % (3.4)
FV4 370 | (040) g [ I

FV6

470 | (119.4) 20 (1.3)

®50.8 MV6

40 2.7)
%@ B Mv4 : : ———
L ke W4 296 | (75.2) 30 (2.0) S =

A TW6 29 | (75:2) 10 (0.6) —
0 N~\
0 100 200 300 400
e slpm &5)
I BARSE

=it BT N
L#%'Ejj Max. 3500 psig M 100psig[6.9bar] 40psig[2.8bar]
tH%EjJ : 30/60/1 00/1 50 psig M 80psig[5.5bar] I 20psig[1.4bar]

50 (2.5)
EEYCEE: 10uin. Ra (25pin. Ra BJi%) —
M _ 400

8 e
B3k FITESE g a9 —
VIR : PCTFE (Vespel® aJi) 8 20w0 —
fER Hastelloy® C276 5, 05 T
B/ HSERE: 1/4" /3/8" VFSEkaiiRiskEe ~ T
; Ll " (b Ay 0
=m0 1/8" NPT (HtRZEEER, EHmONRIRSOER) 0 20 40 60 80
EFRRE: -40°F to +160°F (-40°C to +71°C) ik (slpm )
R <1x10° mbar I/s He
<1x10® mbar I/s He
RESH: Cv=0.09 (Cv=0.15 &%)
RS : Cv=0.09 HSEHE 100 psig HSEHEFH0.35 psig
Cv=0.15 HSENE 100 psig HSEHEF0.5 psig

B2E: £ 1.35kg (BURTERIEI)

2 VIGOUR BEEl



Single Stage Pressure Regulator / BRER TRk ERS
VSR-510UB 5

1752 2
*
2| 4 <+ |1 3| <« <+ |1
g 1 [ m
E)
X ¥

TW6: 3/8" |ISsse
P: [EAHZE (1/4" VFSEEO)
IP: FEAZF (IFV4AEO)

— B/HSIEER

FV4: 1/4" VFS POigLY
MV4: 1/4" VFS SMBLY
FV6: 3/8" VFS PIIELX

MV6: 3/8" VFS 4MEsy
IFV4: 1/4" BRI T PRIESEHZRED
TW4: 1/4" 12se

* HEERnE, EE94rH.

[ T 1

[
| ORISR |
RN
VSR - 510UBPS -250-10-4P-1-2-3-4-R25-HF-VS-P
REHN TEHE
ZSE: MRS N ZSE: VS001B
P EREE BRFLAZ P: VSOO1A
* EREEFZE: ©37mm 2P: 27, * FEES IR,
3P: 37, N
4p: 43, R EETZE TR
)5 o
S: 316L A ZS[: PCTFE
: = VS: Vespel®
SHP: 316L A/AFHEE HSES espe
Hastelloy® C22 {&#F V2: Vac to 30 psig Cv YT
H: Hastlloy & V4: Vac to 60 psig - ]“' =
“FEEIREMIE A B9 Hastelloy® C276 V7: Vac to 100 psig fel‘:‘l.. Cv=0.09
V10: Vac to 150 psig HF: Cv=0.15
HSEHD | 2: to 30 psig e
20: 300 psi 4: to 60 psig REVCEE
: psig 7: to 100 psig 251 10 pi
5 i : . : in. Ra
250 3500 psig 10: t0 150 psig R25: 25 pin. Ra
* EVHEIT RIS R,
REEHRERRE,
| BApaE]
VSR - 510UBS - 250 - 10 - 4P - FV4 - P - P - FV4
R : :
1 -2-3- 4

VIGOURIEE 2



B sVRERS / Single Stage Pressure Regulator
VSR-510UC &%l

| P

« BN RERR
« FREDGEE 10pin. Ra Average

(1

Opin. Ra Max / 7pin. Ra Max / 5uin. Ra Max AJi%)

PIEBARTRIN, RIIRTENE

{ERMRGE ASTM A479 / A484 / A276 trfE
TRE: 30 slpm (), 120 slpm (HFEIR)
EREHIREE

BB

PR ES—ARigIT

100%R=ttimta

I ~=&RY (mm)

B
/_'7 3 TW4 2.96

22.2

2-M5

Max. 149

(mm)

-
O a
inch
Fva 3.70

(94.0)

(75.2)

FV6
8 MV6

(119.4)

0
A TWe 2.96

(75.2)

I 5ARSE

23

ESich BAREORIE
HSES: Max. 3500 psig
HEEN: 30/60/100/150 psig
REEE: 10pin. Ra Average
)54 (10pin. Ra Max / 7uin. Ra Max / 5uin. Ra Max BJi%)
B ESANE
eI - PCTFE (Vespel® EJi)
Rk Hastelloy® C276
s/ S 14" ]3/8" VFSEsLapapses
[(FErmE 1/8" NPT (EtRZERT, FHinOANRIZE0ER:)
ERRE: -40°F to +160°F (-40°C to +71°C)
Ly =R <1x10*° mbar I/s He
<1x10® mbar I/s He
RESE: Cv=0.09 (Cv=0.15 AJ3k)
R - Cv=0.09 HSEHE 100 psig HSEHEF0.35 psig
Cv=0.15 HSENETE100 psig HSEHLEF0.5 psig
5= £9 1.35kg (BURFIEREELIEIN)

VIGOUR #&El

HSEA psig (bar)

HEEH psig (bar)

:z’:E

JILER

100 (6.8)
90 (6.2)
80 (5.5)
70 (4.8)
60 (4.1)
50 (3.4)
40 (2.7)
30 (2.0)
20 (1.3)
10 (0.6)

0

50 (2.5)
40 (2.0)
30 (L.5)
20 (1.0)
10 (0.5)

0

HSED
W 2000-3000psig[138-207bar]
W 1000psig[69bar]

500psig[34bar]
I 200psig[14bar]

\
\\§
%\\

_\\\

0 100 200 300 400
& (slpm &5)

HSED
M 100psig[6.9bar]
W 80psig[5.5bar]

\_\_
e

40psig[2.8bar]
[ 20psig[1.4bar]

—

—_

— —_—

0 20 40 60 80
T (slpm &5)



Single Stage Pressure Regulator / BRER TRk ERS

VSR-510UC %%l

T2
— /S

FV4: 1/4" VFS POigLY
MV4: 1/4" VFS SMBLY
FV6: 3/8" VFS PIIELX

* HEERineE, S04,

4_

&
X

TWa: 174" Rz

[ ] |

< [1]

=
¥

4_

MV6: 3/8" VFS §MBLY
IFV4: 1/4" BRI T RS EHFREO

*EDER

<« [1]

TW6: 3/8" |Ssse
P: [EHZE (1/4" VFSEEO)
IP: FEAZF (IFV4AEO)

w
| ?‘%DJ‘%EE“&?%‘

VSR - 510UCP SLV-250-10-4P-1-2-3-4-R5-HF-VS-P

REHR

TH: JREPELE
P: EiRZEE

* EIREEFRE: ©37mm

R

SLV: 316L ZRIEK Ak
SHP: 316L A{AFOnHE
Hastelloy® C22 [
H: Hastlloy Zs{k
*FTEIEIERIIE A #4RIY 79 Hastelloy® C276

HSES

20: 300 psig
250: 3500 psig

I iTaEs5)

VSR - 510UCSLYV - 250 -

1

BRFLL
2P: 2%,
3P: 34,
4P: 47|

- HSES
V2: Vac to 30 psig
V4: Vac to 60 psig
V7: Vac to 100 psig
: Vac to 150 psig
2: to 30 psig
4: to 60 psig
7: to 100 psig
10: to 150 psig

* VISR RNATIRE,
RHENRETRE.

10-4P -FV4 - P - P - FV4

|
-2-3- 4

TZH5e
P: VSOO1A
- BEBSIENE,

3255530
z=H: PCTFE
VS: Vespel®

Cv 15EIR

21 Cv=0.09
HF: Cv=0.15

REYCEE
ZSH: 10 pin. Ra Max

R7: 7 pin. Ra Max
R5: 5 pin. Ra Max

VIGOUR #&El

24



B sVRERS / Single Stage Pressure Regulator
VSR-610UB %71

| P
. B

+ REDVGEE 10uin. Ra (25pin. Ra AJik)

« ARSI

o {FRMERFTE ASTM A479 / A484 / A276 TR

o ENEEHESE
« BEEEIEE

+ 100% S Sittiwte

®KX 142

IHOZERE

inch (mm)

FV4
MV4
W4 3.46 | (87.9)

430 | (109.2)

I 5aARSE

ESiTH
HSESD:
HSEA:
RENEE:
MR

BHA:

e -

&R

B/ HSER:
=m0
ERRE:
R

MESH:
HERN -

=22

FV6
Ve 522 | (132.6)

TW6 4.00 | (101.6)
Fv8

. 132.6
Mv8 522 | (132.6)
Tws 4.00 | (101.6)

R RTE

Max. 3500 psig

10/30/60/100 psig

10pin. Ra (kfAE)  25uin. Ra (Bi%)

FEIITIESE

PCTFE (Vespel® TJi%)

Hastelloy® C276

1/4" 3/8" 1/2" VFSHEELapig e

1/8" NPT ((TEIRLZEEN L, WEHKOASIRSGEREN)
-40°F to +160°F (-40°C to +71°C)

<1x10 mbar I/s He (§MF)

<1x10® mbar I/s He (RER)

Cv=0.13

HEEHLE 100 psig HSEH_EFH0.25 psig
£3 1.54kg (BURTIERERIEIN)

s VIGOUR BEE

‘¢

=
mE

=

~

HSED
W 2000-3500psig[138-241bar]
M 1000psig[69bar]

500psig[34bar]
W 200psig[14bar]

100(6.9)
—— ]
90(6.2) I L
\ ~
80(5.5) \
~ 70(4.8) \
< — =
< 6o ~ —
E —
o 50E4) [ ———
K _\—
2 a0es ~ T
3 3001 [~ —
2001.4) I~ —
10(0.7) — R
o Q —
0 100 200 300 400 500 600
i (slpm &)
HEEN
W 100psig[6.9bar]
W 80psig[5.5bar]
60psig[4.1bar]
60(4.1)
e ~— N
4028
8 \\\
o
2 30(2.1) ~—
R —
H \
L 2004 —
\
Ss——u
10(0.7) —
—_
0
0 50 100 150
& (slpm &%)



Single Stage Pressure Regulator / B4R\ iFEERS
VSR-610UB %71

1722 2
*
El)
X ¥
) e

FV4: 1/4" VFS RHRLL FV8: 1/2" VFS PHRLY TW6: 3/8" |12#5Es
MV4: 1/4" VFS SMBLL MV8: 1/2" VFS SMBLL TWS8: 1/2" |BisEs
FV6: 3/8" VFS PIi8LY IFV4: 1/4" BRINT PIRSEDZERREO P: EHZFE (1/4" VFSiEQO)
MV6: 3/8" VFS SMBLL TW4: 1/4" 125EEE IP: EA3 (IFV4A$EO)

* HEiEEing, 55 %EE.

| [ [ ]

| EOfm=sEE |
R
VSR - 610UBPS -250-V2-4P-1-2-3-4-R25-VS-P
LRI J TZH5E
TH: RERERE BHAFLIL Z5[: VS001B
P: mEtREEE 2P: 27, P: VSO01A
* EREAEAZ: ©37mm 3p: 3%, * HEESINR.
4P: 43,
ME _ ——  HRIEEEIT
S: 316L — WSES SH: PCTFE
V1: Vac to 10 psig VS: Vespel
e V2: Vac to 30 psig
HSED V4: Vac to 60 psig EEEE
20: 300 psig V7: Vac to 100 psig e ———
250: 3500 psig 1: to 10 psig z=H: 10 pin. Ra
2: to 30 psig R25: 25 pin. Ra
4: to 60 psig
7: to 100 psig
* VISR RE,
REENRBRGAE,
0 iTaZE(5)
VSR - 610UBS - 250 - V4 - 2P - MV4 - FV4
1 -2

VIGOURIEE 2



B sVRERS / Single Stage Pressure Regulator

VSR-610UC &7l

| P

« BN RERS
« FREDEGEE 10pin. Ra Average

(10uin. Ra Max / 7pin. Ra Max / 5pin. Ra Max BJi5)

« ARSI

o {FRMERFTE ASTM A479 / A484 / A276 TR

o ENEEHESE

« BEEEIEE

+ 100% S Sittiwte

Bk 142

I BARSE

woEE
inch (mm)

FVa
iva 430 | (109.2)
TW4 3.46 (87.9)
FV6
e 522 |(132.6)
TW6 4.00 | (101.6)
Fv8

3 132.6,
MVS 522 | ( )
TW8 4.00 | (101.6)

ESich BARURE
HEES: Max. 3500 psig (250bar)
HEED: Vac to 10/30/60/100 psig (1/2/4/7bar)
EEICEE: 10pin.Ra Average
(10pin.Ra Max / 7uin.Ra Max / 5uin.Ra Max &Jj%)
)54
BHR: TS
[RIRE : PCTFE (Vespel® &Ji5)
&R Hastelloy® C276
B/ HSiER: 1/4" 3/8" 1/2" VFSELayIBEES
MmO : 1/8" NPT (EEMRZEEEI L, MEHORNSIRE0EZRN)
ERRE: -40°F to +160°F (-40°C to +71°C)
thRER <1x10° mbar I/s He (9MN5D)
<1x10¢ mbar I/s He (Eh)
MESH: Cv=0.13
RS : HWSEHLETE100 psig HSEHLEFH0.25 psig
g2 £9 1.54kg (BURTFERZEISEDN)

2z VIGOUR BEEl

=1
I REE
HSED

M 2000-3500psig[138-241bar]
M 1000psig[69bar]

500psig[34bar]
W 200psig[14bar]

100(6.9)
—— ]
90(6.2) L
\ ~
80(5.5) \
~ 70(4.8) \
© — =
< 6o ~ —
E —
a 50E4) [ ———
K \~
2 408 ~ T
3 3001 [~ —
2001.4) I~ —
10(0.7) — R
o Q —
0 100 200 300 400 500 600
i (slpm &)
HEEN
W 100psig[6.9bar]
W 80psig[5.5bar]
60psig[4.1bar]
60(4.1)
e — N
4028
8 \\\
2
2 30(2.1) ~—
R —
i —
L 2004 —
\
Ss——u
10(0.7) —
———
0
0 50 100 150
R (slpm &5)



Single Stage Pressure Regulator / BRER TRk ERS
VSR-610UC 5

1752 2
*
2]
B
ENr)
3] X ¥
e
FV4: 1/4" VFS RHRLL FV8: 1/2" VFS PHRLY TW6: 3/8" |12#5Es

MV4: 1/4" VFS JMEL MV8: 1/2" VFS 4MELY
FV6: 3/8" VFS puigsr IFV4: 1/4" BRI T PIESUEHZRED

TW8: 172" jRiziEE
P: A% (1/4" VFSEED)

MV6: 3/8" VFS HMELY

* HEERRE, ESI0EHE.

TW4: 1/4" |945iEE

IP: FEHZ (IFV4EEO)

VSR - 610UCP SLV -250-V4-4P-1-2-3-4-R5-VS-P

TR

A SRR
P: EfRZE

* EMRZEER T ®37mm

PR

SLV: 316L ZiXiAkE 2K
316L MEATFAEENE

SH: 316L ZXiakE AR
Hastelloy® C22 &Rt

*FTEIIEAYRE T/ Hastelloy® C276

HSES
20: 300 psig
250: 3500 psig

IiTaE5)

VSR - 610UCSLYV - 250 - V4 -

BRFLAL
2P:
3P:
4P:

2 1,
34
43

— WSES
V1:
V2:
V4:
V7:
1:
2:
4:
7:

Vac to 10 psig
Vac to 30 psig
Vac to 60 psig
Vac to 100 psig
to 10 psig

to 30 psig

to 60 psig

to 100 psig

* VISR RE,
REAENRETAE,

2P - MV4 - FV4

1 - 2

TZH5E
P: VS001A
" HIESENR.

R EEIZEI

z=H: PCTFE
VS: Vespel®

REDCEE

Z=H: 10 pin. Ra Max
R7: 7 pin. Ra Max
R5: 5 pin. Ra Max

VIGOURIEE 2



B sVRERS / Single Stage Pressure Regulator
VSR-710UB &5l

IR
SRS

+ REDGEE 10pin. Ra (25uin. Ra AJi%k)

BB/, DRETRSTEIRE

o {FRMERFTE ASTM A479 / A484 / A276 TR

I
- R

RS —AtiRit
100%&ESttimHEN

TRE: 30 slpm (FRfE), 120 slpm (ATiE)

1 ~=&RY (mm)

®54

Max. 197

o A
IR
= inch (mm)
FVv4
Vi 3.70 | (94.0)
FVe
i Ve 470 | (119.4)
P57

I 5aARSE

ESiTR
HSES:
HEEA:
FENEE:
)54

B

HRIE :

A

B/ HSER:
=R
ERRE:
R

mESH:
RSN -

=8

R ECRE

3500 psig (250bar)

Vac to 30/60/100 psig (2/4/7bar)
10uin. Ra (25uin. Ra AJi5)

FIITESE

PCTFE (Vespel® BJ3%)

Hastelloy® C276

1/4" 3/8" VFSEELERiREsEE

1/8" NPT (EEMRZEEEI L, WEROISEIEN
-40°F to +160°F (-40°C to +71°C)

<1x10° mbar I/s He (5N5B)

<1x10® mbar I/s He (F9ER)

Cv=0.05 (Cv=0.077]3%)

WSEHETHE100 psig HSEH_EFH0.05 psig
£ 2.5kg (BURTIZERZEIEIN)

2 VIGOUR EE

HSES psig (bar)

HSES psig (bar)

4¢

=
ﬁi

~

100 (6.8)
90 (6.2)
80 (5.5)
70 (4.8)
60 (4.1)
50 (3.4)
40 (2.7)
30 (2.0)
20 (1.3)
10 (0.6)

0

120 (8.2)
100 (6.8)
80 (5.5)
60 (4.1)
40 (2.7)
20 (1.3)
0

%]

HSEN

W 200psig[14bar]

| —

——
—
I
| —
\

0

HEEN

W 400psig[28bar]

50 100 150
& (slpm E5)

200

W 400psig[28bar] HFI%IR

0

100 200 300
& slpm &5)

400



Single Stage Pressure Regulator / B4R\ iFERS

VSR-710UB %%l

TS
4_ e
3] 2] . .
3] 2]
[4] [1] X ¥
4_ @
O/ HSEER

FV4: 1/4" VFS pai8sg
MV4: 1/4" VFS Mgt
FV6: 3/8" VFS pi8Ly

MV6: 3/8" VFS 4MEBLL
IFV4: 1/4" BRIl TRIBSUEHZFRZED
TW4: 174" |84sise

* HEERinE, BEaErs.

|

< [1]

<« [1]

*EDER

TW6: 3/8" |8isiEes
P: EHsE (1/4" VFSED)
IP: [EA% (IFVAEEZO)

I —
| EOfliEs

VSR - 710UBPS -250-7-4P-1-2-3-4-R25-VS-P

=95 Eo -
TH: AR
P: MEiRZEE BHAFLAZ
*Eﬂi?&%ﬁ? ®36mm ZP 2 }L
3P: 37,
W& 4 4P: 4 7,
S: 316L #&{k
SHP: 316L A4k L HEED
Hastelloy® C22 [@iFFOEELS V2: Vac to 30 psig
*FrESEIERIE MR Hastelloy® C276 V4: Vac to 60 psig
V7: Vac to 100 psig
HEED - | 2: to 30 psig
) 4: to 60 psig
250: 3500 psig 7: to 100 psig
* VIR RS @I,
REEARBREE.
| PApaES]

VSR - 710UBS -250-4-4P-FV4-P-P-FV4

|
1 -2-3- 4

TZH5E

Z[: VS001B
P: VSOOTA

" HRESANR,

—  [RESER

Z=H: PCTFE
VS: Vespel®

RECEE

ZH: 10 yin. Ra
R25: 25 pin. Ra

VIGOUR #&El

30



B sVRERS / Single Stage Pressure Regulator
VSR-710UC &%l

P

o WRURERS

« FREYEEE 10pin. Ra Average

(10pin. Ra Max / 7pin. Ra Max / 5pin. Ra Max BJi5)
PERARER)N, R IENE

o [FAMEGTE ASTM A479 / A484 / A276

TRE: 30 slpm (#xAE), 120 slpm (ATi%)

SIS

o R

RS —A=igit

100% &Sttt

I~mRT (mm) 1 REE
P54
D
W 200psig[14bar]
100 (6.8)
‘ 90 (6.2)
! 80(5.5) S
| : _ 708 S
e % 60 (4.1) L
7 50(34)
- u@ 40 (2.7) — |
WHEE T om) H 3020 —
r'\:n\\//i 3.70 | (94.0) 20(13) :
Fve 470 | (119.4) 10 (0.6) —
®‘57 MO 0 T~
0 50 100 150 200
8 i (slpm &%)
I RS
ST o D
AL WUERURIE 2062 B 400psig[28bar] M 400psig[28bar] HFEEI
HSED: 3500 psig (250bar) '
HSER: Vac to 30/60/100 psig (2/4/7bar) - 122 Ez:; —
RELEE: 10uin. Ra Average § o (4'1) — |
(10pin. Ra Max / 7pin. Ra Max / 5pin. Ra Max &%) 5 w0 @7) —
R £ Lou )
== I 20(13)
{Z’S: ig'émi]—m\’g%ﬁ 0 0 100 200 300 400
HERIRE - PCTFE (Vespel® &) A o 55
&R Hastelloy® C276
#H/HSER: 1/4" 3/8" VFSiELayetsises
iR : 1/8" NPT (EEMRZASEIN L, WEROIREIEN)
ERRE: -40°F to +160°F (-40°C to +71°C)
R <1x10° mbar I/s He
<1x10® mbar I/s He
RESH: Cv=0.05 (Cv=0.07m]3%)
RS - HSESEBTEE00 psig HSESEFH0.05 psig
HE: £ 2.5kg (BURTFIEREEIEDR)

3 VIGOUREE



Single Stage Pressure Regulator / B4R\ iFERS
VSR-710UC 5!

1722 2

4_4_

3] 2] . .
(3] [2]
[4] [1] LS ¥
E 4_4_ *EHE
T/ HRIEE

FV4: 1/4" VFS pai8sg
MV4: 1/4" VFS Mgt
FV6: 3/8" VFS pi8Ly

MV6: 3/8" VFS 4MEBLL
IFV4: 1/4" BRIl TRIBSUEHZFRZED
TW4: 174" |84sise

TW6: 3/8" (iiRE
P: EJIR (1/4" VFSEEM)
IP: [EA% (IFVAEEZO)

* HEERinE, BEaEr=s.

I ——
| EOm=liEE |

T
VSR - 710UCP SLV-250-7-4P-1-2-3-4-R5-VS-P
\
TEFI J TZ#H58
TH: JREP LR P:¥ I;/lsiogm,jo%
P: HEtRZ%E - . * HEEES AR,
* EREERT: ®36mm W}L{ﬁ )
2P: 27, VR REISE T
3P: 37l N
(%153 - 4P: 43, ﬁi/Esl \F/’CTFEI®
SLV: 316L ZiRiais A4k RVIESPE
SHP: 316L TRIAE ANk L =
Hastelloy® C22 {@HFFOMEE HSES EESCEE

*FrEIEIERAR A # B9  Hastelloy® C276

V2: Vac to 30 psig
V4: Vac to 60 psig
V7: Vac to 100 psig

ZH: 10 pin. Ra Max
R7: 7 pin. Ra Max

ﬁ%}ijj 2: to 30 ps|g R5: 5 pin. Ra Max
. 4: to 60 psig
250: 3500 psig 7: to 100 psig
* R VIETUARTETRE,
REENRETAE.

01T
[2]
VSR - 710UCSLV - 250 - 4 - 4P - FV4 - P - P - FV4

|
1 -2-3- 4

VIGOURIEE 32



B sVRERS / Single Stage Pressure Regulator
VSR-910UB %%l

| P

o BRTURERS

o RMEYEEE 15uin. Ra (10pin. Ra BJ3%)

. HERFHNRIT

o RA—AHIRITRSRSE M RRRITH

o [FRMRTS ASTM A479 / A484 / A276 tRifE
o EEREIEEH

+ 100%E Sttt

1 ~=&RY (mm)

T A
O inch (mm)
2 FV8
g Ve 6.22 | (158.0)
3 TWS 950 | (241.4)
FV12
V12 7.28 |(185.0)
TW12 9.50 | (241.4)
FV16
/ ‘\ . V16 7.84 | (199.2)
er5\< N T/ o TW16 950 | (241.4)
I 5ARSEL I'REE
S, EBRRIE -
PSS Max. 3000 psig (200bar) = tspssi1oean
[ | sig[6.9bar]
HSER: Vac to 30/60/100/150 psig (2/4/7/10bar) o6
%E%;%E: 15u|n Ra (1 Opin. Ra Eﬁﬁ) 80(5.5)
St —
)54 70(4.8) —— —
A SS 316L < o —
[RIRE : PCTFE (Vespel® aJiE) 2 5035)
&R Hastelloy® C276 E 40(2.8)
. : N & N
/S 1/2" 3/4" 1" VFSEELaiiRREe 5 woey ——T——
R mE 1/8" NPT (i) 20(1.4 1
EFRE: -40°F to +160°F (-40°C to +71°C) 1007)
iﬁiﬁ% <1X1 0-9 mbar I/S He (9|*§|3) 0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000
<1x10® mbar I/s He (RER) 58 o )
MESH: Cv=3.0 (1700/3000psig) / Cv=4.0 (800psig)
BE: 29 6.7kg (BURTFIZERZEIEIN)

3 VIGOUREE



Single Stage Pressure Regulator / BRER TRk ERS

VSR-910UB %%l

TS
[3]
— o/ EREE
FV8: 1/2" VFS P24 FV16: 1" VFS POIBLY
MV8: 1/2" VFS SME4r MV16: 1" VFS 4MB5z
FV12: 3/4" VFS paigsy MV4: 1/4" VFS GM2s
MV12: 3/4" VFS 4MgLy IFV4: 1/4" BRI0 T RIBSUEARZED
* HEeEEneE, EEEEE.

VSR - 910UBS -55-4-3P- 1 -

PR J

S: 316L

HSES
55: 800 psig (Cv=4.0)

*EDER

TW8: 1/2" I2iEE
TW12: 3/4" |8k
TW16: 1"/2issse
P: A% (1/4" VFSEO)
IP: [EH% (IFV4#EO)

|
FOR Uk

B

2P: 27
3P: 3%,

117: 1700 psig (Cv=3.0) — HSEH

200: 3000 psig* (Cv=3.0)
*(ERHSEND: V7/7

I iTaEs5)

V2:
V4:
V7:
V10:
2:
4.
7:
10:

Vac to 30 psig
Vac to 60 psig
Vac to 100 psig
Vac to 150 psig
to 30 psig

to 60 psig

to 100 psig

to 150 psig

* HVISIUARIATRAE,
REENRERAE.

VSR - 910UBS - 55 -10 - 2P - MV12 - FV12

1

2

|
2] - Bl - 1R - S - R

TZ/5E
Z5[: VS001B

P: VS001A
" HIESENS.

— HREEIZEIT

ZSH: PCTFE
VS: Vespel®

L RENEE
ZH: 15 pin. Ra Max
R10: 10 pin. Ra Max

VIGOURIEE 3+



B sVRERS / Single Stage Pressure Regulator

VSR-911UB &%l

| P

o BRTURERS

o RMEYEEE 15uin. Ra (10pin. Ra BJ3%)

. HERFHNRIT

o RA—AHIRITRSRSE M RRRITH

o [FRMRTS ASTM A479 / A484 / A276 tRifE
o LT

+ 100%E Sttt

I ~=ERY (mm)

237

i
i
;

146
L

2-M5 381 T

—f

76

A
IASH

etk BARURE

HEES: Max. 3000 psig (200bar)

HEES: Vac to 30/60/100/150 psig (2/4/7/10bar)

RENEE: 15uin. Ra (10pin. Ra &%)

MR

BK: SS 316L

[RIRE : PCTFE (Vespel® aJiE)

&R Hastelloy® C22

B/ SR 1/2" 3/4" 1" VFSEELsRiRsEe

WREE s : 1/8" NPT (a[iZk)

ERRE: -40°F to +160°F (-40°C to +71°C)

R <1x10° mbar I/s He (9M5R)

<1x108 mbar I/s He (F9ER)
TREH: Cv=3.0 (1700/3000psig) / Cv=4.0 (800psig)
BEE: £9 6.7kg (BURTFIERETNIED)

s VIGOUR BEE

HSES psig (bar)

TP A
U iEEE

R inch (mm)
FV8

MVE 6.22 |(158.0)
TW8 9.50 | (241.4)
FV12

MV12 7.28 |(185.0)
TW12 9.50 | (241.4)
FV16

MV16 7.84 |(199.2)
TW16 9.50 | (241.4)

1 REE
HSEHD
M 600psig [41.4bar]
300(20.69)
250(17.24)
200(13.79)
150(10.34)
100(6.9)
50(3.45)

0 200 400 600 800 1200 1400 1600 1800 2000

R (slpm nitrogen)



Single Stage Pressure Regulator / B4R\ iFERS
VSR-911UB %51

TS

)
*
* EhE
B/ HSER

FV8: 1/2" VFS PIIREL
MV8: 1/2" VFS JMREL
FV12: 3/4" VFS PR
MV12: 3/4" VFS JMZRLL

FV16: 1" VFS puigsr
MV16: 1" VFS JMEL
MV4: 1/4" VFS 4§25
IFV4: 1/4" BRI T RBSEARED

TW8: 1/2" |8isise
TW12: 3/4" jeisiees
TW16: 1")2fsEE
P: B (1/4" VFSEO)
IP: FEA% (IFVAEEO)
* HeiEEing, BEErE.

I I |
| ORGSR |

| |
VSR -911UBS -55-P21-3P-1 -2 - 3 -R10-VS-P
J T2/
PR BHRF Z[: VS001B
S: 316L op: 23l P: VSO001A
3P; 37, * FEESIIR.
R - ARSI
55: 800 psig (Cv=4.0) = ZSE: PCTFE
117: 1700 psig (Cv=3.0) tHSE VS: Vespel®
200: 3000 psig* (Cv=3.0) P21: Preset to 300 psig*
*REBHSES: V1/7 * 300psigth OEDFRRTES00psi N
B v REVEEE

IiTaE5)

VSR - 911UBS - 55 - P21 - 2P - MV12 - FV12

1

|

-2

Z8[: 15 pin. Ra Max
R10: 10 pin. Ra Max

VIGOURIEE 3



B sVRERS / Single Stage Pressure Regulator
VSR-920UB %%l

| P
. BEAES

o REFGEE10pin. Ra

I 5ARSE

37

MBS

{FERIM RS ASTM A479 / A484 / A276 trifE
FRERiX 2000 slpm

EHiEtliEE

- )

FieEHED, BiEEa
IR RS —Aztigit

100%&ESttimHEN

Max. 163

ESiTR
HSES:
HEEA:
FENEE:
)54

B

HRIE :

A

/S

im0
ERRE:
LV

mESH:
RSN -

=8

BARURE

Max. 300 psig (20bar)

Vac to 30/60/100/150 psig (2/4/7/10bar)
10pin. Ra

316L

PFA (Vespel® aJisk)

Hastelloy® C276

3/4" 1" VFSHEELapREeE

1/8" NPT (&)

-40°F to +160°F (-40°C to +71°C)
<1x10° mbar I/s He (5N5B)
<1x10® mbar I/s He (F9ER)
Cv=1.6

WSENETHE100psig HEEH EFH7psig
£ 2.7kg (BURTFZERZEIEIN)

VIGOUR #&El

HSER psig (bar)

=
mE

1

1.

120(8.3)
100(6.9)
80(5.5)
60(4.1)
40(2.8)
20(1.4)

0

O A
IREEE
" inch (mm)
FV12
viz 6.78 | (172.2)
TW12 6.00 | (152.4)
FV16
vie 7.34 | (186.4)
TW16 6.00 | (152.4)

HSED

M 150psig[10.3bar]

| 100psig[6.9bar]

M~ —

—|
0 500 1000 1500 2000 2500

& (slpm nitrogen)



Single Stage Pressure Regulator / B4R\ iFERS
VSR-920UB %71

| PANE
.
A
* ERE
— W/ HSEE
FV12: 3/4" VFS PR FV4: 1/4" VFS PRIREL TW16: 1"/8#EsEsE
MV12: 3/4" VFS SMRLZ MV4: 1/4" VFS MRz P: EJE (174" VFSEQO)
FV16: 1" VFS IR IFV4: 1/4" SRINT RIRLEDRED IP: EAI5R (IFVAEEO)
MV16: 1" VFS MR TW12: 3/4" IB5EEE
* HEEETE, SRR,
| [ |
| EORREE |
I
VSR - 920UBPS -20-V4-3P-1 - 2 - 3 -VS-P
ey ahh TZ2H5E
SE: AR BHAFLL =5 Vs00te
P: ERZEE 2P: 2%, e
BP: M2 (1/8” FNPT) 3P 37 HEESERR.
* EREEFZE: ©39.6mm ) )
——  IEEEIRIN
WM& . - HSED Z=H: PFA (i)
S- 316L V2: Vac to 30 psig VS: Vespel®
' V4: Vac to 60 psig
. V7: Vac to 100 psig
HSES - V10: Vac to 150 psig
20: 300 psig 2: to 30 psig
4: to 60 psig
7: to 100 psig
10: to 150 psig
| PPl
VSR - 920UBS - 20 - 10 - 2P - MV12 - FV12
|

1 - 2

VIGOURIEE 3



B sVRERS / Single Stage Pressure Regulator
VSR-920UC &%l

P

o BN RESS
« FEYEEE 10pin. Ra Average
(10pin. Ra Max / 7pin. Ra Max / 5pin. Ra Max BJi5)
- REBTCIEH
{ERMRFFS ASTM A479 / A484 / A276 trifE
* SAERNX 2000 slpm
- ENEHIRETE
. BEEEIEE
- FREHED, BEEE
« REES—AHIRit
+ 100%&SitREN

I ~=RR~ (mm)

Max. 163

O A
i E
38.1 I inch (mm)

L FV12
[
Wviz 6.78 | (172.2)
i \ TW12 6.00 | (152.4)
FV16
RN S S S S V16 7.34 | (186.4)
2-M5 ‘ TW16 6.00 | (152.4)
o

I BARSE I REE
A BARRE
HEES: Max. 300 psig (20bar) Eis%gzig[w.abar]
HEEN: Vac to 30/60/100/150 psig (2/4/7/10bar) = 100pelaloSber
EECEE: 10uin Ra Average e
(10pin. Ra Max / 7pin. Ra Max / 5pin. Ra Max BJ3) 10069
MIE T 80655
Bk 316L iRiEkE R — —
W : PFA (Vespel® TJj%) f'ii 40(2.8) ~ E—
Bh: Hastelloy® C276 # 20(1.4) —
W/ HSEE: 3/4" 1" VFSHELayRisEes
HR=imO 1/8" NPT (|Jigk) % 500 1000 1500 2000 2500
ERRE: -40°F to +160°F (-40°C to +71°C) i (slpm nitrogen)
SRR <1x10° mbar I/s He (4N2R)
<1x108 mbar I/s He (F9Ep)
MESH: Cv=1.6
LRSS : HSEHETE100psig HSEN EF7psig
BE: £9 2.7kg (BURFIZERESIEIN)

¥ VIGOUR EE



Single Stage Pressure Regulator / B4R\ iFEERS
VSR-920UC 5

| PANE
.
*
* ERE
— B/HREE
FV12: 3/4" VFS PR FV4: 1/4" VFS PIEREL TW16: 1"8iEEE
MV12: 3/4" VFS JMRLL MV4: 1/4" VFS JMREL P: A% (1/4" VFSEN)
FV16: 1" VFS IR IFV4: 1/4" SRINT RIRLEDRED IP: EAI5R (IFVAEEO)
MV16: 1" VFS SMREL TW12: 3/4" |2EE
* HEERIRE, BN,
[ [ |
| EORUER |
R
VSR - 920UCP SLV-20-V4-3P- 1 -2 - 3 -R5-VS-P
L& TZH5E
SE: R BHAFUAL P 0
P RN P 23 e
BP: EzEimA%E (1/8" FNPT) 3p: 37,
* EREEEFLZ: ©39.6mm L @@Jﬁlﬁj
INTTV= Z=H: PFA (FRf)
b — VS: Vespel®
R o~ :
. =l V2: Vac to 30 psig
SLV: 3161~k V4: Vac to 60 psig
. V7: Vac to 100 psig Mot
HSES - V10: Vac to 150 psig iéf 1(’)':' x R
20: 300 psi 2: to 30 psig =H: uin. Ra
psi9 4: to 60 psig R7: 7 pin. Ra
7: to 100 psig R5: 5 pin. Ra
10: to 150 psig
| PPl
VSR - 920UCSLV - 20 - 10 - 2P - MV12 - FV12
| ‘

1 - 2

VIGOUR #&El

40



B sVRERS / Single Stage Pressure Regulator
VSR-930UB %%l

| P

o B RESS

+ REYEEE 10pin. Ra

REBFFER, WISRTENE

o SEREROTY

o [FRMRS ASTM A479 / A484 / A276 tRifE
« BERE: 30slpm (i), 120slpm(HFIELR)

o ENEEHELE
« TEEEIEE

o FREHIED, BIEEH
- (NERTIBMSEK

I ~=RR~ (mm)

. N A
2 i iR -
inch mm
Fv4
3.70 94
MV4
IREH P s
ﬁgg: gé&iﬁm& ‘.)&T‘S,%g] (103.4 bar)
HSED: Max. 5800 psig (400bar) = 1333&552323:3
HEES: 500/2500 psig (35/170bar) 1400 (96.5)
%Eﬁlﬁﬁé‘:g 1 Ouln Ra 1200 (82.7) —
*ZE = 1000 (68.9)
W: 31 6L % 800 (55.1) —
g n—
VEIRE : PCTFE (Vespel® ET3%) g e |
fEF: Hastelloy® C276 L 0@
/SR 1/4" VFSHEELmiRisEe 200030
[ 1/8" NPT (fEiGIFmEREGZER, EEROARIBLLERER) 0 200 400 600 800 1000
ERRE: 0°F to +140°F (-18°C to +60°C) i (slpm nitrogen)
R AR
MESH: Cv=0.09 (Cv=0.15 &Jik)
(EIES VR Cv=0.09 HSEHETE100 psig HSEHEFH0.35 psig
Cv=0.15 #HSEHE FE100 psig HSFEHLEF0.5 psig
B2 £ 2.0kg (BURF1EREERI%EIN)

2 VIGOUR HEEl

1200



Single Stage Pressure Regulator / B4R\ iFEERS
VSR-930UB %%l

TS
Bk
A
*ERE
— H/HSEE
FV4: 1/4" VFS PRigsy TW4: 1/4" |8isiEs
MV4: 1/4" VFS GMRs P: EH5R (1/4" VFSIEQ)
IFV4: 1/4" BHARINT B EHFED IP: [EH% (IFV4#EO)
* HEERE, 1550%E .
[T T 1
| gOptEE |
| | | |
VSR - 930UBPS -400-170-4P-1-2-3-4-HF-VS-X-P
J TZH56
ZEAR ZS[: VS001B
. . BHAFLI P: VSO001A
eEll : %ﬁi}géigﬁf% e 27, EBESENR.
* FIREIEILR B36mm 3P: 37, L T
TH: BE
W - SR X: REME
S: 316L .
35: 25~500 psig ST e
- 170: 100~2500 psig HEEEZEIR
HSES — Z5[9: PCTFE
400: 5800 psig VS: Vespel®
—— Cv &R
ZSH: Cv=0.09
HF: Cv=0.15*
*HREXFEAVespel “FEE
I T4

VSR - 930UBS -400-170-2P -FV4-P-FV4

I
l-B-E

VIGOURIEE +



43

fElEKE / Diaphragm Valve
VDV32UA 7%l

P

- ERTERAESAFIARESESK
- EBRAEE, BANBRIEIITEE,

o JRLFE, BRFIEFRRES

« UEAVHFSIRE

AT AR E

« FERIEERAEL PCTFE, Vespel® / PFA @itk

VEE / ENER

L T i e R i B
} } } 40"0‘3 10bari  80°C, 8.9bat } } } }
| | \i | | 100°C, 8.4bar | | | |
— o | \"‘”’"#—————&1 S ‘ 4‘ lis6°C, .6bar 4‘

- g

© | | | | | e | |
2 | | | | | | Lo | \
| | | | | | Pl | |

R ST~ ——7—— B i i Rl i et et
1 | | | | | | Lo | \
| | | | | | Pl | |
\ \ \ \ \ \ [ \ \
| | | | | | Lo | |

10 o 20 40 60 80 100 120 140 160 180 200

I 5ARSE

BRALIEES:
SEITEESD:
BATIERE:
MR

(SN

R

EEEy

Fi:
PERittRER:
HhEBitHRmER:
MESEH

BE:

VIGOUR #&El

iBE (°C)

—— PCTFE fREE
fffff PI/PA IGEE

150 psig (10 bar)
58~87psig (4-6bar)
14°F ~ 176°F (-10°C ~ 80°C)

316L

Elgiloy®

PCTFE

AL

<1x10° mbar I/s He
<1x10° mbar I/s He
1/4" Cv=0.3
£ 0.27kg (BURTFEZEEER)

3/8" 1/2" Cv=0.65

1/4 8

1/4 8

1/2 8

1728



Diaphragm Valve / [BlEH
VDV32UA %5

1 (W\ 4'7
|

A} 25
| MISOUR | 2—M5X0.8\'/.1‘ _ | JISOUR | | 2M5X08~ | _
oP6 DP6
L o
V1901 O " V1906 Ol i
B 1 i N B J h
L

E = 4 L £ T

1/4,3/8, 1/2 FhEL 1/4 SEhE

FohEd
A IRCERE FORY RS (mm)
| (mm) A T B8] C E FI L [H
\ 1/4" FEREL 44 | ®45 | 26 |11 | 254 26 | 60 | 64
[ 3/8" FEEL 7 | ®45 |36 [182 | ®28 | 36 | 788] 78
‘ 172" £ 7 | ©45 |36 [182 | ®28 | 36 | 836 78
|
| . N.C/N.O
: EThAU (R TEEEn:

VISOUR 2-M5X0.8 SHhE (BEHAEER)

e bPe woiEE | WS |AORT RY (mm)

xxxxx (mm) A [B] C D E FLLIH
s 4 1/4" €EEL |NC/NO| 44 |®396| 26| 11 | M5x0.8 |®254 | 26 | 60 | 70
L 3/8" £E@L |NC/NO| 7 | ®55 | 36| 182 | RC1/8 | ®28 | 36 | 788 | 78

s 1/2" €E#EL |NC/NO| 7 | 55 | 36| 182 | RC1/8 | ®28 | 36 | 836 | 78

3/8,1/2 St V43812 RIS, REEESEEETI

| RAYAES S
VDV32UAS - M - 04 - 04 - PA

PR 4 { HEEEIZEI

S: 316L Z=H: PCTFE (t7A)
VS: Vespel®
PA: PFA
KA — — mHEER
M: Fzh 04: 1/4" ®E#EL
PO: Sz (BFF) 06: 3/8" EEfEL
PC: S5 (EiA) 08: 1/2" k&L

* HfthiEsEinE, SIS .

VIGOURIEE 4



PRl / Diaphragm Valve

VDV33UA %751

It

« BRTHAESAMAIRIESESAE

- HEEREN, BEEERNESEE,

o AJRHFER, BRFETFRRE
« EAOHFSERE

HHATRERENE

VIGOUR #&El

o FRERREERFLS PCTFE, Vespel® / PFA @itk 1745
1EE / EHER L m
[N B o L o o r
-10?@, 205bar T} 7‘ 40°C, 205?Fr i }r
LT T 0 o o
R e,
Q | | | | |
R 100f — o === F-—- 12 m
3o A — T
. N N
-10 0 20 40 60 80 100
RE (°C)
I EARSE am
BRATIEES: 3000 psig (200 bar)
SN TIEES: 58~87psig (4-6bar)
BRAIIERE: 14°F ~ 104°F (-10°C ~ 40°C)
5
K 316L
fEhR: Elgiloy®
CooE SR PCTFE
Fi: AL
ISR tHRER: <1x10° mbar I/s He
HhERitRER: <1x10° mbar I/s He
MESH: 1/4" Cv=0.27  3/8" 1/2" Cv=0.5
HE: £90.27kg (BURTFIEREELIEN)



Diaphragm Valve / [BlEH
VDV33UA %5l

=5 RY (mm)

A
LI
'\@ ) |
N— ‘
I OPEN 0° | I
2—M5>(O.8ﬁk @ 2-M5X0.8—
DP6 }, DP6 —~
= al=n = A
B EL IR N
B L L
L
1/4,3/8,1/2 FhEL 1/4,3/8,1/2 SEhEL (HiH)
A
| Fapm
| O AORY RY (mm)
‘ mm) A T B]CJ]EJF]L[H
| 1/4" FEEL 44 | ®54 | 28 [ 111 18 | 28 | 65 | 74
‘ 3/8" FEmL 7 54 | 42 [182 | 27 | 38 | 848 | 86
12" FEEL 7 54 | 42 [182| 27 | 38 | 896 | 86
! I
2-M5X0.8 | S (BFEEAD)
DP6 ¥} ‘ — -
[ WOMEE | AR | FLORYT R (mm)
‘ ﬂimIJri@»u (mm) A B C D E F L H
: } 1/4" FEEL N.C 44 |®565| 28 | 11.1 | M5x0.8 | 18 | 28 | 65 | 905
1 1/4" FEEL N.O 44 | ®58 | 28 [ 111 [ M5x0.8 | 18 | 28 | 65 | 134
E 3/8" FEEL N.C 7 |®565] 42 | 182 | M5x0.8 | 27 | 38 | 848 105
12" FEEL N.C 7 |®565| 42 [ 182 | M5x0.8 | 27 | 38 | 89.6 | 105
1/4 S8 (BFF) 174" ,3/8" ,1/2" EHRIUESE, HeEEsrNigsEaI .
| AN
VDV33UAS - M - 04 - 04 - PA
IR 4 L MBI
S: 316L ZS[: PCTFE ()
PA: PFA
VS: Vespel®
Kzha= PO
PO: Sz (BF) * F4: 1/4" NPTRIELL
PC: S&h (EiF) 04: 1/4" REREL
06: 3/8" £E#E:L

* BfhiEENE, EEET.

VIGOURIEE



f5lEKE / Diaphragm Valve
VDV32UB %%l

| P

- ERTHSAFERENRETESLE. ZNSESSNER

- HEEREY, BEEMMNESMEE, SHMREmEEsE

« AIWFER, BRFIRTRRES

« EHIHFSARIE

* EPtRAERRERLIE 4R
* FRERREERIHL 9 PCTFE, Vespel® / PFA AJi%

EE / FHER

I ‘ |

‘ |
[ | |
I | 100°C, 8.4bar ‘ ‘

) [ **Vﬁf#iii‘iii —

‘ B I
‘ |
‘ I

| 1728

—— PCTFE {@EE

= O I Pl/PA {EEE

I 5iRSH 172

BRATIEED: 150 psig (10 bar)
SaTIEED: 58~87psig (4~6bar)
BRATIERE: 14°F ~ 176°F (-10°C ~ 80°C)
TENEE: 10uin. Ra

(%154

S HITHS

=R Elgiloy®

By PCTFE

Fi: AL

ARt R <1x10"° mbar /s He

SNERI R <1x10°° mbar I/s He
mESH 1/4" Cv=0.3 3/8" 1/2" Cv=0.65
=& £90.27kg (BURTFIEREEEIEIN)

7 VIGOUR HEEl



Diaphragm Valve / [Gi&iZ
VDV32UB %3l

I ~=5RYT (mm)

A e
|
| l 7 W \)
| \ )
m—7
T OPEN 0°
85—
é—ggsxo.s\ |

E =1

- ¥

SSEF

1/4,1/2, 3/4 FahBL (VFS PIIRLR)

T

3/4 FEhBEL (VFS SMEL)

TS

!
Nons/ N.C/N.O
OPEN 0° 2-M5X0.8 )
DP6
2M5%x08_ 5 }Q ﬂ:ﬂ@“
DP6 ¢ |- @u} “»‘A
A ] E =
i { /E
E =T
? R (mm)
! F] L [H
Lo 254 | 26 | 57 | 64
7 W N ®254] 26 | 71 | 64
0 2 7 ®28 | 36| 77 | 78
\ ) 2 7 ®28 | 36| 77 | 78
7 7 28 [36] 83 [ 78
e 7 7 5| ®28 | 36 [1223] 82
OPEN 0° 3/4" VFS ptgey 7 | ®45 |36 |21.5 | @28 | 36 |106.3| 82
2-M5X0.8
DP6 . e e
4 TH: SHE (BFHED)
2sime O s | AARY R (mm)
= (mm) AT B[ C D E FT L H
1/4"_VFS 51857 NC/NO | 44 [®396] 26 | 11 | M5x0.8 [®25.4] 26 | 57 | 70
1/4" VFS RIBS N.C/NO | 44 [®396] 26 | 11 | M5x0.8 [®25.4] 26 | 71 [ 70
3/8" VFS Mg N.C/N.O 7 55 | 36 [ 182 | RC1/8 | @28 | 36 | 77 | 78
1/2" VFS JMBLL N.C/N.O 7 ®55 | 36 [182 | RC1/8 | @28 | 36 | 77 | 78
1/2" VFS RiZE N.C/N.O 7 ®55 | 36 | 182 | RC1/8 | @28 | 36 | 83 | 78
174" ,3/8" ,1/2" BHRIRMSE, HeEEhEE8aLI .

2-M5X0.8 |
ops 3

1/4 SEHEY (VFS JMELY)

VDV32UBS -M - A-MV4 - MV4 - PA-IS-P

FR

S: 316L

AT

M: Fxzf

PO: Sz (EFF)
PC: Sz (Bil)

SE&TIE
EMEP66: SEETSTAIEL

— |

RS
MV4:
FV4:
TW4:
MV6:
FV6:
TW6:
MV8:
FV8:
TWS:
MV12:

1/4" VFS 4MEsY

1/4" VFS poigsr

1/4" 1REEEE

1/2" VFS 4pggr 3/8" O.D.
1/2" VFS g4 3/8" O.D.

3/8" BfFiEE
1/2" VFS JMZLL
1/2" VFS PI8EL
172" 1R e
3/4" VFS SMBE

* HitiEEinE, ES0EHED.

L

TZ/e
Z5[H: VS001B

P: VSOO1A
R T

BEIR
TH: i
IS: FFEAIBISTS
W EEISE I
ZS[: PCTFE (4Rf)

VS: Vespel®
PA: PFA

VIGOUR #&El

48




f5l&KE / Diaphragm Valve
VDV32UC 7%l

I mtsm

- ERTHSAFERENRETESLE. ZNSESHSNER

- HEREREY, BEEMMNESMEE, SHMREmEEsE

« AIWFER, BRFIRTRRES

« ERIHFSARIE

* EPtRAERRERLIE 4R
* FRERREERIAL 9 PCTFE, Vespel® / PFA AJi%

IEE / EhEFR

1/4 8
| | | | | I | | I |
L T T e e i A B R
| | | 40°C, 10bar 80°C, 8.9bat | | | |
[ [ [ [ [ [ [ [
\ \ \ \ | 100°C, 8.4bar | \ \ \
o0 | | | | [ e T | |
— \ \ \ \ \ \ [ \ \
\ \ \ \ \ \ [ \ \
-I_-ISL o e Ei il e R e e R e e A
\ \ \ \ \ \ [ \ \
\ \ \ \ \ \ [ \ \
\ \ \ \ \ \ [ \ \ ,
\ \ \ \ \ \ L 1| \ \ 1728
10 0 20 40 60 80 100 120 140 160 180 200
s —— PCTFE [®JEE
BE (°C)

fffff PI/PA B

I 5ARSE 1w

BRATIEED: 150 psig (10 bar)
SaTIEED: 58~87psig (4~6bar)
BRATIERE: 14°F ~ 176°F (-10°C ~ 80°C)
TENEE: 7uin. Ra

(%154

S HEITHS

=R Elgiloy®

oE S PCTFE

Fi: AL

AEBt R <1x10"° mbar /s He

SNERI R <1x10°° mbar I/s He
MESH 1/4" Cv=0.3 3/8" 1/2" Cv=0.65
=& £90.27kg (BURTFIEREEELIEIN)

% VIGOUR HEEl



Diaphragm Valve / [Gi&iZ

VDV32UC %7l

I~=%RT (mm)

DP6

s
2-M5X0.8~¢ |

d

?

—

N

OPEN 0°

E I

0

1/4,1/2, 3/4 FhEd (VFS RIRLR)

il

3/4 FofB (VFS HMEL)

| RAAES 5

i

.

(W\
1\ )
N

?

)

OPEN 0°

2-M5X0.8
DP6

=

=i

£

DP6

1/4 SEEY (VFS JMELY)

2-M5X0.8-¢ |

N.C/N.O
2-M5X0.8
L

DP6

é“%

7

E [
FaE
primpu=E3 LORT RS (mm)
(mm) AT B[ C E Fl L |H
1/4" VFS HMBEL 44 D45 | 26 | 11 | ®254 | 26 | 57 | 64
1/4" VFS PRigsr 44 | ®45 |26 | 11 | ®254 | 26 | 71 | 64
3/8" VFS HMBEL 7 45 | 36 (182 | ®28 [ 36| 77 | 78
1/2" VFS 9N 7 45 | 36 (182 | ®28 [ 36| 77 | 78
1/2" VFS IR 7 ©45 | 36 [182 | ®28 | 36| 83 |78
3/4" VFS SMREL 7 @45 | 36 [21.5 | @28 | 36 [122.3] 82
3/4" VFS PiBEL 7 ©45 | 36 [21.5 | ®28 | 36 |1063] 82
SaE (BERHED)
i mpuzE kanpa | AR R (mm)
(mm) A B| C D E FILIH
1/4" VFS 5h2ey N.C/NO | 44 |®396] 26 | 11 | M5x0.8 |®254| 26 | 57 | 70
1/4" VFS PRiga N.C/N.O 44 | ®396] 26 | 11 M5x0.8 | ®25.4| 26 | 71 | 70
3/8" VFS spgey N.C/N.O 7 ®55 | 36 [182 | RC1/8 | ®28 | 36 | 77 [ 78
1/2" VFS §MBX N.C/N.O 7 ®55 | 36 [182 ] RC1/8 | ®28 [ 36 | 77 [ 78
1/2" VFS R N.C/N.O 7 ®55 | 36 [182 ] RC1/8 | ®28 | 36 | 83 [ 78

174", 3/8" 172" EHRIRUESE, HEEELNEESELI .

VDV32UCSLV-M-A-MV4 - MV4 - PA-IS-P
| TEmE

R

SLV: 316L Zix¥Aks

AT

M: Fzf)

PO: S&1 (EFF)
PC: 51 (Bi)

SEETIE
BEMIZEP66: SETTHIE.

|

|

MV4

TW6:
MV8:
FV8:
TWS8:
MV12:

FV4.:
TW4:
MV6:

FV6:

] MES

P: VSOOTA  *isissimms,
IR

: 1/4" VFS HMELY =1 foE
1/4" VFS PIIRLL IS: FRfIEIE ==y
175" VFS SMESY 3/8° OD
1/2" VFS M2 3/8" O.D. 1R EEISEIR
3/8" IEiRE ZSE9: PCTFE (bt
1/2" VFS SMREY fliVS: Vc-zspelsﬂ)T )
172" VFS Pigy PA: PFA
1/2" |1B5EE
3/4" VFS SNZL

* BRI, EEaEHEE.

VIGOUR #&El

50




51

f5lEKE / Diaphragm Valve
VDV42UB %7l

IR

« ERTHSAHIERSMRETESS. ZNTESHSAHER
- HREEREY, BEMMNESMTEE, SHmATmEEtt

« AT, BRFIRTFRRES

- ERIHESEIE

« EPtRAERERE

* TERREERHL) PCTFE, Vespel® / PFA Hik

VEE / EhER

\ \
| |
| |
| |
’g | | | | 4‘ 150°C, 7.6bar
5] | | | [ e |
- | | | | | Lo |
R | | | | | Lol |
D e e A B i i Rl i et et i
il \ | | | | | I | |
| | | | | | Lol | |
\ \ \ \ \ \ [ \ \
| | | | | | Lo | |
10 o 20 40 60 80 100 120 140 160 180 200
N —— PCTFE [@RE
iEE (°C)

1 £EBITWER

————— PI/PA IGJEE

RS HRRERAE fihix ]
DVA42-WXB-316L-PCTFE PCTFE
DV42-WXB-316L-Vespel Vespel B2a1 pes WEEEMR2 pes [BR | ERAT I ERIEEENRER
DV42-WXB-316L-PFA PFA

I SRS

BRATIEES:
SENTRES:
BATIERE:
FENEE:
AR

B

&R

oE N

FHE:
AEBHRER:
HMERIHRER:
WESH

=20=-%

VIGOUR #&El

300 psig (20 bar)
58~87psig (4~6bar)

14°F ~ 176°F (-10°C ~ 80°C)
10pin. Ra

FITIES8

Elgiloy®

PCTFE

AL

<1x10*° mbar I/s He

<1x10° mbar I/s He

1/4" Cv=0.3 3/8" 1/2" Cv=0.65
£90.27kg (BURTFZERELIEIN)

1/4 84

1/4 84

1728

1/2 8



Diaphragm Valve / [Gi&iZ
VDV42UB %7l

I~=5RY (mm)

DP6

s
2-M5X0.8~¢ |

?

OPEN 0°

—
N

E =1

d

X
KA
s/
N
OPEN 0°
gk
o]

1/4,1/2, 3/4 FhEY (VFS RIRLR)

L

3/4 FaB (VFS HMEL)

R

?

.

(W\
1\ )
N

OPEN 0°

)

2-M5X0.8
DP6

€

2-M5X0.8 |
ops 3

1/4 SEEY (VFS JMELY)

N.C/N.O
2-M5X0.8
@g{ ‘ ﬂ:ﬂ@
R
E [
FaE
primpu=E3 LORT RS (mm)

(mm) AT B[ C E Fl L |H

1/4" VFS HMBEL 44 ®45 | 26 | 11 | ®254 | 26 | 57 | 69

1/4" VFS PRiBsr 44 | ®45 |26 | 11 | ®254 | 26 | 71 | 69

3/8" VFS JMBEL 7 45 | 36 (182 | ®28 | 36| 77 | 83

1/2" VFS 9N 7 45 | 36 (182 | ®28 | 36| 77 | 83

1/2" VFS IR 7 45 | 36 [182 | 28 | 36| 83 | 83

3/4" VFS SMREL 7 ®45 | 36 [21.5 | @28 | 36 [122.3] 87

3/4" VFS PiBEL 7 ©45 | 36 [21.5 | ®28 | 36 |1063] 87

SEHE (BFEHER)
primpuzE kanpa | AARY R (mm)
(mm) A B| C D E FILIH
1/4" VFS 528y NC/NO | 44 |®396] 26 | 11 | M5x0.8 |®254| 26 | 57 | 75
1/4" VFS PRig N.C/N.O 44 | ®396] 26 | 11 M5x0.8 | ®25.4| 26 | 71 | 75
3/8" VFS JMESL N.C/N.O 7 ®55 | 36 [182 | RC1/8 | ®28 | 36 | 77 | 83
1/2" VFS §MBX N.C/N.O 7 ®55 | 36 [182 ] RC1/8 [ ®28 [ 36 | 77 [ 83
1/2" VFS R N.C/N.O 7 ®55 | 36 [182] RC1/8 | ®28 | 36 | 83 [ 83
174" ,3/8" ,1/2" BHRIUESE, HeEksNEs8aLI .

VDV42UBS - M - A - MV4 - MV4 - PA-IS -P

MR

S: 316L

TS

M: Fz

PO: 53 (EFF)
PC: 551 (BHA)

iz sl
PEMBIZEP66: SETTHIE.

— |

I

FV4:
TW4:
MV6:

FV6:
TW6:
MV8:

FVv8:
TW8:

MV12:

MV4: 1/4" VFS JMBEL

1/4" VFS PISRLL

1/4" IBIZIRE

1/2" VFS 5MEZL 3/8" O.D.
1/2" VFS pP9i8Ly 3/8"
3/8" 1RfERE

1/2" VFS HMZRLL

1/2" VFS PISRLL

1/2" [BIZIRE

3/4" VFS JMELY

L

O.D.

* BthiERTE, EEIEHER.

TZ/5e

Z5[: VS001B
P: VSO01A

*BEBSEIR,

EIR
TH: e
IS: FFRfIBEiERES
W EEIZE IR
ZS[: PCTFE (Ff)

VS: Vespel®
PA: PFA

VIGOUR #&El

52




f5lEKE / Diaphragm Valve
VDV42UC 7%

| P

« ERTHSAHIERSMRETESS. INTESHSAER
- HEEREY, BEMMNESMTEE, SHmATmEEt

« AT, BRFIRTFRIRES

- ERIHESEIE

« EPHRAERERIE

« TNEREER R/ PCTFE, Vespel® / PFA @ik

VEE / ENER

\ \
| |
| |
| |
0 | | | | i 150°C, 7.6bar_
0 | | | I e |
— | | | | | Bl |
S S O N S O N [ R T e B
b \ T \ =+ | == | +
ial | | | | | | Lo | |
| | | | | | I | |
\ \ \ \ \ \ [ \ \
| | | | | | Lo | |
10 0 20 40 60 80 100 120 140 160 180 200
N —— PCTFE [®JEE
N=l=d OC
BE (O PI/PA [EEE
I EEEITER
TS HRIRERA R i iBA

DV42-WXB-316L S.R-PCTFE PCTFE
DV42-WXB-316L S.R-Vespel Vespel
DV42-WXB-316L S.R-PFA PFA

BE1 pes REERMHR2 pes [ER | ERT A EHRREERIRRE

I 5iRSE

BRALIEES:
SHTEES:
BRALIERE:
RECEE:
MR

B

[

BBy

Fi:

RIER R
ANEBitRER:
MESH

HE:

3 VIGOUR BEE

300 psig (20 bar)
58~87psig (4~6bar)

14°F ~ 176°F (-10°C ~ 80°C)
7uin. Ra

HEITHS

Elgiloy®

PCTFE

AL

<1x10° mbar I/s He

<1x10° mbar I/s He

1/4" Cv=0.3 3/8" 1/2" Cv=0.65
#50.27kg (BURTIERERSET)

1/4 84

1/4 84

1728

1/2 8



Diaphragm Valve / [Gi&iE

VDV42UC %51

?

A R
| { A
il )
-4

é—ggsxo.s\%\

E =1

- [

f‘\
{ W
a

NS~

OPEN 0°

DP6

1/4 SEEY (VFS JMELY)

2-M5X0.8¢ |

N.C/N.O

2-M5X0.8
L

o DP6 _
— 2M5x0.8 M5 }# Y
] o~ - @@EA»
S D] o
——— b
B
L E T _
FaE
1/4,1/2, 3/4 FhBL (VFS PIERE) O AORY R (mm)
? (mm) AT B[ C E Fl L |H
! 1/4" VFS HMBEL 44 D45 | 26 | 11 | ®254 | 26 | 57 | 69
A N 1/4" VFS PRI 44 | ®45 |26 | 11 | ®254 | 26| 71 | 69
‘ ( W \ 3/8" VFS HMBEL 7 45 | 36 (182 | ®28 | 36| 77 | 83
- 1/2" VFS 9N 7 45 | 36 (182 | ®28 | 36| 77 | 83
‘ \ ) 1/2" VFS IR 7 45 | 36 [182 | 28 | 36| 83 | 83
3/4" VFS SMREL 7 ®45 | 36 [21.5 | @28 | 36 [122.3] 87
7 3/4" VFS pIZEL 7 ©45 | 36 [21.5 | ®28 | 36 |1063] 87
OPEN 0°
T 2-M5X0.8 ek A ates
| DP6 ‘ SshB (BEFEEA)
—U[ o _ primpuzE kanpa | AARY R (mm)
5 J L (mm) A B| C D E FILIH
L 1/4" VFS §MBEL N.C/N.O | 44 [®39.6] 26 | 11 | M5x0.8 |®254| 26 | 57 | 75
1/4" VFS PRig N.C/N.O 44 | ®396] 26 | 11 M5x0.8 | ®25.4| 26 | 71 | 75
_ 3/8" VFS SMRLK N.C/N.O 7 ®55 | 36 [182 | RC1/8 | ®28 | 36 | 77 | 83
3/4 FapB (VFS SMELY) 1/2" VFS §MBX N.C/N.O 7 ®55 | 36 [182 ] RC1/8 [ ®28 [ 36 | 77 [ 83
1/2" VFS RIgX N.C/N.O 7 ®55 | 36 [182] RC1/8 | ®28 | 36 | 83 [ 83

| RAAES 5

174", 3/8" 172" EHRIUESE, HEEELNEEELI .

VDV42UCSLV - M -A -MV4 - MV4 - PA-IS-P
| TEmwm

FR

— |

SLV: 316L ZiRiEks P: VSOO1A HEESENR.
AT o S 23 1EIN
M: Fazf MV4: 1/4" VFS JMBLY =M fvE
PO: 551 (EFF) FV4: 1/4" VFS PFIBLY IS: FFRfUEiEras
PC: S50 (Fi) TW4: 1/4" 12istee

MV6: 1/2" VFS 4ME& 3/8" O.D. N
=R FV6: 1/2" VFS pigsy 3/8" O.D. W) EEIZETI
X TW6: 3/8" IRiRiRE Z=[: PCTFE (7o)
FIMIRP66: SEETME. MV8: 1/2" VFS shiEsy VS: Vespel®

FV8: 1/2" VFS PEEL PA: PFA

TWS: 1/2" 12istee

MV12: 3/4" VFS Mgy

* BN, IBETEHEE.

VIGOUR #&El

54




f5l&KE / Diaphragm Valve
VDV33UB %%l

I mtsm

- BRATHSARIEREMNEETEEE. SRTESHSHER

- BEEREY, BEEMHINEETE, SHMOMEAMERLEE

o AIMLTFR, BRHTFRRES

o REHIHESSE

« EPIRAERMERNIE

« FEIREEREL S PCTFE, Vespel® / PFA ik e

VEE /| ENER

1/48
S N o o o o r
J10%C, 208bar T 7‘ 40°C, 205ggr } ‘r
S A At i T
S S T
Rl I
g | | | | |
sob— L N R ao [ L
| | | | | 128
-10 (‘) 2‘0 40 6‘0 8‘0 1(‘)0
BE (°0)
I RS 12m
A LIEED: 3000 psig (200 bar)
SaATIEES: 58~87psig (4~6bar)
BRALIERE. 14°F ~ 104°F (-10°C ~ 40°C)
TEGEE: 10uin. Ra
)5
B TS
&R Elgiloy®
Ry PCTFE
Fi: AL
SRR <1x10° mbar I/s He
AMERIHRER: <1x10° mbar I/s He
MBS 1/4" Cv=0.27, 3/8" 1/2" Cv=0.5
BE: £90.27kg (BURTIERZSIEIT)

5 VIGOUR BEE



Diaphragm Valve / [GiEiE
VDV33UB £

=z
I =&RS (mm)
A LITN A I
| K g ) | R g \
4 ) { )
N T
§ OPEN 07 T OPEN 0°
2»7\/\5)(0.8ﬁ¥ i ZD-FV:ASSXOVQ i
DP6 N 5
i EHIS e
BB i
: £
1/4 FaBY (VFS JMEL) 1/4 FapBY (VFS PIIELY)
A LIT " LT
i ~ q @ Y | ) 7 @ N
| { ) ! \ )
NS NS
= 2-M5x0.8 OPEN 0° : 2msx0.8~ OPEN O°
DP6 Y VISOUR E@ DP6 o |
S5 S Hife s S Sl T ER
. B -«
T L
E

1/2 Fhad (VFS RIRER) 3/8, 1/2 FafBY (VFS SMELX)

-
|
|
|

2-M5X0.8~, |

L e k=
=T EL - =0 i

1/4 SEEL (VFS SMELL HiF) 1/4 SEhEY (VFS MRS HTF)

£
|
|
|
|

A
|
[
|
|
= @
h

‘ 2M5x0.8
s C A
] 4l
L&
1/4 SEhEE (VFS RIREL HiF) 1/4 SEhBY (VFS RIRL HFF)

VIGOURIEE s



f5lEKE / Diaphragm Valve
VDV33UB %%l

=R~ (mm)

| |
= 1 et ==

-
B T B
L E L
1/2 SEHBL (VFS U84 Ei) 3/8, 1/2 SahBY (VFS ML EiF)
FapE SahE (BFHER)
IR FLORY] R (mm) i OERE Rzt | FORY R (mm)

(mm) ™A B clE FI L [H (mm) A B | C D EJFL H
1/4" VFS JMELL 44 ®54 | 28 [11.1 | 18 | 28 | 58.7 | 74 1/4" VFS SMEE N.C 44 | ®56.5| 28 | 11.1 | M5x0.8 | 18 | 28 | 58.7 | 90.5
1/4" VFS PRt 44 | ®54 | 28 [11.1 | 18 | 28| 716 | 74 1/4" VFS SN N.O 44 ®58 | 28 | 11.1 | M5x0.8 | 18 | 28 | 587 | 134
3/8" VFS SN 7 54 | 47.1[182 | 27 | 38 [ 122.2] 86 1/4" VFS PR N.C 44 | ®56.5] 28 | 11.1 | M5x0.8 | 18 | 28 | 71.6 | 90.5
1/2" VFS SMBL 7 54 | 47.1[182 | 27 | 38 [123.2] 86 1/4" VFS PRI N.O 44 ®58 | 28 | 11.1 | M5x0.8 | 18 | 28 | 71.6 [ 134
1/2" VFS RIB 7 54 | 471182 | 27 | 38 ]123.2] 86 3/8" VFS SMREL N.C 7 56.5 [47.1| 18.2 | M5x0.8 | 27 | 38 [122.2] 105
1/2" VFS SN N.C 7 56.5 |47.1| 182 | M5x0.8 | 27 | 38 [123.2] 105
1/2" VFS P N.C 7 56.5 |47.1| 182 | M5x0.8 | 27 | 38 [123.2] 105

174", 3/8" 172" EHRIRESE, HEERLNEEaTI .

1iT&

VDV33UBS - M - A - MV4 - MV4 - PA - P

)5 4 t TZ#H58
S: 316L ZSE: VS001B
P: VSO01A
KzhE= EEESENR.
PO: ol (HFF) * — IREEEIR
PC: S (%) iR =8 PCTFE ()
* SHBEFHETERERTH1/4 thch MV4: 1/4" VFS ML \Pfi; \Pfszpel
FV4: 1/4" VES IS )
TW4: 1/4" |25k
SEEAM — MV6: 1/2" VFS 4MB&z 3/8" O.D.
EEHEP66: SIS HE., FV6: 1/2" VFS R18L 3/8" O.D.

TW6: 3/8" I2#EE
MV8: 1/2" VFS JMRLL
FV8: 1/2" VFS PIIRL
TW8: 1/2" I9iEEE
* Bttt EEREHEE.

7 VIGOUR BEEl



Diaphragm Valve / fRHIEH

VDV33UC %5l
| PRl Ed
o ERTHESAHIESEIZETEEMA. SRS ESINSAERR
- HEREREE, BEENENZEEtEE, SHOm AR ISEE
o A FR, BRFHIERFRRES
- LERRYHESISMT
- EPtRERELE
« tEREERTRIA PCTFE, Vespel® / PFA ik e
EE / EhEHR
1/4 8
. HEL S
-10C, 205bar | | A0°C, 205bar | |
i I A R B L B
R e
e I
[ \ \ \ \ \
] i i A I B I T
| 1 1 1 | Ve
-10 0 20 40 60 80 100
EE (°Q)
I EARSE 2w
A LIEED: 3000 psig (200 bar)
SaATIEES: 58~87psig (4~6bar)
BRALIERE. 14°F ~ 104°F (-10°C ~ 40°C)
TEGEE: 7uin. Ra
R
BHK: FEITIS28
&R Elgiloy®
Ry PCTFE
FiR: AL
AERHREER: <1x10 mbar I/s He
AMERIHRER: <1x10° mbar I/s He
MBS 1/4" Cv=0.27, 3/8" 1/2" Cv=0.5
=HE: £90.27kg (BURTIERZSIEIT)

VIGOURIEE s



fEAEHE / Diaphragm Valve
VDV33UC %7l

I~=5RS (mm)

A I A I
| 5y ; 753
K ) | N @ )
N N
§ OPEN 07 T OPEN 0°
2-M5X0.8 ﬁk i ZD-FV:ASSXO,Q i
DP6 N 5
i SHs Sams
BB i
: L&
1/4 FaBY (VFS JMEL) 1/4 FapBY (VFS PIIELY)
A LIT " LT
i ~ q @ Y | ) 7 @ N
| { ) ! \ )
NS NS
= 2-M5x0.8 OPEN 0° : 2msx0.8~ OPEN O°
DP6 Y VISOUR E@ DP6 o |
o e RE B Gl e
I 4 B R
T L
E
1/2 FAY (VFS PUELY) 3/8, 1/2 FFhEL (VFS JMRLY)

-
|
|
|

2-M5X0.8~, |

= E”L - =1 ‘“La

1/4 SEEL (VFS SMELL HiF) 1/4 SEhEY (VFS MRS HTF)

£
|
|
|
|

A
|
I
|
|
= @
h

‘ 2M5x0.8
s C A
] 4l
L&
1/4 SEhEE (VFS RIREL HiF) 1/4 SEhBY (VFS RIRL HFF)

59 VIGOUR BEEl



Diaphragm Valve / [RiEKE
VDV33UC %3l

2-M5X0.8

== T o,
e

1/2 SEB (VFS pigi 2579) 3/8, 1/2 SEHEL (VFS SMBLY %)
FapE SEE (RFERE)
IROERE FLAORY]| R (mm) unCERE a7 | FLARY R (mm)
(mm) & B cC | E F] L |H (mm) ["A B | C D E]F[ L H
1/4" VFS AMBEL 4.4 »54 28 | 11.1 18 28 | 587 | 74 1/4" VFS §M2ay N.C 4.4 P56.5| 28 | 11.1 M5x0.8 | 18 28 | 58.7 | 90.5
1/4" VFS IR 4.4 P54 28 | 11.1 18 28| 716 | 74 1/4" VFS SMBEL N.O 44 »58 28 | 111 M5x0.8 | 18 28 | 58.7 | 134
3/8" VFS SMBEL 7 54 | 47.1 182 | 27 38 | 1222 86 1/4" VFS I8 N.C 4.4 ®56.5| 28 | 11.1 M5x0.8 | 18 28 | 71.6 | 90.5
1/2" VFS 4M2ey 7 54 | 47.1 182 | 27 38 | 123.2| 86 1/4" VFS RIBLL N.O 4.4 ®58 28 | 11.1 M5x0.8 | 18 28 | 71.6 | 134
1/2" VFS R4y 7 »54 | 471 (182 | 27 38| 123.2| 86 3/8" VFS SMZRLL N.C 7 ®56.5 [47.1]| 18.2 | M5x0.8 | 27 38 [122.2] 105
1/2" VFS §M2ar N.C 7 P56.5 [47.1]| 182 | M5x0.8 | 27 38 [123.2] 105
1/2" VFS iy N.C 7 56.5 |47.1| 182 | M5x0.8 | 27 38 |123.2] 105
147 ,3/8" 12" BHRIREEE, HUEESRESETI .
| A
VDV33UCSLV -M- A -MV4 - MV4 - PA -P
R t TZ2H5E
SLV: 316L ZRiAkE P: VSO01A * FEESER.
RS .
M: Fzh HEI ISR IR
PO: Sz (EF) * — 281 : PCTFE (inf)
PC: Sz (%) U IR VS: Vespel®
* SEMEFETERERTH1/4 thh MV4: 1/4" VFS 4B PA: PFA
FV4: 1/4" VFS PI#2E4Y
TW4:  1/4" |84Es
SEEAM — MV6: 1/2" VFS 4MZ& 3/8" O.D.
HEIIEEP66: SESHE. FV6: 1/2" VFS Riger 3/8" O.D

TW6: 3/8" IBiEEsE
MV8: 1/2" VFS 4MELY
FV8: 1/2" VFS PB4
TWS8: 1/2" 12§
* B, EEEAE.

VIGOURIEE oo



61

fBl&KE / Diaphragm Valve

VDV52UB 7%l

| P e

- ERTHSAHIERENRETESE. ZRSESHSRER
AT AR E

- EBEREE, BANBREITEE,

o AJRLFR, BRFIETFRRE
« UEAOHFSERE
« EPHREEREAME

« FERIEERAEL PCTFE, Vespel® / PFA @itk

VEE / ENER

40°C, 20bar

80°C, 17.8bar

I 5ARSH

BRATIEES:
SITVEES:
BATIERE.
RENEE:
15

S

R

eoE e

E= 3N
AEBHRE:
SERhRER:
mESH

B2

VIGOUR #&El

PCTFE i&JEE
PI/PA fRIEE

300 psig (20 bar)
58~87psig (4~6bar)

14°F ~ 176°F (-10°C ~ 80°C)
10uin. Ra

FITESE)

Elgiloy®

PCTFE

AL

<1x10° mbar I/s He

<1x10° mbar I/s He

1/4" Cv=0.3 3/8" 1/2" Cv=0.65
£90.27kg (BURTFIEREIEN)

1/4 8

1/4 B

1728

1/2 8



Diaphragm Valve / [GIEHE

VDV52UB %7l

VIGOUR

7
OPEN 0°
8
E—Q/lesxo.s\ |

E = T

A
i { ey \)
! \ )
NS
T OPEN 0
. N.C/N.O
" 2-M5x08 %2 2-M5X0.8
| S
| el R
L E =T E [
1/4,1/2 FanBY (VFS IR 1/2 SEHEL (VFS IREY)
FohEd SHhE (BEREER)
O AORT R (mm) O Wanss | AORT R (mm)
(mm) A B| C E FI L]H (mm) A B C D E FIL[H
1/4" VFS SMBE 44 D45 | 26 | 11 | ®25.4 | 26 | 57 | 64 1/4" VFS SMB5 N.C/N.O 44 | ®396] 26 | 11 M5x0.8 | ®25.4| 26 | 57 | 70
1/4" VFS R 44 D45 | 26 | 11 ®254 | 26 | 71 64 1/4" VFS R N.C/N.O 44 ®39.6] 26 | 11 M5x0.8 | ®25.4| 26 71170
3/8" VFS 4MBE 7 D45 | 36 |18.2 928 36| 77 | 78 3/8" VFS JMEH N.C/N.O 7 55 | 36 | 18.2 RC 1/8 ©28 36 77 | 78
1/2" VFS GMBEL 7 45 | 36 |18.2 928 36| 77 | 78 1/2" VFS §MBE N.C/N.O 7 ®55 | 36 |18.2 RC 1/8 ©28 36 77 | 78
1/2" VFS R 7 45 | 36 |18.2 28 36| 83 | 78 1/2" VFS R N.C/N.O 7 ®55 | 36 |18.2 RC 1/8 28 36 83 | 78
| BARAES
VDV52UBS - M - A-MV4 - MV4 - PA - P
WIS 4 ] TZH58
S: 316L Z=H: VS001B
P: VSO01A
EjJ * HEES MR,
EleIya =
M: Fzh HREEISE I
PO: Sz (EF) FTT—Y Z=H: PCTFE (t7/E)
PC: Sz (Bi) U %S VS: Vespel®
MV4: 1/4" VFS JMEBLL PA: PFA
_ FV4: 1/4" VFS Pty
SEEEM TW4: 1/4" i@
PEHZEP66: SIEHEE., MV6: 1/2" VFS ML 3/8" O.D.
FV6: 1/2" VFS (igze 3/8" O.D.
TW6: 3/8" IZisiEe
MV8: 1/2" VFS HMELL
FV8: 1/2" VFS pgigsy
TWS8: 1/2" |BisEs
* EthERE, EERAEE.
VIGOURBEE s

1/4 Szhad (VFS SMEL)




63

f5lEKE / Diaphragm Valve

VDV52UC 7l

P s

- ERTHSAHIERENRETESHE. ZRSESHSRER
AT AR E

- EBEAEE, BANBREITEE,

o JRHFE, BRFIEFRRE

« UEAOHFSIE
« EPHREEREAME

« FERIEERAEL S PCTFE, Vespel® / PFA @itk

VEE / EhER

40°C, 20bar

80°C, 17.8bar

SN

I 5ASEL

BRATIEES:
SITVEES:
BATIERE.
RENEE:
AR

S

R

eoE e

E= 3N
AEBHRE:
SMERhRER:
mESH

B2

VIGOUR #&El

iBE (°C)

N
)
IN
S
)
o
©
)
=
[y —
)
P
[y —
S
I
[ —
S
=
oy I
=)
I~
[y —
)
n
o
)

PCTFE i@EE
PI/PA fRIEE

300 psig (20 bar)
58~87psig (4~6bar)

14°F ~ 176°F (-10°C ~ 80°C)
7uin. Ra

FITESE)

Elgiloy®

PCTFE

AL

<1x10° mbar I/s He

<1x10° mbar I/s He

1/4" Cv=0.3 3/8" 1/2" Cv=0.65
£90.27kg (BURTFIEREIEIN)

1/4 8

1/4 B

1728

1/2 8



Diaphragm Valve / [RiEiE
VDV52UC &7l

=58RS (mm)

VIGOUR

s
2M5X0.8~¢ |

’T){ DPGE,

E = T

1/4 SEhEY (VFS JMEL)

S
I OPEN 0
. N.C/N.O
2-M5x08 18 ! 2-M5X0.8
EE@T DP6 ™~ = DP6 i
__\ . —
{H :[ I 1.| i I=V |
il{p==li e p S Y
: Wi st X
L £ il E =

1/4, 1/2 FanBY (VFS IR 1/2 SEHEL (VFS RIRL)

- — PR
Fapm SanE (RHEER)
iR FLORY R (mm) prmpezc Rans | FLORY R (mm)

(mm) AT B[ C E FI L [H (mm) AT B[ C D E FILIH
1/4" VFS §h25 44 | ®45 | 26 | 11 | ®254 | 26 | 57 | 64 1/4" VFS 51855 NC/NO | 44 |®396] 26 | 11 | M5x08 |®254] 26 | 57 | 70
1/4" VFS RIS 44 | 045 |26 [ 11 | @254 26| 71 |64 1/4" VFS I NC/NO | 44 |®396] 26 | 11 | M5x08 |®254] 26 | 71 | 70
3/8" VFS 5Mg 7 | ®45 [ 36 [182 | ®28 | 36| 77 | 78 3/8" VFS 5MEEX NC/NO | 7 55 | 36 [182| RC1/8 | @28 | 36 | 77 | 78
1/2" VFS 5Mgi 7 | @45 |36 [182 | ®28 | 36| 77 | 78 1/2" VFS 5hg5 NC/NO | 7 ®55 | 36 | 182 | RC1/8 | ®28 | 36 | 77 | 78
1/2" VFS RiBs 7 | @45 |36 [182 | 28 | 36| 83 | 78 1/2" VFS REZ NC/NO | 7 55 | 36 | 182 | RC1/8 | ®28 | 36 | 83 | 78

1iTWE4
VDV52UCSLV - M - A - MV4 - MV4 - PA - P

| L

R TIZ2H5E
SLV: 316L ZiRiEkE P: VSOO1A “ EEESANR.

EFT REEISETN

M: Fal 2SE3: PCTFE (17
PO: Sz (%) S flz\/E|S: Vespelgj—ﬁ)
PC: Sa (FiF) I %8 PA: PFA

MV4: 1/4" VFS SMBLY
FV4:

ST
BEMIEP6: SEEITHE,

TW4:
MV6:

FV6:
TW6:
MV8:

FVv8:
TWS:

1/4" VFS P24y

1/4" RIEiEE

1/2" VFS 4M&8LL 3/8" O.D.
1/2" VFS pgigey 3/8"
3/8" IREEE

1/2" VFS 4MB&y

1/2" VFS R847

1/2" {RiEEE

* HtiEsEingE, SENEHESE.

O.D.

VIGOUR #&El

64



Diaphragm Valve / [GIEHE
SEREE

1 ixO0=EA:
[4]
4,
< - *P1: HSER
1|€ 4|3 :
(5] *P2: HSES
¥ P
I BisORESKE:
P,
[t]>» I%lpz .
*Pl *PZ Q
1> +[3] ‘e ° P |+
*
| =RORESKE
Pl PZ P2 Pl PZ PZ PZ Pl
[1]» -»>[3] [1]« <[3] [1]« -»>[3] (1]« «[3]
* P + P, * P * P1
“cr Bl “D" #® ) “FroBY
Pl PZ Pl Pl
- »E @ «[3
* P, + P,
R ) H" B
I pﬂlﬁ'ﬁui 1L E’:\ft%
[4]
4p, 40, v,
P. P, Py P Py Py
1> >E @ «B @ «[3]
v P: VP 4P,
0 m S Lom

VIGOUR #&El

66



f5lEKE / Diaphragm Valve
VDV22UB %%

IR

o BERTHESAHIERSTIRIETBEME. ZRSESNSIRER
- EERREE, BEEHIZEYEE, SO ATiNSEtE
o A FR, BRFIRFFRRE

« EPHRAERERLIE

o TRERRRER )9 PCTFE, Vespel® / PFA EJi%

VEE / ENER

| | I _40°C, 10bar 80°C, 8.9bat | | | |
[ [ [ [ [ [ [ [
\ \ \{ \ /| 100°C,8.4bar | \ \ \
10 A T T
= \ \ I A \ 50°C. 7 6ba \
s \ \ \ \ [ i S | \
o) \ \ \ \ [ [ lo [ [
— \ \ \ \ \ \ I \ \
R ST o AT T i B i bt B b
H \ \ \ \ \ \ (I \ \
[ [ [ [ [ [ [ [ [
\ \ \ \ \ \ [ \ \
| | | | | | [ | |
10 0 20 40 60 80 100 120 140 160 180 200
. —— PCTFE &Rz
mE (°C)

————— PI / PFA i

I EeAR&E
A LIEED: 150 psig (10 bar)
Sa)TIEEN: 58~87psig (4~6bar)
BALIERE: 14°F ~ 176°F (-10°C ~ 80°C)
FENEE: 10pin. Ra
(%5
(SN ERITESE
&R Elgiloy®
RZEDE S PCTFE
FiR: AL
SRR <1x10° mbar I/s He
SRR <1x10° mbar I/s He
RESH: 1/4" Cv=0.3 1/2" Cv=0.65
BB #£90.36kg (BURTFIERET)

& VIGOUR tEEl



Diaphragm Valve / [Gi&iZ

VDV22UB %7l

I ~=RRY (mm)

2-M5x0.8
DP6

63.5

1/4 FEBY (VFS SMEL)

82

1/2 FhBd (VFS SMELR)

1iT2

PR

S: 316L

TS

M: Fzf

PO: S35 (E)
PC: Sz (Ei)

2-M5x0.8
DP6

VDV22UBS - M - MV4 - MV4 - PA - P

—

Im iR
MV4: 1/4" VFS SMBEL
MV8: 1/2" VFS JMBL

* HfthiERinE, ES0EED.

L

®39.6

1/2 SEEY (VFS JMELY)

TZ/58
5[ VS001B

P: VSOOTA
" HRESANR,

IR EEISE T
z=H: PCTFE (fnf)

VS: Vespel®
PA: PFA

VIGOUR #&El

68



(KEHSTUEIERE / Low-pressure Diaphragm Valves Manifold

VDV36UB %7l

| P

BTSN VDV32MRIERASE—MRIR L,

ST B/IMERTIRIE, MMSEH TSRS,

LA JEEEDRIIREE
SRERN, BOEERE
REAVEE
REBTTIL

I~=5RY (mm)

73

AV

BRATIEESD:

SEMREES:

BRATIERE.

RENEE:

L5

B

EA:

eIy

ES TN

hEER: (D)
(9hEB)

RESE

Sl

o

o  VIGOUR EE

. R (mm)
b
A B
VFS(F) 31 39
VFS(M) 46.3 46.3
o RS (mm)
R
A B
VFS(F) 103.4 | 57.3
VFS(M) 139.6 70

150 psig (10 bar)
58~87psig (4~6bar)

14°F ~ 104°F (-10°C ~ 40°C)
10uin. Ra

FEIITIES
Elgiloy®

PCTFE

AL

<1x10 mbar I/s He
<1x10° mbar I/s He
Cv=03

#91.36kg (BURTIEEELISEIN)




Low-pressure Diaphragm Valves Manifold / {§[EHS I IR
VDV36UB %5l

172

(2] [3] [1] [z] [&] [a]
C Type D Type
— W/ HREE

MV4: 1/4" VFS JMBEL
FV4: 1/4" VFS PR
TW4: 1/4" |2#ES

* HEEENE, BEIREE.

| [ 1

| %D%ﬁ&% |
VDV36UBS-A-M-PC- 1 -2 - 3-P

MR J L TS

S: 316L ZSH: VS001B
P: VSOO1A

. * FEESER.

MERIZEIN X L

A AT 12 HTHI

: y 9 = -
e e E 11 HTHIE L -
PO: S&l (FFF)

PC: Sz (HiF)

| ApAE]

VDV36UBS - C - PC - PC - FV4 - FV4 - FV4

I |
1 -2 - 3

VIGOURIEE



(KEHSTUEIERE / Low-pressure Diaphragm Valves Manifold

VDV36UC %5

71

P

« BIHRENVDVIARIREBEE— MK L,

ST B/IMERTIRIE, MMSEH T ISR SERFIL.

LA JEEEDRIIREE
SRERN, BOEERE
REAVEE
REBTTIL

I ~=RR~S (mm)

73

I 5ASEL

BRATIERES:

SHHREES:

BRALIERE.

FENEE:

(%5

B

EA:

EE

ES TN

R (MER)
(4hEB)

MESE

ESb=—o

VIGOUR #&El

s R (mm)
PomjuzE
A B
VFS(F) 31 39
VFS(M) 463 | 463
— R (mm)
L gEE
A B
VFS(F) 1034 | 57.3
VFS(M) 139.6 70

150 psig (10 bar)
58~87psig (4~6bar)

14°F ~ 104°F (-10°C ~ 40°C)
7uin. Ra

TS0

Elgiloy®

PCTFE

AL

<1x10° mbar I/s He

<1x10° mbar I/s He

Cv=03

£9 1.36kg (BURTERESIEIN)




Low-pressure Diaphragm Valves Manifold / {§[EHS I EIEHE
VDV36UC %3l

1iTaS

C Type D Type
— B/ HSEE

MV4: 1/4" VFS HMB&t

FV4: 1/4" VES P8E8L

TW4: 1/4" 1SEs

© TR, BEIETR.

| | |
| :rﬁlilﬁzlitﬁﬁj |
VDV36UCSLV-A-M-PC- 1 - 2 - 3-P
MR J L TZ2H5E
SLV: 316L ZixyakE P: VSO01A “ EIEESEIER.
PRSI &2 HATHIAE
e P'\g: iuszJJ (FFF)
B: BH! Vs = S (B
& ea 11 HUTHIG PC. =2 ()
D: D8I M: FF
PO: Sz (EF)
PC: 531 (i)
N ALY 4
I Taz5)

VDV36UCSLV - C - PC - PC - FV4 - FV4 - FV4

I |
1 -2 - 3

VIGOURIEE



=EHEESTUIEIER / High-pressure Diaphragm Valves Manifold
VDV46UB %%

| P

« BIREFAANVDV33IRIRAASE—MRIA L,
ST T B/AMERSIRIE, MTISCEL T IR0 SE .
o HRERI TEEEDRIIRE
« GRERN, BO=ERE
o RERE

- IERFCHEA
1~%RY (mm)
§ 2-M5x0.8
§ . DP6
| : : | 40
Ties A—Lﬁj
approx. 175
I BARSE
BATIEED: 3000 psig (200 bar)
SEEREES: 58~87psig (4~6bar)
RATIERE. 14°F ~ 104°F (-10°C ~ 40°C)
FENEE: 10pin. Ra
MR
B HITESE
Rk Elgiloy®
e PCTFE
Fi: AL
=R (WER) <1x10° mbar I/s He
(51EB) <1x10°° mbar I/s He
RESH Cv=0.1
52 £9 1.36kg (BURTFIEREEIEIN)

7 VIGOUR EE



High-pressure Diaphragm Valves Manifold / SEHASTIEIEE
VDV46UB 5

T2

/SR

MV4: 1/4" VFS JMBLY
FV4: 1/4" VFS PRIRLY
TW4: 1/4" 1BfZEE

* HEERnE, BEEHE.

[ ]
| f%l:lﬁ?litiﬁ% |
VDV46UBS -PC-PC- 1 - 2 - 3-P

R J TZH58

Z=H: VS001B
S: 316L P: VSO01A
* FEESANR.

@1 HATHE S @2 HFATHE
PC: Sa (i) PC: Saf (%)

IiTaEs)

VDV46UBS - PC - PC - FV4 - FV4 - FV4
| | |
1 -2 -3

VIGOURIEE



=EHSIIREIER / High-pressure Diaphragm Valves Manifold
VDV46UC %1

It

« BIREFAANVDV33RIRAASE—MRIE L,
ST T BRAMERTIRIE, MTISCEL T IR A0S e,
« LRI TEEEDRIIFE
« GRERN, BOTENRE
o RERE

- IERFHEA
1~%RY (mm)
§ 2-M5x0.8
§ . DP6
| : : | 40
Ties A—Lﬁj
approx. 175
I 5ARS%
BATIEED: 3000 psig (200 bar)
SENEREESD: 58~87psig (4~6bar)
RATIERE. 14°F ~ 104°F (-10°C ~ 40°C)
FENEE: 7uin. Ra
MR
B HITESE
Rk Elgiloy®
L PCTFE
Fi: AL
=R (WER) <1x10° mbar I/s He
(51EB) <1x10°° mbar I/s He
RESH Cv=0.1
52 £9 1.36kg (BURTFIEREEIEIN)

s VIGOUR BEEl



High-pressure Diaphragm Valves Manifold / SEHASTIEIEE
VDV46UC %7

T2

/SRR

MV4: 1/4" VFS JMBLY
FV4: 1/4" VFS RIBLL
TW4: 1/4" 1BfZEE

* HEERnE, BEEHE.

| F%I:lﬁélitiﬂ% |
VvVDV46UCSLVY -PC-PC- 1 - 2 - 3-P
J L TEHB
(R P: VSOO1A * EEESIHS.
SLV: 316L ZixR¥Aks
&1 AT — &2 HATHIAE

PC: Sz (i) PC: =& (%)

| pAaE]

VDV46UCSLYV - PC - PC - FV4 - FV4 - FV4
| | |
1 -2 -3

VIGOURIEE 7



77

PE0EH8 / Diaphragm Valve
VDV37UB %%l

IR

s BRTHSARIERSINLETESS. ZNSESHSKER

- EBRREE, BRNBRITEIITEE,
< AR, BRFEFORES

 RAOHFSIRE
« EPFRESRMEARLE

SHRTIREREE

o FnERREERAELS PCTFE, Vespel® BJi%k

VEE / ENER

£ (Bar)

40°C, 17bar

80°C, 15.1bar

iBE (°C)

I 5iRSE

BRATIERESD:
SENTIEES:
BRATIERE.
TENGEE:
%5

B

fER:

BETRy:

ES TR

AERt R
HNEBiRER:
MESEH

58

VIGOUR #&El

—— PCTFE (@EE
————— Pl / PFA HREE

250 psig (17bar)

80~100 psig (5.5~6.8bar)
-40°F ~ 159°F (-40°C ~ 71°C)
10pin. Ra

see ordering info

Elgiloy®

PCTFE

AL

<1x10° mbar I/s He

<1x10° mbar I/s He

Cv=2.8

#91.36kg (BURTIELELIEIN)

172" S

172" Faps



Diaphragm Valve / [GiEiE
VDV37UB %7l

=58RS (mm)

2-M5
AR DP6

7j — iﬁi}l OP;" 0 clze 900
Ay il " .
IPUNENE

]
B
Fapiy

A
; nHOERE AR RS (mm)
‘ (mm) A B C E F G L H
| 1/2"_VFS 9N 10.2 ®57 [ 63.2 142 | 439 | 377 | 254 | 1346 | 80
‘ 5 1/2" VFS RIBL 102 57 | 63.2 | 142 | 439 | 37.7 | 254 | 1346 | 80

- 3/4" VFS MBS 12.8 ®57 [63.2 142 | 439 | 377 | 254 | 162.6 | 80

: 2-M5 3/4" VFS PIBEL 12.8 O57 | 63.2 | 142 | 439 | 37.7 | 254 | 162.6 80
= Al DP6
Il

o ,i‘i]u
ﬂ@l@@ ,$,+,Jh ° SapE (FiA)
@ T 7%@1 L%J O AORY R (mm)
L

(mm) A B C D E F G L H
1/2" VFS SMER 102 | ®63 | 632 | 142 | M5x0.8 | 439 | 37.7 | 254 | 1346 | 125
1/2" VFS pigsy 102 | ®63 | 632 | 142 | M5x0.8 | 439 | 37.7 | 254 | 1346 |125
3/4" VFS 5MBEL 128 | ®63 | 63.2 | 142 | M5x0.8 | 439 | 37.7 | 254 | 162.6 | 125
3/4" VFS piger 128 | ®63 | 63.2 | 142 | M5x0.8 | 439 | 37.7 [ 254 | 162.6 | 125

| RAYACS S
VDV37UBS - M - MV8 - MV8 - VS-LO-P

WM& J L TZ/H5E

<. 3160 Z*H: VS001B
P: VSOO1A

) * FEESENR.

XA 1

M: Fz — 1

PC: Szh (Ei) lfélﬁ EFZFR

LO: B FHRikHiEie e

i I

FV8: 1/2" VFS pgigey ey
MV8: 1/2" VFS SMEL Sa— | 557

FV12: 3/4" VFS po8gsy ZSH: PCTFE (frf)
MV12: 3/4" VFS SMBL VS: Vespel®

* BRI, IEEREHERE.

VIGOUR #&El

78



PE0%H8 / Diaphragm Valve

VDV37UC &%l

P

« BRTHSARIERSIRETESS. ZNSESHSRER

- BBRREE, BANBRITEIITEE,
< AICFR, BRFEFORS

 URAVHFSIRE
« EPFRESRMEALE

SHATIRERES

o FnERREERELS PCTFE, Vespel® GJi%k

VEE / ENER

EH (Bar)

40°C, 17bar

80°C, 15.1bar

I 5ARSEL

BRATIERES:
SENTIEES:
BRATIERE.
TEGEE:
L[5

B

BB A

TRy

FiR:
RERtHRER:
HNEBitRER:
RESE

58

VIGOUR #&El

—— PCTFE i@EE
————— PI / PFA [BEE

250 psig (17bar)

80~100 psig (5.5~6.8bar)
-40°F ~ 159°F (-40°C ~ 71°C)
7uin. Ra

see ordering info

Elgiloy®

PCTFE

AL

<1x10° mbar I/s He

<1x10° mbar I/s He

Cv=2.8

£91.36kg (BURTFIEREEIEI)

172" S

172" Faps



Diaphragm Valve / [GiEiE
VDV37UC &5l

=58RS (mm)

2-M5
DP6

j N i’f :I open 0 close 90°
ol el 27
IPUNENE
B
Fanm
A O FORT R (mm)
‘ (mm) A B C E F G L H
; 1/2" VFS fMger 10.2 57 | 63.2 | 142 | 439 37.7 | 254 134.6 80
‘ 1/2" VFS patgsy 102 | ©57 | 632 | 14.2 | 439 | 37.7 | 254 | 1346 | 80
! }P 3/4" VFS GBI 128 | ©57 | 632 | 14.2 | 439 | 37.7]| 254 | 1626 | 80
M5 3/4" VFS pigiy 128 | ©57 | 632 | 14.2 | 439 | 37.7 | 254 | 1626 | 80
* AP DP6
= i iv1 N
IGoU 7$7+7% SEHE (FBiF)
- ] T
[ %ﬂq L F ] R AART R (mm)
5 (mm) A | B C D E Fl G| L [H
L 1/2" VFS 4y 102 | ©63 | 632 | 14.2 | M5x0.8 | 43.9 | 377 | 254 | 1346 |125
1/2" VFS patsy 102 | ©63 | 632 | 14.2 | M5x0.8 | 43.9 | 37.7 | 254 | 1346 |125
3/4" VFS SMBIY 128 | ©63 | 63.2 | 14.2 | M5x0.8 | 43.9 | 37.7 | 254 | 162.6 | 125
3/4" VFS pigi 128 | ©63 | 63.2 | 14.2 | M5x0.8 | 43.9 | 37.7 | 254 | 162.6 | 125
N M
| BN
VDV37UCSLV - M - MV8 - MV8 - VS-LO -P
L 4 =
WM& J TZ/e
SLV: 316L =/Riak: P: VSOO1A * FIEES AR,
— N,
EeIya = BEIR

M: ZFz
PC: Sah (Fi)

U

FV8: 1/2" VFS PB4
MV8: 1/2" VFS 4MB&L
FV12: 3/4" VFS po8gsy
MV12: 3/4" VFS §ME%

* BRI, IEEREHERE.

=H: BFFR
LO: EFZFARIR Tt tiiE

Z=H: PCTFE (trf)
VS: Vespel®

VIGOUR #&El

80



81

f5l&KE / Diaphragm Valve
VDV38UB 7%l

It

« ERTHSHHERSMRETESN. ZRHESHSHER
- HEEREY, BENMNESMTE, SHImRTMEEE

o TR, BRHEFRRS

o MBAIHESSE

o EPFREREGE

o TRERIEERA#H9 PCTFE, Vespel® AJik

1/2" SzhEd
LR / ENE
250 | | | | | |
| aolcoosbar | 0 a0°co0s0hr I o
i A A R T
= | | | | |
§ 150’77}7777777}777777777777} 777777 S }77” 1/2" FapE
P N S RN S
[ \ \ \ \ \
S I — A I B T T
. I
-10 0 20 40 60 80 100
BE (°C)
1/2" ERFWH
I EARSE
BRATIEES: 3000 psig (200 bar) / 1300 psig (90 bar)
S TEED: 70~110 psig (5~8bar)
BRATIERE.: -40°F ~ 150°F (-40°C ~ 65°C)
RENEE: 10pin. Ra
R
B IS0
&R Elgiloy®
oEEs N PCTFE
ESTR AL
HEBHRER: <1x10° mbar I/s He
AMERIHRER: <1x10*° mbar I/s He
RESE F&) Cv=1.0
S50 Cv=1.0 (90bar) / Cv=0.7 (206 bar)
=& 29 1.36kg (BURTFERZIEIR)

VIGOUR #&El



Diaphragm Valve / [Gi&iE
VDV38UB %7

=58RS (mm)

open 0° close 90° 1/4" VFS SMBE 44 ®47.8 150.8 | 18.2 | ®38.1 | 38 | 102 | 100

=4 1/4" VFS I24L 44 ®47.8 | 50.8 | 18.2 | ®38.1 | 38 | 102 | 100
1/2" VFS JMER 7 ®47.8 | 508 | 18.2 | ®38.1 | 38 | 123 | 100
1/2" VFS RIEE ®47.8 | 508 | 18.2 | ®38.1 | 38 | 123 | 100
3/4" VFS JMEX 508 | 18.2 | ®38.1 | 38 | 178 | 100

AN 2N {EEFEHEL (90bar)
FAnW e e

\{-/) \k_) IROERE AORY R (mm)

= == (mm) A B C E | F] L[H
27

~ |~
i3
=
J
o

3/4" VFS RIBE ©47.8 | 50.8| 182 | ®38.1 | 38 | 178 | 100
{RESENEL (FiF) 90bar)
R AORY RS (mm)

(mm) A B | C D E FILH
1/4"_VFS 585 44 | ®503 [50.8] 182 | M5x0.8 [ ®38.1] 38 | 102 | 148
1/4" VFS RIBE 44 | 503 [508] 182 | M5x08 [ @38.1] 38 [ 102 [ 148
1/2" VFS 5MBE 7 503 | 50.8] 182 | M5x0.8 | ®38.1 38 | 123 | 148
1/2" VFS pPige 7 ©50.3 |50.8] 182 | M5x0.8 | ®38.1] 38 | 123 [148
3/4" VFS 5MB5 7 503 [508] 182 | M5x0.8 [@#38.1] 38 [178 [148
3/4" VFS RIBS 7 503 | 50.8] 182 | M5x0.8 | ®38.1 38 | 178 | 148

i D BESEE (FiF 206bar)
)
R AORY R (mm)
(mm) A B | C D E FIL[H
- 1/4"_VFS 585 44 | ®503 [50.8] 182 | M5x0.8 [ ®38.1] 38 [ 102 [125
1/4" VFS RIBS 44 | 503 [508] 182 | M5x0.8 | #38.1] 38 [ 102 [125
1/2" VFS 5MEE 7 503 [ 50.8] 182 | M5x0.8 | ®38.1 38 | 123 [125
1/2" VFS Pige 7 503 |50.8] 182 | M5x0.8 | ®38.1] 38 | 123 [125
3/4" VFS SMB5 7 503 [508] 182 | M5x08 [@#38.1]38 [178 [125
3/4" VFS RIBS 7 503 | 50.8] 182 | M5x0.8 | ®38.1 38 | 178 125

BRI
VDV38UBS - M - MV8 - MV8 - VS-H-L-P

J L TZH5E
%Egm ZS[: VS001B
' P: VSOO1A
* FEBSENR,
XA 1EIN
M: ?Ebﬂ =ur. A
e =H: EfFHE
PC: S5pE! (BiA) LO: Ef.Fikik HiEiE e
L. EfRFH
s EE —— TI{EEH
MV4: 1/4" VFS SMZey MV8: 1/2" VFS 4MZLy H: 3000 psig*
FV4: 1/4" VFS pRigsy FV8:1/2" VFS RIZLZ M: 1300 eic
TW4: 1/4" {2 s TW8: 1/2" 12igisrer Sy
MV6: 1/2" VFS §pZsz 3/8" O.D. MV12: 3/4" VFS HMELY ARIEOp.
FV6: 1/2" VFS puigsy 3/8" O.D. FV12: 3/4" VFS pigsy T
TW6: 3/8" ifinE TW12: 3/4" {Risise ——  EEEEIR .
* BT, WA, =R PCTFE ()

VS: Vespel®

VIGOUR #&El



83

f5l&KE / Diaphragm Valve
VDV38UC 7%l

| P

« ERTHSHHERSMRETESN. ZRHESHSHER
- HEEREY, BENMNESMTE, SHImRTMEEE

o TR, BRHEFRRS

o MBAIHESSE

o EPFREREGE

o TRERIEERA#H9 PCTFE, Vespel® AJik

1/2" SzhEd
VEE / EhER
250 | | | | | |
| aolcoosbar | 0 a0°co0s0hr I o
i A A R T
= | | | | |
§ 150’77}7777777}777777777777} 777777 S }77” 1/2" FapE
P N S RN S
[ \ \ \ \ \
S I — A I B T T
. I
-10 0 20 40 60 80 100
BE (°C)
1/2" ERFWH
I EARSE
BRATIEES: 3000 psig (200 bar) / 1300 psig (90 bar)
S TEED: 70~110 psig (5~8bar)
BRATIERE.: -40°F ~ 150°F (-40°C ~ 65°C)
RENEE: 7uin. Ra
R
B IS0
&R Elgiloy®
oEEs N PCTFE
ESTR AL
HEBHRER: <1x10° mbar I/s He
AMERIHRER: <1x10*° mbar I/s He
RESE F&) Cv=1.0
S50 Cv=1.0 (90bar) / Cv=0.7 (206 bar)
Ei £91.36kg (BURTERZLIEIN)

VIGOUR #&El



Diaphragm Valve / [Gi&iZ
VDV38UC &7l

I ~=5RY (mm)

open 0° close 90° 1/4" VFS SMBE 44 ®47.8 1 50.8 | 18.2 | ®38.1 | 38 | 102 | 100

=4 1/4" VFS I24L 4.4 ®47.8 | 50.8 | 18.2 | ®38.1 | 38 | 102 | 100
1/2" VFS MBS 7 ®47.8 | 508 | 18.2 | ®38.1 | 38 | 123 | 100
1/2" VFS RIEE P47.8 | 508 | 18.2 | ®38.1 | 38 | 123 | 100
3/4" VFS JMEX 508 | 18.2 | ®38.1 | 38 | 178 | 100

AN 2N {EEFEHEL (90bar)
FAnW e e

\{-/) \k_) IROERE AORY R (mm)

= S (mm) A B C E [ F] L[H
27

~ |~
I3
=
J
o

3/4" VFS RIBE ©47.8 | 50.8| 182 | ®38.1 | 38 | 178 | 100
{RESENEL (FiF) 90bar)
R AORY R (mm)

(mm) A B | C D E FILH
1/4"_VFS 5M85 44 | ®503 [508] 182 | M5x0.8 [ ®38.1] 38 | 102 | 148
1/4" VFS RIBE 44 | 503 [508] 182 | M5x0.8 | @®38.1] 38 [ 102 | 148
1/2" VFS 5MBE 7 503 | 50.8] 182 | M5x0.8 | ®38.1 38 | 123 | 148
1/2" VFS pRige 7 503 |50.8] 182 | M5x0.8 | ®38.1] 38 | 123 [148
3/4" VFS 5MB5 7 503 [508] 182 | M5x0.8 [®38.1] 38 [178 [148
3/4" VFS RIBS 7 503 | 50.8] 182 | M5x0.8 | ®38.1 38 | 178 | 148

i D BESEE (FiF 206bar)
)
R AORY R (mm)
(mm) A B | C D E FILH
- 1/4"_VFS 585 44 | ®503 [50.8] 182 | M5x0.8 [ ®38.1] 38 [ 102 [125
1/4" VFS RIBES 44 | 503 [508] 182 | M5x0.8 | #38.1] 38 [ 102 125
1/2" VFS 5MEE 7 503 | 50.8] 182 | M5x0.8 | ®38.1] 38 | 123 [125
1/2" VFS Pige 7 503 |50.8] 182 | M5x0.8 | ®38.1] 38 | 123 [125
3/4" VFS 5MB5 7 503 [508] 182 | M5x08 [@#38.1]38 [178 [125
3/4" VFS RIBR 7 503 | 50.8] 182 | M5x0.8 | ®38.1 38 | 178 125

| RAYAES 5
VDV38UCSLV - M - MV8 - MV8 - VS-H-L-P

J —
1:2”33 }?;;:)’FA * FIFBEESNR.
SLV: 316L Z)RIAME : i
- . PRI
X=NHE =0 BfFRE
M: FzhEd LO: EfFikik HhEiEsiE
PC: SzhE! (EiF) (B=}=E= ]
e —— TEED
i I H: 3000 psig*
MV4: 1/4" VFS pg;fg MV8: 1/2" VFS ngégész M: 1300 psig
FV4: 1/4" VFS pigs FV8: 1/2" VFS pRigL R34 B 16500
TW4: 1/4" Jeistses TWS: 1/2" {2ipees ERO1R3/4" ESA1650psig.
MV6: 1/2" VFS Mgz 3/8" O.D. MV12: 3/4" VFS 4MBsy e
FV6: 1/2" VFS puigsy 3/8" O.D. FV12: 3/4" VFS pRiBLL —  {REE%EIN
TW6: 3/8" |2tz TW12: 3/4" iSEE Z5[: PCTFE (KRf)
* BN, IESREEE. VS: Vespel®

VIGOUR #&El



fEiEHE / Diaphragm Valve
VDV39UB %57l

IR

- BRTEMESANARE. SHESE
- HEEREN, BEEMUNESTE, SHNTRTEEtt
- JRNFER, BRFETFRRS

HRAHESET
+ EPREESRMEANE

IEE / EhER

W@EERAET: PCTFE (7fE) , Vespel®/ PFA (HJi)

40°C, 17bar 80°C, 15.1bar
2 Tl wogaazet T
] B S/ /A 7%:7 }150“0, ]J‘2.9bar }77
= \ \ ol \ \
R | | I | |
| L A T N O N
10 0 20 40 60 80 100 120 140 160 180 200
N —— PCTFE &
sE O PI/ PFE%}E
I EoARSEL
BRAIT(EEN: 270 psig (18.6 bar)
BATIERE: 14°F ~ 176°F (-10°C ~ 80°C)
FENEE: 10pin. Ra
MR
A FETWEE
B Elgiloy® (316L &)
HRIEE: PCTFE (PFA / Vespel® BJ3%)
FiR: AL
REBiHER: <1x10° mbar I/s He
HMERittEESR: <1x10° mbar I/s He
MESH: Cv=238
=& £9 1.45kg (BURTFERETRIELT)

VIGOUR #&El

3/4" FohE

172" FehE



Diaphragm Valve / [Ri&EiE
VDV39UB %5l

) a®® @ 7 a®®
] 7 W T ERw \X
50 !

50 50

3/4 Faf) (VFS PHIER) 1/2 FFaf (VFS AEL)

%
0
VIGOUR e A‘N\S VIGOUR
Max Pros. 18.8Bar @50( P L
Ty Hhh P |/ =]
g
i rreial //w
50
| 133 s0

3/4 Ff) (VFS JMEL) 1/2 Ff (VFS JMEL)

| A5
VDV39UBS - M - MV8 - MV8 - PA-P
IR J gazf*%:;%om
s: 316L P: VSOO1A
_ * EEESANIR,
HATHAE !
M: Fah —— REEMR
FOTI, ZS[9: PCTFE ()
iR VS: Vespel®T
FV12: 3/4" VFS pigsy PA: PFA
MV12: 3/4" VFS JMBLL

TW12: 3/4" |25
FV8: 1/2" VFS PIi8Lr
MV8: 1/2" VFS JMBL
TW8: 1/2" Jefsse

* EfERETE, BEDEHE.

VIGOURIEE s



f5l&KE / Diaphragm Valve

VDV40UB 71

It m

« BERTHSHHIERSMRETESN. ZRHESHSHER
- HEEREY, BEMMNESMTE, SHIOTREMEEE

o TR, BRHETFRRS

- RRAIHESS

o EPFRERELGE

o TRERIEERAFH9 PCTFE, Vespel® AJik

IEE / EhER

| |
/O -
-10%C., 205bar T 7‘ 40°C, 205bhr } ‘r
| | | | |
200 == ===~ T I e "
. | | | | |
(= | | | | |
m 150777‘7777777‘777777777777‘ 777777 ‘ 777777 ‘7777
o
= | | | | |
e S
is} \ \ \ \ \
sob——L_——__ N P o [ L.
| | | | |
| | | | |
L L L L L
10 0 20 40 60 80 100

I SRS

BRALIEES:
S ITIEES:
BATIERE.
RENEE:
AR

B

R

oD

FA:
AEBHRER:
HMEBhRER:
RESE

=&

27 VIGOUR BEEl

3000 psig (200 bar)

70~110 psig (5~8bar)

-40°F ~ 160°F (-40°C ~ 71°C)
10uin. Ra

FEITIESE

Elgiloy®

PCTFE

AL

<1x10° mbar I/s He

<1x10° mbar I/s He

S5 Cv=0.23 Fz#) Cv=0.29
£91.27kg (BURTEEESIAR)

14" FaE

1/4" BERFR



Diaphragm Valve / [Gi&iZ
VDV40UB %71

=5 RY (mm)

Fad
IO LART RS (mm)
(mm) A B C E F L H
1/4"_VFS yhMgs 44 ©47.5 | 284 | 11.2 | ®254 | 284 | 706 | 77
1/4" VFS PIIBEL 44 D475 | 284 | 11.2 | ®25.4 | 284 | 706 | 77
—1 VISpUR — 3/8" VFS sMBLY 44 D475 | 284 | 112 | ®254 | 284 | 98 | 77
| q 3/8" VFS Pty 44 ©47.5 | 284 | 11.2 | 254 | 284 | 98 | 77
( 1
D
%'z S (i)
IO AORY RS (mm)
(mm) A B[] C D E F L]H
1/4"_VFS yMgs 44 ©50.3 | 284 11.2 | M5x0.8 | ®25.4 | 28.4|70.6 | 105
1/4" VFS pigey 44 ©503 | 284 | 11.2 | M5x0.8 | ®25.4 | 28.4 | 70.6 | 105
3/8" VFS SMEEK 44 ©50.3 [ 284 112 | M5x0.8 | ®254| 284 98 [105
3/8" VFS Pty 44 ©50.3 | 28.4| 112 | M5x0.8 | ®25.4 | 284 | 98 |105
| PAYaES
VDV40UBS - M - MV4 - MV4 - VS-LO-P
MR J L T2
S: 316L ZSH: VS001B
P: VSO01A
_ * FEEBS IR,
Wap7Tl
M: Fz —— %N
PC: Saf (B Zs 2
S (Fi) =H: BEEFR
LO: B/ FHik e iE
s L: BEfAFWH
MV4: 1/4" VFS SMREL ST
FVA: 1/4" VFS poiBey R REIZEIR
TW4: 1/4" |25%E ZSH: PCTFE (FRA)
MV6: 1/2" VFS FMZ& 3/8" O.D. VS: Vespel®
FV6: 1/2" VFS P9i84 3/8" O.D.
TW6: 3/8" IRfEizE
* Bt 15EIDEHERE.
VIGOURBE s



f5l&KE / Diaphragm Valve

VDV40UC %71

It

« ERTHSHHERSMRETESM. RS SHER
- HEEREY, BEMMNESMTE, SHIOTRTMEEE

o TR, BRHEFRRS

o MBAIHESS

o EPHRERELGE

o TRERIEERFH9 PCTFE, Vespel® AJik

EE / EhER
SN I I o L o o r
-10123, 205bar T T 40°C, 205? r } "7
i S e RIS T
- | | | | |
R s T
R s -:
ial | | | | |
Y I R D O [ Lo
| | | | |
-10 (‘) 2‘0 40 EIO 8‘0 l(;O
BE (°0)
I RS E
BATEED: 3000 psig (200 bar)
SENTIEED: 70~110 psig (5~8bar)
BRATIERE. -40°F ~ 160°F (-40°C ~ 71°C)
FENEE: 7uin. Ra
%5
&R Elgiloy®
Ry PCTFE
FA: AL
HER R <1x10 mbar I/s He
SMERtHRE: <1x10°° mbar I/s He
RESH Sz Cv=0.23 Fz) Cv=0.29
28 £91.27kg (BURTZERELIEIR)

9  VIGOUR EE

174" FahE

1/4" Bf8FR



Diaphragm Valve / [Gi&iZ
VDV40UC %7l

Fapm
IO LART RS (mm)
(mm) A B C E F L H
1/4"_VFS yhgs 44 ©47.5 | 284 | 11.2 | ®254 | 284 | 706 | 77
1/4" VFS PIIBEL 44 D475 | 284 | 11.2 | ®25.4 | 284 | 706 | 77
—1 VISpUR — 3/8" VFS sMBLY 44 D475 | 284 | 112 | ®254 | 284 | 98 | 77
| q 3/8" VFS poigey 44 ©47.5 | 284 | 11.2 | ®254 | 284 | 98 | 77
( 1
D
%'z S (i)
IO AORY RS (mm)
(mm) A B[] C D E F L]H
1/4"_VFS yMgs 44 ©50.3 [ 284 112 | M5x0.8 | ®25.4 | 28.4[70.6 | 105
1/4" VFS pRigex 44 ©503 | 284 | 11.2 | M5x0.8 | ®25.4 | 28.4 | 70.6 | 105
3/8" VFS MBS 44 ©50.3 [ 284 112 | M5x0.8 | ®254| 284 98 [105
3/8" VFS Pty 44 ©50.3 | 28.4| 112 | M5x0.8 | ®25.4 | 284 | 98 |105
| PARaES
VDV40UCSLV - M - MV4 - MV4 - VS-LO-P
MR J L TZH58
SLV: 316L Riakk P: VSOO1A *HEESIEIR,
Wap7Tl prialil
M: Fap =0 ERER
PC: S5 (BiF) LO: EFFHRikLiERE
L: EfAFH
TR S—
MV4: 1/4" VFS MBL RIS TR
FV4: 1/4" VFS PRLY ZSH: PCTFE ()
TW4: 1/4" IBfEEE VS: Vespel®
MV6: 1/2" VFS JMEE 3/8" O.D.
FV6: 1/2" VFS P9i84 3/8" O.D.
TW6: 3/8" IR#sES
* Bt 15EIDEHERE.
VIGOURBE <



IRBIEENE / Bellows Valve
VUBV %%l

IR

o 316LAREENE

o WO EEL IBEEEE fIVrSEsL
- BTES ®METE

o HENSERE

o FTEMRZTEPLLIE

o PERSIERE VS001B TS (ENMSR)
o TNERREERTFIPCTFE, Vespel® (i)

. EEEEH

130.5 (9)
116 (8)
101.5 (7)
87 (6)
72.5 (5)
58 (4)
435 (3)
29 (2)
14.5 (1)

BSEHN psig (bar)

0 100 200 300 400 500 600

& (slpm nitrogen)

I 5ARSEL

FEES:

SEES:

BAEES:

FENEE:

TERE.

5

B

R

VooE s

FiR:

R (P9ER)

(51MEB)

TESE

=2

S

if

T,

9 VIGOUR EE

130.5 (9)

116 (8)

101.5 (7)
87 (6)

72.5 (5)
58 (4)

435 (3)

S psig (bar)

29 (2)

14.5 (1)

0 100 200 300

& (slpm nitrogen)

Vacuum 500 psig (35bar)
Vacuum 125 psig (8.6bar)
45~120 psig (3.2~8.2bar)
10pin. Ra

-40°F ~ 200°F (-40°C ~ 93°C)

316L

A269 / A240 AN

PCTFE

AL

<1x10° mbar I/s He

<1x10° mbar I/s He

Cv=0.3

£ 1.54kg (BURTFIEREERIEDN)



Bellows Valve / JE8IEE
VUBV %71

Max 110

a0

AR (mm)

47

Panel hole
19.6

Max 9.7

43.8

,EJQ‘@QL
R |
i

T2

PR
S: 316L

AT

M: Fzf

PC: Sap (FiF)

2-M5 Deepth 8

D25

OAE

27

92.8

31.5

| M5x0.8
Airinlet

475

M5x0.8
Air inlet

o 2-M5 Deepth 8

11

— o

VUBVS - M - MV4 - MV4 - VS

-

L REEZEIT

ZSH: PCTFE (fnf)
VS: Vespel®

ImiERE
04: 1/4"
TW4: 1/4"
FV4: 1/4" VFS (POIBL)
MV4: 1/4" VFS (4MEL)

* BN, BT .

RERL
iERE

* RERESUNISEHEEREYGERE Ra. 20um #ANT,
TWA4, FV4, MVARESECERE Ra. 8um HUINTAIBHEE

VIGOURIEE -2



IBBIEK / Bellows Valve
VUBV2 %%l

IR

o 316LAREENE

o BEOIERS: VESESLNISE s

- ZTFES

o HERNSEYE

o FTEMREZSEPLNR

o FPERENEE VS001B TEHE (ENMR)

o tRERREEMELAPCTFE, Vespel® (RJik) FpR 3/4~1"

- £EET

12550
I R RY | CviE BRESD
MV12 FHA 1.5~2"
V12 34" | 145
TW12

% 1" 21 375pisg (25.8bar)
TW16
TW24 15" | 46
TW32 2" 52
SEHE A

I RS E
FaffE: HZESAZE 375 psig (25.8 bar)
SaES: 250 psig (17.2 bar)
SERENAT: 4.1~6.9 bar (3/4" or1" ), 6.2~6.9 bar (1.5" or2" )
FENEE: 10pin. Ra
TIERE: -22°F ~ 180°F (-30°C ~ 82°C)
5
B 316L
RS SUS316L / Hastelloy®
B PCTFE
ES TR AL
thRE: (FR) <1x10*° mbar I/s He

(51EB) <1x10° mbar I/s He

MESH N "SEERE"

3  VIGOUR EE



Bellows Valve / JE8IEE
VUBV2 %5l

H(open)

I

|
H

|

el

E REF.

Fam 3/4-1"

VISUAL INDICATOR

open / close
VALVE STATU;\ o
DOWNSTREAM

> PURGE PORT

UPSTREAM
PURGE PORT

I
AxB

=%

135.5 REF.

E

S 1

T2

AxB

E REF.

B
Y ¢ Faa
. %
% Z & _— RS (mm)
+-—- — - - — - 0
Il A B C D |E L H
= . 3/4" | ®19.05| 1.65 | 18.03 | 77.2 | 57 | 239 | 105.2
1" ®254 | 1.65 | 18.03 | 77.2 | 57| 239 | 105.2
15" | ®38.1 | 1.65 | 28.7 | 77.7 | 67 | 284.7 | 211.1
2" ®50.8 | 1.65 | 28.7 | 103 | 67 | 3355 | 211.1
FEpE 1.5~2"
\. SR (%9
. R (mm)
\ DOWNSTREAM im%
{ PURGE PORT A B C D E F G
v UPSTREAM 3/4” | ®19.05| 1.65 | 182 | 77.2 | 3152 | 209 | 290.0
\ PURGE PORT
. 1" ®254 | 165 | 182 | 77.2 | 3152 | 209 | 290.0
I [
o MT] H < 15" | ®38.1 | 1.65 | 284 | 77.7 | 2847 | 352.8 | 4550
. o 2" ®50.8 | 1.65 | 284 | 103.0 | 3353 | 352.8 | 455.0
G
SapE 2

VUBV2 S -M - MV12 - MV12 - P1 - P2 - VS

¥R

S: 316L

HATIE
M: Fzf
PC: Szh (Bi)

IR
FV12: 3/4" VFS (PI8LY)
MV12: 3/4" VFS (4MEL)
TW12: 3/4" |8
FV16: 1" VFS (184
MV16: 1" VFS (4MBL)
TW16: 1" |8
TW24: 1.5" jefsise
TW32: 2" |efsiss
* B, EEET .

]

i PIRESEIR
5[ PCTFE (FRAE)
VS: Vespel®

HSUE

FTH: ZHSWEAO
P2: 1/4" HSWEAN
P2v: 1/4" HSPHEOTERE

SR
ZFH: TESEEN
P1: 1/4" HSpIA0
P1V: 1/4" HSYIAOHIEF

VIGOUR #&El

94



B EZFNTER / Metering Bellows Valve

VBMV %571

| =RsS

o WEATXFR, se TR, TEENRERE.
MATFERELL 0.001 in. (0.025 mm) 1EENEEITAIS,
« T{EESAX 700 psig (48.2 bar)

« JBE®IL 315°C (600°F)

316 R BNLE

o FERHIERS VS001B TZHE (GEIMR)

FAiT 2Tk Cv=0.019

FATS Ik Cv=0.30

| 5Rs#
WESRRE | . AR
st WSk | TR Cv in.3 (cm3) £
T2 3° 0.019 0.07 (1.1) VBMV
e
B 20° 0.3 0.11(1.6) VBMRV

| AFEBH S HERSFEERE

20°C (70°F) BIAUAREEIE

0.30 ’/”,,
0.25
S VBMRV S
= 020 . =
= 0.020 =
i ots oo1s @
> /VBMV z
Z 010 <
< A / 0.010 >
0.05 A 0.005

0 1 2 3 4 5 6
FFEEE

s VIGOUR BEE

Eh—REHEE

e 316 SS
751 VBMV / VBMRV
BEE, °C(°F) TEEA, psig (bar)

-28 (-20) £ 37 (100) 700 (48.2)
93 (200) 610 (42.0)
148 (300) 530(36.5)
204 (400) 450 (31.0)
260 (500) 375 (25.8)
315 (600) 300 (20.6)




Metering Bellows Valve / i EZLTiTE1E
VBMV 3%l

===
I RS (mm)
_ ®25.9
|
r
]
. )
=
vy =
jaz <
T =
®19.6 . = = ';
L N
A \‘ ‘ NO. 10-32UNF 1E PrE
H H bpé 45"/j 254
< ’x/‘, i > \
B @ OO
J IC : 1 g
. . ~= T — N
B
L
B
| A
U RS RY, (mm)
5 TR S
il /S R H A C B L
VBMV SS-VBMV-04-04 1.4 133
1/4" 36.8
VBMRV SS-VBMRV-04-04 4.2 133
&L 14.2 26.9 62.5
VBMV SS-VBMV-6M-6M 14 133
6mm 36.8
VBMRV SS-VBMRV-6M-6M 4.2 133
VBMV SS-VBMV-TW6-TW6 14
IR 3/8" 133 36.8 14.2 25.4 427
VBMRV SS-VBMRV-TW6-TW6 4.2
VBMV SS-VBMV-MV4-MV4 1.4 133
VFSHMZRLL 1/4" 36.8 11.2 25.4 56.9
VBMRV SS-VBMRV-MV4-MV4 42 133

VIGOURIEE



it=2H# / Metering Valve

VMV 751

| ==
o [KEITHER

« SRR 316

« AEREEE

AR E AR

BEAMBEREANL
FERENERE VS001B TZHEE (EMMR)
TRESIRARIX2000psig (137bar)

- BEEASREZRE Cv=0.004~0.16

| 5RS#

BAiE Cv=0.004
ERSENERE| Z=SRE
bar std L/min
0.68 1.1
34 28
6.8 5.6

77  VIGOUR BEEl

EL-REREE iz
pidh=) . ESiii TSRS
B °C TAEED in. (mm)
bar
ARY -23°C & +204°C 137 0.032 (0.81) &= 1°
(FKM OZF)
BEY 0.056 (1.42) & 3°
-23°C & +148°C 689 @
(&2 (THE#EBE ORI 0.128 (3.25) Z2° 6°
@ BBETMEIFZMHSRERS, SRIENEMBESSEE TR, THEDSRAER 500 psig (34.4 bar),
@ TEFEES Y ESESHIMNE MERATBNCEEH T, SERfIMNE TRE X,
* Nl =R
| FEBEEREREKEE
20°C (70°F) RIAOREZIE
AR ITEIR) BE! i+ E1A
0.0042 / 0.030
0.0036 / @ 0.024
0.0030 ﬁ 0.018
/ ke
@ 0.0024 0012
ko //
E@ 0.0018 / 0.006
"~ ooon2 , o 5 1 3
0.0006 / TR
0 2 4 6 10
FHEEEL

BAiE Cv=0.03
ERSENERE| =SRE
bar std L/min
0.68 9.3
34 254
6.8 424

TREH (Cv)

0.175

0.150

0.125

0.100

0.075

0.050

0.025

CE i8I

RAME Cv=0.16

EXSENEE| =SR2
bar std L/min
0.68 56.6
34 181
6.8 323




Metering Valve / it =18
VMV %31

TR

Iy

87

i IEEE . R in. (mm)
— A=
Bl RY L H H1 H2 E G
AR R
1/16 in. SS-VMV-A-01 1.56 (39.6)
1/8in. SS-VMV-A-02 1.90 (48.3)
FEES 1/4in. SS-VMV-A-04 2.04 (51.8
RERk 518 2.34 (59.4) 0.92 (234) / 0.38 (9.6) 045 (11.4)
3mm SS-VMV-A-3M 1.90 (48.3)
6mm SS-VMV-A-6M 2.04 (51.8)
VFS SMREL 1/4in. SS-VMV-A-MV4 | 2.06 (52.3)
AZl 5fRY
1/16 in. SS-VMV-AL-01 0.81 (20.6) 3.22 (81.8) 0.88 (22.4)
— 1/8in. SS-VMV-AL-02 0.98 (24.9) 3.22 (81.8) 0.98 (24.9)
" 1/4in. SS-VMV-AL-04 1.02 (25.9) 3.36 (85.3) 1.02 (25.9)
0.92 (23.4) 0.38 (9.6) 045 (11.4)
3mm SS-VMV-AL-3M 0.98 (24.9) 3.32 (84.3) 0.99 (25.1)
NPT S
MBS/ 1/8in. SS-VMV-AL-M2-02 |  0.98 (24.9) 3.07 (78.0) 0.98 (24.9)
ERSL
BEI H4AY
1/8in. SS-VMV-B-02 2.02 (51.3)
. 1/4in. SS-VMV-B-04 2.20 (55.9)
FEEL
3mm SS-VMV-B-3M 2.02 (51.3)
6mm SS-VMV-B-6M 2.20 (55.9)
2.78 (70.6) 1.56 (39.6) / 0.50 (12.7) 0.58 (14.7)
1/8in. SS-VMV-B-M2 1.50 (38.1)
NPT SMZat -
1/4in. SS-VMV-B-M4 1.96 (49.8)
NPT poigey 1/8in. SS-VMV-B-F2 1.94 (49.3)
VFS FMRLL 1/4in. SS-VMV-B-MV4 |  2.06 (52.3)
BE Efgfl
1/8in. SS-VMV-BL-02 1.01 (25.7) 3.30 (83.8) 1.01 (25.7)
— 1/4in. SS-VMV-BL-04 1.10 (27.9) 3.39 (86.1) 1.10 (27.9)
" 3mm SS-VMV-BL-3M 1.01 (25.7) 3.30 (83.8) 1.01 (25.7)
6mm SS-VMV-BL-6M 1.10 (27.9) 3.39 (86.1) 1.10 (27.9)
NPT SNEEL 1/8in. SS-VMV-BL-M2 0.75 (19.1) 3.04 (77.2) 1.07 27.2) 0.75 (19.1) 0.50 (12.7) 0.58 (14.7)
" 1/4in. SS-VMV-BL-M4 | 0.98 (24.9) 3.27 (83.1) 1.02 (25.9)
NPT SM8L7 / .
1/8in. SS-VMV-BL-M2-02 |  1.01 (25.7) 3.04 (77.2) 0.75 (19.1)
*EEL
NPT P42 1/8in. SS-VMV-BL-F2 0.97 (24.6) 3.26 (82.8) 0.97 (24.6)

VIGOUR #&El

98



99

it&2H# / Metering Valve

VMV #5751
| =@mRY
0 < in.
IR — R in. (mm)
gL | Ry L H H1 H2 E G
CE B4
/4 in. SSVMV-C-04 | 234 (594)
E 3/8 in. SS-VMV-C-06 | 246 (62,
REEE /6 n €25 | eme | 126320 / 113(287) | 058 (147)
6mm SS-VMV-C-6M | 2.34 (59.4)
NPT 5hES /4n. SS-VMV-C-M4 | 2,00 (50.8)
CEl B8
N 1/41n. $S-VMV-CL-04
FEEL 11707) | 377958 | 104264 | 117297 | 11387 | 058(147)
6mm $S-VMV-CL-6M
| prizafihtls
2 E A
PR 1TaZE51:
- BT RIEEESRERERE SS-VMV-AL-02-Y

« BEERISHERRE1/25BIRTIEE

- HRZIEFRESBELETH

1iTass

AR R
SS: 316

7

A: AR HER
AL: AT ERF
B: B H&AY
BL: B B EHfgRY
C: CEI &R
CL: CEl EHfgR

VIGOUR #&El

SS-VMV- B -02-02-Y

L Fi

_

=A:
Y: ERAEFR

/SR
RERL: WEX
NPTHMZEE: T ESR

NPTHR#RLL: T EFR
VFS JMEE: T B3R




Atomic Layer Deposition Valve / [RFEiiRHE

VALD %35
I=a24=
. BEED, BEERSSD
. EFFEFSEIRD
. PSR BB ELAT
. EFRTASE R
- EHRYETEZRE, EYHERE, MVFSHEE
. FERHEERS VS00TA TEMSE (CEIS)
- FFERRHEVNFSms
. SEEEENE
. WIEEIEA TS
VALD3T VALD3
% o B

ke I=5~< (mm) "

BAT(RESD: 150 psig (10bar) 0378 -

NIRER: 4.1 i -

TERE: -9°F ~ 399°F (-23°C ~ 200°C) !

FHAREREE 200°C | ‘

& |

ik TS

)= Elgiloy® e I@

e High puritty PFA N =

TEBH Cv=027 |

& £91.54kg w@gmm ;l VIGOUR

58.4
©25.4
L -
LB
LiTss o N
VALD3 S - PO - MV4 - MV4 - S -V

3: BRATIRRE 120°C
3T: &RARTIIERE 200°C

R

S: 316L

SLV: 316L Rk

AT

PO: SziE (BF)
PC: SEhE (Fi)

T NEERHLE
V. ESH4HE

EIR
T AEfL
S: TRk

IR %ERE
TW4: 1/4" {2
FV4: 1/4" VFS PRI

MV4: 1/4" VFS JMEL
* U, SR,

VIGOUR B&E] 100



B &4 / Vacuum Generator
VVG F%l

| =R

o RAEZTES]: -90kPa

T3 16L4EH

« MMHG (TornBEZ= K488

o FRENERS VS001B TEHE (ERMR)
* IRBNESIHR/N: 90 psig (6bar)

* 100%ZuttHRmNE

=0 N
I RS (mm) I BTRER
JlVacuum
W ESEN
SRR
— 40 0.1 (1.4)
2@ 0 E e - — 0.2(2.9)
<w§ N wiebur | [ LI | our 3 -03(4.3)
D - - + JﬁE T £ or 0.4 (5.8)
NEE2 o 3 5 I 0.5(7.2)
: : % 20 06 (8.7)
mﬁa . 0.7 (10)
L 0.8 (11.6)
10
I — 0.9 (13)
Ei WO mm inch Y 2 4 & s 10 omH
. FV4 325 127 (29)  (88) (87) (116) (145)
=\ MV4 39.8 157 HHSEE bar (psig)
& |) . FV8 55 2.16
_ MV 64.8 2.55
c Fv4 24 0.94
@20 MV4 31 1.22
| SRs%
Bty BrRAERs
BRAETEND: -90kPa
BAEEENTHIHSESD: 70psig (5 bar)
BAESENTHRE: 37L/min
AR SS 316L
BATIEEN: 150psig (10 bar)
BEER: 0~150°C
SR as

101 VIGOUR BEE

EZSES bar (psig)



Vacuum Generator / ESS& 4L

VVG %%l
| iTas#
v
II' > >

— B/ ESEE

FV4: 1/4" VFS pPOige MV4: 1/4" VFS MBS

FV8: 1/2" VFS pIigsy MV8: 1/2" VFS 4MBsy

* HAEFIVE, 1EBE0EHEE.

| EORLEE |
VWG -S- 1 -2 -3 -EP
MR J L FEEE
S: 316L BA: 0.4 uin'. Ra
EP: 0.25 pin. Ra
HEERE
MV4: 1/4" VFS HMEL
BTEE
HSER FV4: 1/4" VFS poigey
FV8: 1/2" VFS RIBL e A A
MV8: 1/2" VFS 4MEL
| PApaE
%#6l: VVG - S - MV4 - FV8 - MV4

1 -

2 - 3

VIGOUR #&El

102



BHZZE42E / Vacuum Generator
VVGV1 75|

| =545

- SE1REN, FBiAE

- —MLRT, BEETXEEE,
o EERIT

- RRESTE: -88KPa
FEEREIEFS VS001B TEHE (GEMMIR)

SENRFIEREE

| 2R (mm) | ==innes
B THEERENEEE
~—— A< B> Lo
30
IAC 25
A 5 2
[ H r £ 15
N2\Il¢—> M i % 10
e ] o b
= 5
0
70 80 LN 110
<~ 7 > (4.8) (5.5) (6.2) (7.5)
HSES psig (bar)
HWSED
M 70 to 110 psig
FERRT (mm) 30
OIS A 8 c 25
MV4 36 35 S 20
FV4 - 35 z
TW4 - 19 £ 15
FV8-MV8 42 - i
TW6 24 m 10
5
0
0 2 4 6 10 12
HZHE (slpm air)
| 5iRsH
N2 HSES: 70 to 110 psig (4.8 to 7.6 bar)
BEEEOSAEND: 3,500 psig (241 bar)
BEEFEESD: 3 psid (0.2 bar)
ERRE: -14~160°F (-10~71°C)
HSER: 1/4" VFSHEEL
HSEE: 1/2" VFSEEL, 3/8" \Rhehe
BHrEOiEE: 1/4" VFSEeL / 185%E
SRR EERE M5
SR ESD : 60 to 110 psig (4 to 7.6 bar)
hLipESS AR
IR
B 316L
OZYE: FKM / FFKM (B]3%k)

103 VVIGOUR BEEl

ASHEER (slpm)



Vacuum Generator / ESS&432
VVGV1 5|

1Ttz
o
T~ >
W/ HSiERE

FV4: 1/4" VFS PIIBLL MV4: 1/4" VFS MR TW4: 1/4" (8
FV8: 1/2" VFS PIIZEL MV8: 1/2" VFS JMREL TW6: 3/8" iRiRE

* HEERnE, BE0ErE.

|

[ |
BOfRSE
|

|
VVGV1S-1-2-3-05-K

R 4 L OZE
S: 316L 21 FKM
K: FFKM
HRIERE
b =I=1
MV4: 1/4" VFS §Mgsy LS
03: 1~2.5 slpm FEHSRE
R 05: 2~5 slpm #HEHSHE
HSER 08: 5~8 slpm REHESTRE
MV8: 1/2" VFS &ML 15: 10~15 slpm $HEHESRE
FV8: 1/2" VFS PRIRLL *at 80 pisg N2
TW6: 3/8" IRisEe

BTk
MV4: 1/4" VFS JMEL

FV4: 1/4" VFS PRIE&
TW4: 1/4" 125sse

| Bapiae=
VVGV1S - MV4 - FV8 - FV4 - 05 - K

I ’
1-2-3

VIGOURGEE 104



BHZZE42E / Vacuum Generator

VVGV2 Series

| =545

« FEIESEERsEN

- —MLRT, BEETXEEE,
o EERIT

- RRESTE: -88KPa

o FERERIESS VS001B TEHE (ENMR)

| =2R< (mm)

R A RFNERE

| =gl

E AR
HSEN
. A ‘ N
j A e B ERSRENESE
©34.5 e — B GSEER
L 30 -100
INLET )/ F VENT 28 ] -0
— 1 T ] r— 2 -80
\\% = 24 | 70
c _ [
3 Lé 3 22¢ -60
© £ 2 -50
N [VACUUM Eﬁx 18 & -40
= 1 16 -30
Z 14 [ 20
L B 12 [ -10
10 L
M5x0.8-6H 37 254 70 80 ) 100 110
: 4.8) (5.5) (6.2) (6.8) (7.5)
% ‘ HW 0 HSER psig (bar)
L @
414 ,\8/ HUJ -
— 28 HEED
ﬂ,,, ¢ 46.8 M 70 to 110 psig
30
- — 25
3 PR (mm)
. 20
~ R A B c ;:'5‘
MV4, FV4 | 353 | 536 | 353 s
. W4 - - 269 o 10
FV8-MV8 67.4 - ¥
TW6 52 5
0
0 5 10 15 20 25 30

I fRsH

N2 HSES:
N2 RE:
BEEORAEND:
BEEFEED:
ERRE:
HEEE:
HEEE:
BEEOEE:
FE R AR s |
FE R IR ESD :
RER:

R

BK:
OfYHE:

105 VVIGOUR BEEl

HZHE (slpm air)

70 to 110 psig (4.8 to 7.6 bar)
60 slpm at 80 psig

3,000 psig (207 bar)

3 psid (0.2 bar) (differential)
-14~160°F (-10~71°C)

1/4" VFSHEL

1/4" 1/2" VFSEEL, 3/8" 12Es%E
1/4" VFSEEL / 1BiEEE

M5

70 to 110 psig (4.8 to 7.6 bar)
4x10® mbar I/s He (FIEB)
2x10-"® mbar I/s He (4MNgR)

316L
FKM / FFKM (RJ3%)

ASERER (slpm)



Vacuum Generator / ESS&432

VVGV2 Series

1Ttz
H/HSRiERE

FV4: 1/4" VFS poigLy
FV8: 1/2" VFS PRiRLL

* HEERnE, BEErE.

MV4: 1/4" VIFS MBS
MV8: 1/2" VES JMBS

Vaccuum Vaccuum
: '
[2] < ;(W»4- [2] < :’I\W»4—E
Vaccuum
[2] & =<t [1] o

PR
S: 316L

et
M: FERhIKzN
PC: SEKsh (FiA)

BHAFLAL

A: 3FLARY

B: 37LB#!

C: 47,

HRER

MV4: 1/4" VFS §MB&L
FV4: 1/4" VFS pIi241

| Pz

.

TW4: 1/4" |8t
TW6: 3/8" jeisse

MV4:

FV8:

1/4"
Fv4: 1/4"
Mv8: 1/2"
1/2"
TW6: 3/8"

i
05: 2~5 slpm S RE

08: 5~8 slpm HEHSHRE

15: 10~15 slpm HEHESRE

MV4: 1/4" VFS MBS
FV4: 1/4" VFS PRIE&
TW4: 1/4" 125sse

|
3-4-05-K
—
ZSH: FKM
K: FFKM
e
*at 80 pisg N2
VFS ShEs —— HEEER
VFS HH#25L
VFS MBS
VFS PIIREL
IREEE

VVGV2S - PC - A- MV4 - MV8 - MV4 - 05

1 -2 -3

VIGOUR #&El

106



2181 miEE / All-Welded Check Valve

VUCVv 5351

| =5iss

- SIREHRIT, T

« FREES/INF2 psig (0.13bar)

o PPRENERFE VS001B TEHE (EMR)
« FTHBELERI316L SS #1Hl

- MAMEE, MR, Fok

o SEERIFRIEIgiloy®, EREESLIRS

| BARsH

THEED: 3000 psig (200bar)

FEES: <2 psig (0.13bar)

TERE: -10~80°C

(%153

B SS 316L

SHEE: Elgiloy®

OFYE: FKM (#5/#) EPDM / FFKM (&J34%)
RESH Cv=0.55 (1/4" ) Cv=0.70 (1/2" )

| =2R< (mm)

/ B RA¥mE

[\
\

| iToss
VUCV -S - MV4

%153 J

S: 316L
H: Hastelloy® C276

ot/ SRR

-MV4 - E

|

MV4: 1/4" VFS JMBE
MV8: 1/2" VFS JMB&

107 VIGOUR BEEl

RO R (mm)
A B
1/4" VFS HM8ey 457 22
1/2" VFS SM2E 52.5 27
OB
ZH: FKM
E: EPDM
K: FFKM



Check Valve / EE[E1E
VCVH %%l

| =R

HRR R E)E

OZYEFKM#REE, EPDM / FFKMaJi%k
FEEREERSS VS001B TEME (ETMR)
BATVEES]: 4500 psig (300bar)
FFIEES: 1/3psi / 1psi

H/HSEO: VESESL

| =55

EREERIRSRIT
SHOR I =%~ (mm
. KRR o (mm)

N B 5
1 sks -

THEES: Max. 4500 psig (300 bar) 1 ]
FEES: 1/3psi / 1psi 111 ffw@ﬁ R
SRR HILTISE Ll —
B/ HSIER: FEIITIES8 — —
ORI FKM #xEg
EPDM / FFKM &J3%
hmER AL RS ARﬁ ("‘m’B
VCVH-S-MV4-MV4 58.2 174
VCVH-S-MV8-MV8 68.3 254
‘ﬁ —_ * VCVH-S-MV12-MV12 96.0 41.2
I RESH
10 7
AHFREN | FRENEE SHIES 6 i
psi (bar) 8 _ EalE
113 (0.03) 3(0.21) under 6(0.42) under Se 38, 1 A
1(0.07) 4(0.28) under 5(0.35) B > - B e
5(0.35) 3-9(0.21~0.63) 2(0.14) g“ P > ] ”’:2 A LT LT
10(0.69) 7-15 (0.49~1.1) 3(0.21) 5 AT LA
25(1.8) 20~30 (1.4~2.1) 17 (1.21) 1 ] L
0 10 20 30 40 50 60 70 80 0 20 40 60 80 100 120 140 160
SR 3/ AR FRE(m/h AIR)
liTws#
VCVH-S -MV4-MV4-E- 1
Bl J t FHEER
S: 316L 1: 1psi
H: Hastelloy® C276 1/3: 1/3 psi
yEas 1 -
/S L romm
MV4: 1/4" VFS §MNEE .
MV8: 1/2" VFS JMBLL f’EE'EI E'EEAM
. " é .
MV12: 3/4" VFS 9MBL K: FFKM

VIGOURB&E] 108



AlEANEMIE / Adjustable Check Valve
VCA 5%

| ==

« AIETSHOESIR SRR

« ETRLREREED

« BIRIRALRIRRTE

o FERHNERFE VS001B TZHE (FEUMIR)
« 316L FiEHRER

| =%RA
. BTSSR AR o
. BRI EE | 7iE2s

AFRFFSE = 3psi (0.21bar) e 150psi (10.4bar)

= 50psi (3.5bar)

| 5R2% 400
350 o
TEEH: Max. 3000 psig (206 bar) 300 =
FREES: 3~350psi B 250
AR FETESE E 200 = g —
H/HSERE: TS g 150 ——
ORYE: FKM (¥5/£) EPDM / FFKM (&B]3%) “ 100 —
bR ey S 50 —— i
.
0 200 400 600 800 1000 1200
FR&(std L/min)
| ~=RRT (mm)
] (H‘ VIGOUR |—] WW [ ] SO A)ﬁ (mm)B
B = - n 04
L — — — | | 6M &
M 84.3 15.8
M4 79.2
B FBER Mv4 785
— A —
13T
VCA-S -MV4-MV4 -50-E
R J L ORI
S: 316L ZH: FKM
E: EPDM
s/ S Ko FRKM
04: 1/4" FE#E:L E
6M: 6mm £E#EEL FHREEDD .
8M: 8mm EE#EL 3: 3~50psi '
M4: 1/4" NPTHMEBLL 50: 50~150 psi
MV4: 1/4" VFS HMZELy 150: 150~350psi

100 VVIGOUR BEEl



Gas Stick / S{pLigiEHIEtR
VUP %%l

| =545

- EEAESHRREHERERTIESRERS
100TG:<30 slpm ZE#z1/4 " VFS
200TG:<300 slpm j&E#£3/8" VFS
300TG:<600slpm EHEE1/2 " VFS

o FRHIERFS VS001B TZHE (FIIR)

- RS

* VFSH#ZHER

« FrESERRREERE

+ 100%SuttRE

I RS

HSES Pr: 300 psig (20bar)

HEJES P2: Vac to 10/30/60/100/150 psig (1/2/4/7/10bar)
PRERMEZ R

B 316L

e PCTFE

&R Elgiloy®

IRERSAR

BK: 316L / 316L iRiakk

e PCTFE

&R Hastelloy® C276

HhmER: (9MED) <1x10° mbar I/s He
(PIEB) <1x10® mbar I/s He

I =52~ (mm)

c [H,
I 1o ||
- R, mm
i L | ¥% |EREE | TwRs
== <|of Zaa\ o mm A B C H H1
P — )/ 1
= —— 100TG | 20 | VUP-100TG-A | 325 | 280 | 80 [1725| 50
2007G 20 | VUP-200TG-A | 455 |352.4| 80 | 188 | 50
E@JF%EH €N
W 300TG 20 | VUP-300TG-A | 455 |349.2| 80 | 188 | 50
o o) L
VUP-100TG (A &) VUP-200TG / VUP-300TG (A )

VIGOUREE 110



SPEintEEIEtR / Gas Stick
VUP %%

[,
120,
RY, mm
*E | EREE THwRS
mm A B C H H1
<|o 100TG 20 VUP-100TG-B | 400 |352.3| 80 |172.5| 50
200TG 20 VUP-200TG-B | 500 |421.4] 80 188 50
300TG 20 VUP-300TG-B | 500 |418.2| 80 188 50
VUP-100TG (B #) VUP-200TG / VUP-300TG (B &)
H
c .ﬂﬁ.
I o [
’ i
RY, mm
HE | EREE RS
mm A B C H H1
4 < 100TG 20 VUP-100TG-C | 420 |372.6| 80 [172.5| 50
200TG 20 VUP-200TG-C | 550 [454.1 80 | 188 | 50
z 300TG 20 VUP-300TG-C | 550 |447.7| 80 188 50
VUP-100TG (C #) VUP-200TG / VUP-300TG (C &)
" H
p R, mm
HE | EREE RS
< | A:é mm A B C H H1
b 100TG 20 VUP-100TG-D | 500 |444.9] 80 [172.5| 50
200TG 20 VUP-200TG-D | 610 [523.1| 80 | 188 | 50
i 300TG 20 VUP-300TG-D | 610 [516.7| 80 188 50
o | ofesl
ol
VUP-100TG (D #) VUP-200TG / VUP-300TG (D #)

11 VIGOUR BEE




Gas Stick / S{pLigiEHIEtR

VUP 7%l

I iTlass

VUP - 100TG-D-20-10-FV4-P-P-FV4-F - PC

ES])

100TG: <30 slpm 1/4" VFS
200TG: <300 slpm 3/8" VFS
300TG: <600 slpm 1/2" VFS

St

A: B TRETIEE
B: B BALIER
C: WE, AE LB
D: W&, BRidrEss
E: FHSRIRRE

HSES P
20: 300 psig

HSEH P2

V1: Vac to 10 psig
V2: Vac to 30 psig
V4: Vac to 60 psig
V7: Vac to 100 psig
V10: Vac to 150 psig

1: to 10 psig

2: to 30 psig

4: to 60 psig

7: to 100 psig
10: to 150 psig

[RRREHSZEO

=H: I

MV4: 1/4" VFS §MZ25
FV4: 1/4" VFS pIigLr
MV8: 1/2" VFS 4MELL
FV8: 1/2" VFS pPatgsr

L PRRIEIZEIN

=H: FahBRiRiE
PC: SEhEURIER (Fi)

SIEIN
BH: %I
F: 13iE=s (0.003 pm)

HI EE

Cl

fRlER SO

MV4: 1/4" VFS 4MBL
FV4: 1/4" VFS IS
MV8: 1/2" VFS 4MBE&L
FV8: 1/2" VFS R4

HEEHZE
=
P: EHE
K: BBiERENER
PT: ESIfEREES

HSENE

TH: &k
P: EHFE
K: BfERENER
PT: ESfERES

VIGOUR #&El

112



13iE8E / Filter
VUF 7%l

| ~=miss

« VUFRFIRELINSIRTIEE,
TNESHESNTIBN AT
IS PTFE, 4M5stafE: 316L
FRENERFE VS001B TZHE (EIMR)
EVEAGR Y eSS

JIEFEE 0.003um

BEANBILEREMT

- SR, BELFME

EHEE, BTRE

100% Sl

I2m

MESER MBS ERE

90 (0.9) 90 (0.9)

80(0.8) 80 (0.8)
= 70(0.7) 2.07bar Inift Pressur 70007 2.07bar It Pressyrd]
s 60 (0.6) ‘ /T' g 60 (0.6) f
S 50(05) - ‘ < 50(05) y
[ a
§ ‘;g (g-‘;) 4 1abar bt Pressure i‘& 40 (0-4) 6.21bar Inlt Pressure
e (0.3) # w003

20 (0.2) 20 (0.2)

10(0.1) 10 (0.1)

0 10 20 30 40 50 60 0 20 40 60 80 100 120
7 (slpm nitrogen) 1/4" VFS & (slpm nitrogen) 1/4" VFS
RESERE MESER

100 (1) 100 (1)
s 80 (0.8) -~ 80(0.8)
3 2.07bar|Inlet Pressur 5 2.07bar|Inlet Pressur
= Qo
& 60(06) | /T = 60(0.6) | /T
‘:“j‘ 40 (0.4) / 4.14bar Injet Pressure § 40 (0.4) /V 4.14bar Irjlet Pressure
H [

20 (0.2) 20 (0.2)

0 100 200 300 400 500 0 200 400 600 800 1000
Fi& (slpm nitrogen) 1/4" VFS & (slpm nitrogen) 1/2" VFS

113 VIGOUR BEEl



Filter / 13iE=8
VUF &5

| =2R~R< (mm)

ju |

D@f N HUEP
—_
A
RY (mm)
TR S
A B

VUF-P-MV4-MV4-60 84.1 18.9

VUF-P-MV4-FV4-60 88.9 18.9

VUF-P-MV4-MV4-120 127 25.8

VUF-P-MV4-MV4-500 127 33.8

VUF-P-MV4-FV4-500 141.2 33.8

VUF-P-MV8-MV8-120 133.4 25.8

VUF-P-MV8-MV8-1000 127 33.8

1Tz
TwS AR TSR HSIERE HEEE BARE
VUF-P-MV4-MV4-60 316L PTFE 1/4" VFS male 1/4" VFS male 0~60 slpm
VUF-P-MV4-FV4-60 316L PTFE 1/4" VFS male 1/4" VFS female 0~60 slpm

VUF-P-MV4-MV4-120 316L PTFE 1/4" VFS male 1/4" VFS male 0~120 slpm
VUF-P-MV4-MV4-500 316L PTFE 1/4" VFS male 1/4" VFS male 0~500 slpm
VUF-P-MV4-FV4-500 316L PTFE 1/4" VFS male 1/4" VFS female 0~500 slpm
VUF-P-MV8-MV8-120 316L PTFE 1/2" VFS male 1/2" VFS male 0~120 slpm
VUF-P-MV8-MV8-1000 316L PTFE 1/2" VFS male 1/2" VFS male 0~1000 slpm

VIGOURIEE 14



13iiEeS / Filter
VFH %%

| =245

- EEELTIEES

« IEEHER: 316L

 FERHIERFE VS001B TZHEE (FEUMER)
o (KRNI, EER

« MEHEREE

- EEFES
=Lzt
| BARsH
THEER: 2350 psig (162bar)
TERE: -10~100°C
)5
B SS 316L
proroN SS 316L
B! SS 316L / PTFE
U VFS #2454k
| =RRT (mm)
M | o -
1( M VIGOUR H W @ O L)ﬁ( :3
J . o 1/4" VFS GMgsgEL | 818 26
. H H L 1/2" VFS sMgsES | 846 32
L
| Bl

VFH-S - MV4 - MV4 - 2

(%153 J \— LIEHEE

S: 316L 0.5: 0.5 um
2: 2pum
3 = 5: 5um
/e 10: 10 pm
MV4: 1/4" VFS JMRLL 20: 20 um
MV8: 1/2" VFS HMRE 40: 40 pm
70: 70 um

115 VIGOUR BEE]



Gasket Filter / #/53iT5E22
VUGF %%l

| =555

- £EEIIIEES

- EET

o (RIPSURS AL R Z TR

- AISMSESGER, FNRETE

o EERERERFE VS001B TEHE (HEIMR)
o ERA/NEO0.3um

o II3EREE 0.003um

- nEEaSEE

o EEtRE 1/4" 8 1/2" VFSEE

HSED . - HSED
1/4" VFSHE W 8.7psig (6 bar) M 5.8 psig (4 bar) 1/2" VFSHYE W 8.7psig (6 bar) 5.8 psig (4 bar)
19 2.9 psig (2 bar) W 2.9 psig (2 bar)
14.5 (1.0) 14.5(1.0)
11.6 (0.8) 116 (0.8)
3 =
L 87(0.6) & 87(06)
2 ;
g 2
#  58(04) w 58(04)
2.9(0.2) e 29(02)
] /
0 20 40 60 80 0 50 100 150 200 250 300
& (slpm nitrogen) & (slpm nitrogen)

I FI%RTJ- (mm) ST

3/8" VFSHYE m 8.7psig (6 bar) W 5.8 psig (4 bar)
W 2.9 psig (2 bar)

14.5 (1.0)
30

‘ T 116(08)
7 s
i
@

& 87(06)
= qt ]
o = — x
s & =)

W 58(04)
=)
1724

% g 29(0.2)

o e 18 r <IE
1/4"VFS 1/2°VFS = /
0 50 100 150 200

& (slpm nitrogen)

1iTwss
VUGF - GK - G4

i ria J L I

GK: 3 G4: 1/4" VFSEE
GKR: B8 (H321%) G6: 3/8" VFSE[E

G8: 1/2" VFSEHE

VIGOUREEl 116



REFF£ / Flow Switch

VEFS1 &%l

| =25

« BRI
BHAMR: SS 316L VAR

s FREIERTE VS001A TZH5E (EIMTR)
« EF[EHNZE3500psig (241bar)

| BR2E

SFE:
TREFF XA R:
BE:

A
TERE:
EHAMATR:
/SR
R (SMF) -
TEE
E=ith
IR
FERET:
EEFER:
=lizR
FEARIKEE:
EEAIE:

| =RR<T (mm)

| TS

MR
SLV: SS316L VAR

i/ SRR

MV4: 1/4" VFS §MEE
FV4: 1/4" VFS g
TW4: 1/4" (e

17 VIGOUR BEEl

vacuum to 3500 psig (241bar)
25/50/100 slpm (&, at 100 psig)

+10%

[RERHS, EETIR8 AR
-10~175°F (-23~80°C)

SS 316L VAR

1/4" 1BE%E / VFSiEEL

2x107"° sccs

SPDT, 3£82fi
30VDC / 3W max
0.2A max

0.5A max

0.1 Ohm max
3m

24AWG

Bl

PR=RAS

RE: B

VEFS1 - SLV - MV4 - MV4 - 100

|

)
B2 B

O e ()
(HS-HS) A B C
MV4-MV4 57.2 15.9 15.9
FV4-Fv4 1014 38 38
TW4-TW4 57.2 15.9 15.9
MV4-Fv4 79.3 15.9 38
MV4-TW4 57.2 15.9 15.9
FV4-MV4 79.3 38 15.9
FV4-Tw4 79.3 38 15.9
TW4-MV4 57.2 15.9 15.9
TW4-Fv4 79.3 15.9 38

==

VILER

025: 25 slpm

050: 50 slpm

100: 100 slpm




Face Seal Fitting / EZ3$140(%
VVR %%l

&

&R

BHE, £ 1208
316L AN

316L RIBIEAEN

B
£
316L EH

RI
« RI{Rfte*

TS

Tt

-SLv

-NI
Tt

« DIRIRIEFHRISINATRAR

EDFER

o TERETERVFSEMH TR

o AR GSANSIEHEEB3 1.3 EDITER

« RIEANS| B31.3MEENENER, HpsigiiE(Esklil0.94
- ENERE TRENEE

2t
=

Mzt

&

316L FEEER

316L DRIBIEAFEN
316L 55

i

Hitg

44 ASME SA479, ASTM A276
B ASME A182

##2: ASME SA479, ASTM A276
15 ASME A182

ASTM B162
ASTM A240, ASTM A167

iBE °F (°C)
1000 (537)
1000 (537)
1000 (537)
600 (315)

EROVFSEHEEHT TSR, SHRERA4x10-9 mbar I/s He, REEAVHREHRERNaEZR4Ix10"" mbar I/s HeF .

VIGOUR #&El

118



w4 / Face Seal Fitting
VVR %%

Mistisn
M EELE RS
TREREEE
10 pin. (0.25um) Ra
J . PR REE,
SETE LR RE T
B E
RS
I vFs A
VFS BIUA S AN EA B,
p
PUIRERNE =g IR HMBLIRTE
VVR-FN VVR-FG VVR-MG VVR-MN
)
= 1 = K
OR
(e Hlllll
o B 3
= = | Is\mumu Bi
PRI e s
\ VVR-FN VVR-FG VVR-MC-NT

119 VVIGOUR BEE




Face Seal Fitting / E&$140(4
VVR #7%l1

B35

EEIHE

D
L uE
n. n.
1/8 0.028
1/4 0.035
1/4 0.035
1/4 0.035
1/4 0.035
1/4 0.035
1/4 0.035
3/8 0.035
3/8 0.035
1/2 0.049
1/2 0.049
1/2 0.049
3/4 0.065

1 0.065

@ IBRITtATXESS

VFS
R

n.

1/8
1/4
1/4
1/4
112
112
112
112
112
112
112
112

3/4

R

316L
316L ZRIBK
316L
316L RIAIE
316L
316L 2R
316L
316L ZIRIBE
316L
316L ZRIBIR
316L
316L 2R
316L
316L Rk
316L
316L 2R
316L
316L ZIRIBE
316L
316L R
316L
316L ZRIBIE
316L
316L ZIRIBE
316L
316L RIBKE
316L
316L 2R

1TI4RS

VVR-FG2-TB2 *
VVR-FG2-TB2-SLV *
VVR-FG4-TB4
VVR-FG4-TB4-SLV
VVR-FG4-TB4-L18
VVR-FG4-TB4-L18-SLV
VVR-FG4-TB4-L15
VVR-FG4-TB4-L15-SLV
VVR-FG8-TB4
VVR-FG8-TB4-SLV
VVR-FG8-TB4-L15
VVR-FG8-TB4-L15-SLV
VVR-FG8-TB4-L19
VVR-FG8-TB4-L19-SLV
VVR-FG8-TB6
VVR-FG8-TB6-SLV
VVR-FG8-TB6-L15
VVR-FG8-TB6-L15-SLV
VVR-FG8-TB8
VVR-FG8-TB8-SLV
VVR-FG8-TB8-L18
VVR-FG8-TB8-L18-SLV
VVR-FG8-TB8-L15
VVR-FG8-TB8-L15-SLV
VVR-FG12-TB12
VVR-FG12-TB12-SLV
VVR-FG16-TB16
VVR-FG16-TB16-SLV

* ITIRESGERER(FY) <0.4R9BCHRT, FEITERSHIRINBA, fI40: VVR-FGA4-TB4-BA

* BUATZHBEVS001B, WMFEITEVIGOURBEELMF =M I ZHEVS001 ASHERIEESLRY, EITRSHEMP, fla0: VVR-FG4-TB4-P

_ﬁ
En=

—

L1

—L

R~ in.(mm)
L1 D1
0.75 0.07
(19.1) (1.8)
0.75 0.18
(19.1) (4.6)
0.38 0.18
(9.6) (4.6)
0.25 0.18
(6.4) (4.6)
0.75 0.18
(19.1) (4.6)
0.75 0.18
(19.1) (4.6)
0.75 0.18
(19.1) (4.6)
0.75 0.31
(19.1) (7.9)
0.25 0.31
(6.4) (7.9)
0.75 0.40
(19.1) (10.2)
0.38 0.40
(9.6) (10.2)
0.25 0.40
(6.4) (10.2)
0.81 0.62
(20.6) (15.7)
0.75 0.87
(19.1) (22.1)

VIGOUR #&El

TIEED
L psig (bar)
1.08 8500
(27.4) (585)
1.10 5100
(27.9) (351)
0.72 5100
(18.3) (351)
0.60 5100
(15.2) (351)
1.12 4300
(28.4) (296)
0.62 4300
(15.7) (296)
0.76 4300
(19.4) (296)
1.12 3300
(28.4) (227)
0.62 3300
(15.7) (227)
1.12 3700
(28.4) (254)
0.74 3700
(18.8) (254)
0.62 3700
(15.7) (254)
1.256 2400
(32) (165)
1.51 1900
(38.6) (130)

120



EZ$IEBH / Face Seal Fitting

VVR &%l

121

=S
N=POp
D
BE BE
n. n.
1/8 0.028
1/4 0.035
1/4 0.035
1/4 0.035
1/4 0.035
1/4 0.035
1/4 0.035
3/8 0.035
3/8 0.035
1/2 0.049
1/2 0.049
1/2 0.049
3/4 0.065
1 0.065
@ IBRItATXIESS

VFS
R

n.

1/8
1/4
1/4
1/4
12
12
12
12
12
12
12
12

3/4

(%5
316L
316L ZRIAK
316L
316L RIAKK
316L
316L ZRIEK
316L
316L ZRIAk:
316L
316L IRIEK
316L
316L RIAKE
316L
316L ZRIAK
316L
316L RIEk
316L
316L ZRIAKR
316L
316L RIBKK
316L
316L ZRIEK
316L
316L ZRIAkR
316L
316L XA
316L

316L RIAE

L1

T4 S

VVR-MG2-TB2 ¥
VVR-MG2-TB2-SLV *
VVR-MG4-TB4
VVR-MG4-TB4-SLV
VVR-MG4-TB4-L33
VVR-MG4-TB4-L33-SLV
VVR-MG4-TB4-L30
VVR-MG4-TB4-L30-SLV
VVR-MG8-TB4
VVR-MG8-TB4-SLV
VVR-MG8-TB4-L32
VVR-MG8-TB4-L32-SLV
VVR-MG8-TB4-L37
VVR-MG8-TB4-L37-SLV
VVR-MG8-TB6
VVR-MG8-TB6-SLV
VVR-MG8-TB6-L32
VVR-MG8-TB6-L32-SLV
VVR-MG8-TB8
VVR-MG8-TB8-SLV
VVR-MG8-TB8-L35
VVR-MG8-TB8-L35-SLV
VVR-MG8-TB8-L32
VVR-MG8-TB8-L32-SLV
VVR-MG12-TB12
VVR-MG12-TB12-SLV
VVR-MG16-TB16
VVR-MG16-TB16-SLV

* {TREYCEERa () <0.409ECHRT, EITEREFIRMBA, HIal: VVR-MG4-TB4-BA

* BRATZHEEVS001B, WMNFITHVIGOURBRLAF =R T ZHEVS001 AFNEREESLAT, ETHREFAHRMP, Fia: VVR-MG4-TB4-P

VIGOUR #&El

R, in

L1

0.75
(19.1)
075
(19.1)
0.38
(9.6)
0.25
(6.4)
0.75
(19.1)
0.75
(19.1)
0.75
(19.1)
0.75
(19.1)
0.25
(6.4)
075
(19.1)
0.38
(9.6)
0.25
(6.4)
0.75
(19.1)
0.75
(19.1)

.(mm)

0.07
(1.8)
0.18
(4.6)
0.18
(4.6)
0.18
(4.6)
0.18
(4.6)
0.18
(4.6)
0.18
(4.6)
0.31
(7.9)
0.31
(7.9)
0.40
(10.2)
0.40
(10.2)
0.40
(10.2)
0.65
(16.5)
0.87
(22.1)

1.42
(36.1)
1.70
(43.2)
1.32
(33.5)
1.20
(30.5)
1.79
(45.5)
1.28
(32.7)
1.47
(37.4)
1.79
(45.5)
1.29
(32.8)
1.79
(45.5)
1.41
(35.8)
1.29
(32.8)
2.03
(51.6)
2.32
(58.9)

TIEER
psig (bar)
8500
(585)
5100
(351)
5100
(351)
5100
(351)
4300
(296)
4300
(296)
4300
(296)
3300
(227)
3300
(227)
3500
(241)
3500
(241)
3500
(241)
2400
(165)
2400
(165)



Face Seal Fitting / E&140(4

VVR 3%l

| EREEEEE!

VFS

R
in.

1/8

1/4

112

3/4
1

* BUATZHBEVS001B

| migsag

VFS

RY
n.
1/8
114
112
3/4
1

* BRATZHIBVS001B

| i=ig

VFS

RY
in.

1/8

1/4

12

3/4
1

* ERNATZHIEVS001B

RS

VVR-MN2
VVR-MN4
VVR-MN8
VVR-MN12
VVR-MN16

14w S

VVR-FN2
VVR-FN4
VVR-FN8
VVR-FN12
VVR-FN16

TI4RS

VVR-C2
VVR-C4
VVR-C8
VVR-C12
VVR-C16

PR

316L

R

316L

MR

316L

F
NFFE
3/8
5/8
15/16
1-5/16
1-5/8

NEFE
7116
3/4
1-1/16
1-1/2
1-3/4

F
NEFE
7/16
3/4
1-1/16
1-1/2
1-3/4

- 0

RY, in.(mm)
L

0.50 (12.7)
0.71 (18.0)
0.81(20.6)
1.00 (25.4)
1.19 (30.2)

Leak test, F
ports E i

1 ‘ il
[ P | P

0.21(5.3)
0.36 (9.1)
0.61 (15.5)
0.89 (22.6)
1.20 (30.5)

R, in.(mm)
L D
0.53 (13.5) 0.21(5.3)
0.81(20.6) 0.36 (9.1)
0.88 (22.4) 0.61 (15.5)
1.12 (28.4) 0.89 (22.6)
1.34 (34.0) 1.20 (30.5)
Leak F
pors /
E [
A
L
R, in.(mm)
L A
0.63 (16.0) 0.30 (7.6)
0.94 (23.9) 0.44 (11.2)
1.01 (25.6) 0.45 (11.4)
1.29 (32.8) 0.54 (13.7)
1.54 (39.1) 0.63 (16.0)

VIGOUR #&El

122



EZEHA / Face Seal Fitting

VVR &%

o

VFS
R iTHERS
in.
VVR-GK-G2
1/8
VVR-GK-G2-NI
1/ VVR-GK-G4
VVR-GK-G4-NI
VVR-GK-G8
1/2
VVR-GK-G8-NI
VVR-GK-G12
3/4
VVR-GK-G12-NI
1 VVR-GK-G16
VVR-GK-G16-NI
* BMAT ZH5BVS001B
- .g.
| Ebas i
VFS
R~ 1T4RS
in.
1/ VVR-GKR-G4
VVR-GKR-G4-NI
12 VVR-GKR-G8
VVR-GKR-G8-NI
VVR-GKR-G12
3/4
VVR-GKR-G12-NI|
1 VVR-GKR-G16
VVR-GKR-G16-NI
* BN T ZHISEVS001B

| &g

VFS
RY

in.
1/4

12

RS

VVR-GKF-G4
VVR-GKRF-G4
VVR-GKF-G8
VVR-GKRF-G8

)54

316L
"
316L

i

316L

i

316L

i

316L

P

()5
316L
)
316L
316L

2
316L

MR

316L

316L

D1

0.09 (2.3)

0.22 (5.6)

0.44 (11.2)

0.66 (16.8)

0.89 (22.6)

D1

0.24 (6.1)

0.44 (11.2)

0.66 (16.8)

0.89 (22.6)

D1

0.22 (5.6)

0.4 (11.2)

* FREFLR (BI%): 0.5um / 2um / 5um / 10um / 20um / 60um iTH3%&f1: VVR-GKF-G4-0.5
* AT ZHISEVS001B

123 VVIGOUR BEEl

ol o
R, in.(mm)
T D
0.028 (0.7) 0.26 (6.6)
0.028 (0.7) 0.47 (11.9)
0.028 (0.7) 0.78 (19.8)
0.028 (0.7) 1.14 (29.0)
0.028 (0.7) 1.40 (35.6)
. al e
R, in.(mm)
T D
0.028 (0.7) 0.50 (12.7)
0.028 (0.7) 0.79 (20.1)
0.028 (0.7) 1.14 (29.0)
0.028 (0.7) 1.40 (35.6)
T
ol o
R, in.(mm)
T D
0.028 (0.7) 0.47 (11.9)
0.028 (0.7) 0.78 (19.8)



Face Seal Fitting / EIZZE34B4
VVR £7l

NS 18
IRk .
VFS R, in.(mm)
RY TGRS (%54
in. D1 T D
VVR-GK-G2-DM-* 316L
1/8 * 0.028 (0.7) 0.26 (6.6)
VVR-GK-G2-NI-DM-* "
VVR-GK-G4-DM-* 316L
1/4 S 0.028 (0.7) 0.47 (11.9)
VVR-GK-G4-NI-DM-* "
VVR-GK-G8-DM-* 316L
1/2 * 0.028 (0.7) 0.78 (19.8)
VVR-GK-G8-NI-DM-* -]
VVR-GK-G12-DM-* 316L
3/4 2 0.028 (0.7) 1.14 (29.0)
VVR-GK-G12-NI-DM-* "
VVR-GK-G16-DM-* 316L
1 * 0.028 (0.7) 1.40 (35.6)
VVR-GK-G16-NI-DM-* =]
* BB REEEHIERS
* BIATZHEEVS001B
| £=
VFS R, in.(mm)
RY 1TRsS %154 B L
in. Hex Flat
1/8 VVR-P2 © 3/8 0.68 (17.3)
1/4 VVR-P4 2 5/8 0.92 (23.4)
1/2 VVR-P8 316L 15/16 1.08 (27.4)
3/4 VVR-P12 1-5/16 1.43 (36.3)
1 VVR-P16 1-5/8 1.52 (38.6)

@ MERTRESK @ IRTIEEEL ITEEM): VVR-P8-R
* BUATZHBBVS001B, WFEITHVIGOURBRAL =R I ZHLEVS001ARIERYEELES, EITRSHFP. F40: VVR-P4-P

Leak test
ports \ /F

3 B

VFS . R, in.(mm)
R~ 1TSS (%54
in. L [F
1/8 VVR-FU2 0.66 (16.8) 7116
1/4 VVR-FU4 1.19 (30.2) 3/4
1/2 VVR-FU8 316L 1.31(33.3) 1-1/16
3/4 VVR-FU12 1.68 (42.7) 1-1/2
1 VVR-FU16 2.04 (51.8) 1-3/4
* BUATZHBEVS001B

VIGOURIEE 12



mE&E=EEH / Face Seal Fitting
VVR %%

| NPTS B LB ©

A
NPT
R

n.
116

1/8
1/8
1/4
1/4
3/8
1/2
3/4
1

@ BEBEEERXAIVFSAMERRIRE PR 6. XEEEM

B
VFS
RY

n.

MR

1/8

1/8

1/4

1/4

12 316L
112

112

3/4

1

@ NERTEREER
@ TLAKAEER

* TR EEERa () <0 4B 4T, EITREHRIMBA, la0:VVR-MC4-M4-BA
* BRATZHEVS001B, f1EEITEVIGOUREBELF =R T EHEVS001 AGETEELAY, EiTHEEHHMP, FI40: VVR-MC4-M2-P

RS

VVR-MC2-M1 @
VVR-MC2-M2 @
VVR-MC4-M2
VVR-MC4-M4
VVR-MC8-M4
VVR-MC8-M6
VVR-MC8-M8
VVR-MC12-M12
VVR-MC16-M16

I NPT e Et i ©

NPT
R
n.
1/16
1/8
1/8
1/4
3/8
1/2
3/4
1

VFS
R

n.

MR

1/8

1/8

1/4

1/4

12 316L
1/2

3/4

1

RS

VVR-MC2-F1 @
VVR-MC2-F2 @
VVR-MC4-F2
VVR-MC4-F4
VVR-MC8-F6
VVR-MC8-F8
VVR-MC12-F12
VVR-MC16-F16

L

1.07 (27.2)
1.07 (27.2)
1.31(33.3)
1.49 (37.8)
1.65 (41.9)
1.65 (41.9)
1.84 (46.7)
2.19 (55.6)
2.47 (62.7)

L

1.10 (27.9)
1.19 (30.2)
1.41(35.8)
1.54 (39.1)
1.76 (44.7)
1.99 (50.5)
2.36 (59.9)
2.51 (63.8)

I
Hik

R, in.(mm)

L1 D
0.38 (9.6) 0.09 (2.3) @
0.38(9.6)  0.09(2.3)®
0.38 (9.6) 0.18 (4.6)
0.56 (14.2)  0.18 (4.6)
0.56 (14.2)  0.28 (7.1) @
0.56 (14.2)  0.38(9.6)
0.75(19.1) 0.4 (10.2)
0.75(19.1)  0.62(15.7)
0.94 (23.9)  0.87 (22.1)

R, in.(mm)

D

0.09 (2.3)
0.09 (2.3)
0.18 (4.6)
0.18 (4.6)
0.40 (10.2)
0.40 (10.2)
0.62 (15.7)
0.87 (22.1)

F

3/8
7/16
5/8
5/8
15/16
15/16
15/16
1-5/16
1-5/8

F flat

7/16
9/16
5/8
3/4
15/16
1-1/16
1-5/16
1-5/8

TEED
psig (bar)

NI SS
9000 (620) 9000 (620)
9000 (620) 9000 (620)
10000 (689) 6400 (440)
10000 (689) 6400 (440)
4300 (296) 2800 (192)
4300 (296) 2800 (192)
4300 (296) 2800 (192)
3700 (254) 2400 (165)
2400 (165) 3000 (206)

IR A IEE MBS EHRSUREATEL |,

/
T
=

F

TIRER
psig (bar)

NI SS
6700 (461) 6700 (461)
6500 (447) 6500 (447)
8000 (551) 8000 (551)
6600 (454) 6600 (454)
3500 (241) 4300 (296)
3500 (241) 4300 (296)
3000 (206) 3700 (254)
2400 (165) 3000 (206)

@ EAEEEMHVFSEMERRIRPUIRSA S, XEEE R R MR R IR B AL E.
@ FMERTRES R
* ITRECERERa () <04RIECHRS, ETTERSHIRINBA, f4N: VVR-MC4-F4-BA
* BUATZHEBVS001B, MFEITMWVIGOUREBSA =R T ZHEVS001 ASISHELRS, fETRSFRIMP, FIaN: VVR-MC4-F2-P

125 VVIGOUR BEE



Face Seal Fitting / EIZZE34B4

VVR 5%

| shiEeszsL®

VFS

R R
in.

1/8

1/4

1/2 316L
3/4

1

@ BREERNAVFSEHERRIRRPURTAH, XL

@ NERTREDM

RS

VVR-MU2 @
VVR-MU4
VVR-MU8
VVR-MU12
VVR-MU16

R, in.(mm)
D
1.13 (28.7) 0.09 (2.3)
1.55 (39.4) 0.18 (4.6)
1.84 (46.7) 0.40 (10.2)
2.44 (62.0) 0.62 (15.7)
2.59 (65.8) 0.87 (22.1)

P
Hie

* TR EERa(FL) < 0.409E (RS, EITERSAIRIBA. flal:VVR-MU4-BA
* BRAT Z#EVS001B, #1sEiTMVIGOURBSA R T EMEVS001 AIEATEELATS, TSNP, 40 VVR-MU4-P

Ishgs =@

VFS
Re

n.

MR

1/8
1/4
112 316L
3/4
1

RS

VVR-MUT-2
VVR-MUT-4
VVR-MUT-8
VVR-MUT-12
VVR-MUT-16

L

1.78 (45.2)
2.14 (54.4)
2.90 (73.7)
3.84 (97.5)
4.00 (102)

R~ in.(mm)
D [F
0.09 (2.3) 7/16
0.18 (4.6) 112
0.40 (10.2) 13/16
0.62 (15.7) 1-1/4
0.87 (22.1) 1-11/16

* ITMRECEERa () <0.ARIECHRS, FEITERSHIRINBA, fa0:VVR-MUT-4-BA
* BUATZHBVS001B, MFEITMWVIGOUREEA =R T ZHEVS001 AFISHELRS, ETREFRIIP, FIaN: VVR-MUT4-P

WEKE

ZEBERTHENENRBTIIEHREAIVIGOUR VFSEIIHA,

* BUATZHBEVS001B

R

n.

1/4
12

)54

316L
316L

1TM4RS

VVR-FLD-4
VVR-FLD-8

F

3/8
5/8
15/16
1-5/16
1-5/8

TEED
psig (bar)

NI SS
9000 (620) 11200 (771)
8000 (551) 10000 (689)
3500 (241) 4300 (296)
3000 (206) 3700 (254)
2400 (165) 3000 (206)

BRI AR R EHRSR AL E.

4 |
D]
T |
| H
|
H -
L
TEED
psig (bar)
H NI SS
0.89 (22.6) 9000 (620) 11200 (771)
1.07 (27.2) 8000 (551) 10000 (689)
1.45 (36.8) 3500 (241) 4300 (296)
1.92 (48.8) 3000 (206) 3700 (254)
2.00 (50.8) 2400 (165) 3000 (206)
RY MR RECS TS
in.
1/4 316L VDV32 VVR-FLD-DV32-4
VDV33 VVR-FLD-DV33-4
12 316L VDV32 VVR-FLD-DV32-8

VIGOUR #&El

126



KinSEZBEEM / High-Flow Face Seal Fitting
HVVR Series

N I= Ry
| crsess
Y= RE-DIS
4= VES R, in.(mm) T{EED
R~ e R~ (%54 TR psig (bar)
> N L L1 D D1 Ni 316L
0.60 0.41 0.25 0.31 3300 3300
3/8 0.035 1/4 316L HVVR-HG4-TB6-L15
(15.2) (10.4)  (6.4) (7.9) 227y (227)
1.19 1.00 0.25 0.31 3300 3300
3/8 0.035 1/4 316L HVVR-HG4-TB6-L30
(30.2) (254) (64 (7.9 @27)  (227)
1.31 1.12 0.25 0.31 3300 3300
3/8 0.035 1/4 316L HVVR-HG4-TB6-L33

(33.3) (28.4) (6.4) (7.9) (227)  (227)
* BUATZHSEVS001B, WIEITMVIGOURBEL =R T SHEVS001 AFhERTE:LAT, EITREFFINP, Fla0: HVVR-HG4-TB6-L15-P

1BEREL
EE VFS R, in.(mm) TEER
R R> (%153 1TRS psig (bar)
in. in. L L1 T D D1 F Ni 316L
1.68 0.75 0.62 0.25 0.31 3300 3300
3/8 1/4 316L HVVR-MG4-TB6 5/8
427y (19.1) (15.7) (64) (7.9) 227)  (227)

* BIATZHEVS001B, aNFEITMVIGOURESLF R T ZMBVS001ATNIEAYESLAT, EITRSHRMP, filan: HVVR-MG4-TB6-P

B F flaft
T et ]

= 1
EmeEEL : T
P —
&= VFS R, in.(mm) TEED
R R~ %154 1TRE psig (bar)
in. in. L L1 T T1 D D1 F H Ni 316L
1.71 0.75 0.62 0.03 0.25 0.31 0.41 3300 3300
3/8 1/4 316L HVVR-AHG4-TW6
43.4) (19.1) (157) (0.8) (6.4) (7.9) (10.4) (27)  (227)

* BUATZHEVS001B, aNFITMVIGOURESLF R T ZAEVS001AHIEATEELAT, EITHREHHRMP, Fla0: HVVR-AHG4-TW6-P

127 VIGOUR BEEl



High-Flow Face Seal Fitting / Kifi2mE&Z=£A 4
HVVR Series

| P pes s
i t
D e
1 I
—— NN B —
gtk )
&= VFS R, in.(mm) HR =X TEED
RY R 15 RS iz EREE psig (bar)
in. in. L L1 T D D1 F F1 Ni 316L
236 130 0.75 031 0.25 19/32 0.44 3300 3300
3/8 1/4 316L HVVR-BMG4-TB6 3/4 3/4
(59.9) (33.0) (19.1) (7.9) (6.4) (15.0)  (11.2) (227)  (227)

* BUATZHEEVS001B, dIFRITMVIGOURERL R I ZMEVS001ARIEATEELE, FHITRSHEHMP. F40: HVVR-BMG4-TB6-TB6-P

/F flaft

‘U‘

VFS R, in.(mm) TEED
R IR ITWRS psig (bar)
in. L D F Ni 316L
1.07 0.25 8000 10000
1/4 316L HVVR-UE4 1/2
(27.2) (6.4) (551)  (689)

* BUATZHEEVS001B, WNFEITMVIGOURESLAFR T EMEVS001 ARIERYEELRY, EITRSHRMP, F40: HVVR-UE4-P

/ F flaft
}
'? =S |
.
=8
. L
L
VFS R, in.(mm) TEED
R (%54 TS psig (bar)
in. L T D F Ni 316L
2.14 1.07 0.25 8000 10000
1/4 316L HVVR-UT4 1/2
(544)  (27.2)  (6.4) (551)  (689)

* BRAT ZHEVS001B, aNFITMVIGOURESL R T EMEVS001 ABIEAYEELRT, EITEREFRMP, Fa0: HVVR-UT4-P

VIGOUR EE 128



Kn=mE=ZEAME / High-Flow Face Seal Fitting

HVVR Series

BNz

A=

VFS
RS MR

in.

1/4 316L

O BTEREEE gx2sn
* ERIAT Z#HSEVS001B

HMEZLIRNE

VFS
RY (15

in.

1/4 316L

* BUALZABBVS001B

129 VVIGOUR EEl

RS

HVVR-FN4 @

1TRS

HVVR-MN4

0.81
(20.6)

0.71
(18.0)

Leak test ports F flaft

R, in.(mm)

D F

0.39
3/4

(9.9)

\/\/\/\/\/\/’_k_/
R, in.(mm)

D F

0.39
5/8

(9.9



Micro Weld fitting / $(RiER 4
VMW 5%l

ItamsL

1/4
3/8
1/2

3/4

ES
n.
0.028
0.035
0.035
0.049

0.065

RS

VMW-UE2
VMW-UE2-SLV
VMW-UE4
VMW-UE4-SLV
VMW-UEG6
VMW-UE6-SLV
VMW-UE8
VMW-UE8-SLV
VMW-UE12
VMW-UE12-SLV

0.56 (14.2)
0.56 (14.2)
0.69 (17.5)
0.81 (20.6)

1.06 (27.0)

R, in.(mm)
M F
5/16
5/16
((’é?f) 7116
9/16
13/16

* ITRECEERa(FY) <0 ARIECHRY, FEITESHIRINBA, flaN:VMW-UE4-BA
* BUATZHEBVS001B, INFEITMVIGOURESL =R T ZMEVS00TATNERIEELRS, ETHRSHRINP, Fla0: VMW-UE4-P

1/4

3/8

1/2

1/2

n.

0.035

0.035

0.049

0.049

w2z EE
n. mm
1/8 0.028
1/4 0.035
1/4 0.035
3/8 0.035

14w S

VMW-RE4-2
VMW-RE4-2-SLV
VMW-RE6-4
VMW-REG6-4-SLV
VMW-RES8-4
VMW-RES8-4-SLV
VMW-REB8-6
VMW-RES8-6-SLV

0.56 (14.2)
0.69 (17.5)
0.81 (20.6)

0.81 (20.6)

* TR EERa(F) <04 RS, TEITEREHRMBA, FIg0:VMW-RE6-4-BA
* BRIATZHEVS001B, a1EEITMEVIGOURESAF R T SHEVS001 AGEATEELAY, EiTEEHHFMP, FIal: VMW-RE4-2-P

R, in.(mm)
M F
5/16
0.25 7/16
©4) 9/16
9/16

H

0.41 (10.4)
0.41 (10.4)
0.47 (11.9)
0.53 (13.5)

0.66 (16.6)

T{EED
psig (bar)

8500 (585)
5100 (351)
3300 (227)
3700 (254)

2400 (165)

H

0.41 (10.3)
0.47 (11.9)
0.53 (13.5)

0.53 (13.5)

VIGOUR H&El

T{EED
psig (bar)

3300 (227)
3300 (227)
3700 (254)

3300 (227)

130



iR / Micro Weld fitting
VMW 5%

131

gE
n.
1/8
1/4
3/8
1/2

3/4

* BRATZHEVS001B, MFEITHVIGOUREBEA R T ZHEVS001 AFISERYIELAS, fEITRSHARMP, Flan: VMW-UT2-P

=
in.
1/4
3/8
1/2

1/2

* TR CEERa(FEY) <0 4M9E AT, EITREHIRIMBA, Fla0: VMW-RT4-2-BA
* EATZHBVS001B, MNEITMVIGOURBSAF R T ZHEVS001 ASIEATEELRY, EITHESHRMP, Bla0: VMW-RT4-2-P

B

in.

0.028
0.035
0.035
0.049

0.065

B
in.
0.035
0.035
0.049

0.049

RS

VMW-UT2
VMW-UT2-SLV
VMW-UT4
VMW-UT4-SLV
VMW-UT6
VMW-UT6-SLV
VMW-UT8
VMW-UT8-SLV
VMW-UT12

VMW-UT12-SLV

Bz EEE
n. mm
1/8 0.028
1/4 0.035
1/4 0.035
3/8 0.035

VIGOUR #&El

0.82 (20.8)
0.82 (20.8)
0.94 (23.9)
1.06 (26.9)

1.31(33.3)

RS

VMW-RT4-2
VMW-RT4-2-SLV
VMW-RT6-4
VMW-RT6-4-SLV
VMW-RT8-4
VMW-RT8-4-SLV
VMW-RT8-6
VMW-RT8-6-SLV

F body M
cube

R, in.(mm)
M F
5/16
5/16
(();j) 7116
9/16
13/16

0.81 (20.6)
0.94 (23.9)
1.06 (26.9)

1.06 (26.9)

H
0.41 (10.4)
0.41 (10.4)
0.47 (11.9)
0.53 (13.5)

0.65 (16.6)

L

H

F body cube. M

| —

TEED
psig (bar)

8500 (585)
5100 (351)
3300 (227)
3700 (254)

2400 (165)

R~, in.(mm)
M F
5/16
0.25 7/16
(6.4) 9/16
9/16

H
0.41 (10.3)
0.47 (11.9)
0.53 (13.5)

0.53 (13.5)

TEED
psig (bar)

3300 (227)
3300 (227)
3700 (254)

3300 (227)



Micro Weld fitting / {8 iE4H 4
VMW 7%l

b:zix=@

wa

n.

1/4
3/8

1/2

sk

0.035

0.035

0.049

RS

VMW-TB4
VMW-TB4-SLV
VMW-TB6
VMW-TB6-SLV
VMW-TB8
VMW-TB8-SLV

L
0.56 (14.2)
0.69 (17.5)

0.81 (20.6)

R, in.(mm)
M F
5/16
0.25
7/16
(6.4)
9/16

* ITIIREC SRR (FS) <0 BT, METRSHFNBA, FIM1: VMW-TB6-BA
* SATZAFEVS001B, A1 TIVIGOURIBRAF=R T ZAEVS001 ASTSAIEELAS, 7ETEASRRIIP, Flal: VMW-TB4-P

M A \ D N
| EEuat=ah
= B
in. in.

1/8 0.028
1/4 0.035
3/8 0.035
1/2 0.049

RS

VMW-CU2
VMW-CU2-SLV
VMW-CU4
VMW-CU4-SLV
VMW-CUG
VMW-CU6-SLV
VMW-CU8
VMW-CU8-SLV

L
0.82 (20.8)
0.82 (20.8)
0.94 (23.9)

1.06 (26.9)

M

F body cube]

o
2

H
0.41 (10.4)
0.47 (11.9)

0.53 (13.5)

-

|
I
I
—_
I
I
|
T

R, in.(mm)
M F
5/16
5/16
oz s
9/16

* ITMREYGEERa () <0.4RIECIHRS, AETTERSHIRINBA, f40: VMW-CU4-BA
* BRATZHEVS001B, MNFEITWVIGOUREBE AR T ZHEVS001 ASIERELAT, EITRSHRMP, FIg: VMW-CU2-P

H
0.41 (10.4)
0.41 (10.4)
0.47 (11.9)

0.53 (13.5)

VIGOUR #&El

TIEER
psig (bar)

5100 (351)
3300 (227)

3700 (254)

THRER
psig (bar)

8500 (585)
5100 (351)
3300 (227)

3700 (254)

132



HRERM / Micro Weld fitting
VMW Z7%1

3/8

1/2

1/2

3/4

3/4

3/4

0.035

0.035

0.049

0.049

0.065

0.065

0.065

1/8

1/4

1/4

3/8

1/4

3/8

1/2

B

mm

0.028
0.035
0.035
0.035
0.035
0.035

0.049

4w sS

VMW-RU4-2
VMW-RU4-2-SLV
VMW-RUG-4
VMW-RUG-4-SLV
VMW-RU8-4
VMW-RU8-4-SLV
VMW-RU8-6
VMW-RU8-6-SLV
VMW-RU12-4
VMW-RU12-4-SLV
VMW-RU12-6
VMW-RU12-6-SLV
VMW-RU12-8
VMW-RU12-8-SLV

___________ 1
L
R, in.(mm)
L M M1
0.75 0.42 0.25
(19.0) (10.7) (6.4)

* ITREYGEERa () <0.4RIECHRS, EITERSHIRNBA, fla0: VMW-RU6-4-BA
* BRAT ZHIEVS001B, aNFEITMVIGOURESLF R T ZMEVS001 ABNEAYELAT, EITERSHRMP, FilaN: VMW-RU4-2-P

l4somams

1/4

3/8

1/2

in.

0.035

0.035

0.049

TR
L

VMW-UE4-R45
VMW-UE4-R45-SLV 0.47 (11.9)
VMW-UE6-R45
VMW-UE6-R45-SLV 0.56 (14.2)
VMW-UES-R45

0.64 (16.3)

VMW-UE8-R45-SLV

TEED
psig (bar)

5100 (351)
3300 (227)
3700 (254)
3300 (227)
2400 (165)
2400 (165)

2400 (165)

R, in.(mm) TYEED
psig (bar)

M F H
5/16  0.41(10.3) 5100 (351)
0.25 7/116 0.47 (11.9 3300 (227
6.4) .47 (11.9) (227)
9/16  0.53 (13.5) 3700 (254)

* EAT ZHI5EVS001B, tNEITHIVIGOURBS =R T ZHEVS001 AGERYEELRY, HEiTSEEHFIMP, Fial: VMW-UE4-R45-P

133 VIGOUR BEE



Tube Butt Weld fitting / {2iEE4H M
VTW %7l

1/4
3/8
1/2
3/4

BB

mm

0.035
0.035
0.049
0.065
0.065

1TI4RS

VTW-LE4
VTW-LE6
VTW-LE8
VTW-LE12
VTW-LE16

L

1.23 (31.2)
1.20 (30.5)
1.34 (34.0)
1.46 (37.1)
1.34 (34.0)

F
T
)
R, in.(mm) TIEED
psig (bar)
M F

7116 5100 (351)
7116 3300 (227)
0.75 (19.0) 11/16 3700 (254)
15/16 2400 (165)
1-1/4 1900 (130)

* ITMIERESCEERa () <0.409ECHHRS, FEITEASHRINBA, fI4N: VTW-LE4-BA
* BUATZHEEVS001B, WNFEITMEVIGOURESL =R T SMEVS00TARNSRIEELRS, EITERSHRI0P, Fla: VIW-LE4-P

=ES
in

3/8
1/2
12
3/4
3/4
3/4

B[R
in.

0.039
0.049
0.049
0.065
0.065
0.065

1/4
1/4
3/8
1/4
3/8
1/2

B[R
mm

0.039
0.039
0.039
0.039
0.039
0.049

TS

VTW-RLEG6-4
VTW-RLES-4
VTW-RLES-6
VTW-RLE12-4
VTW-RLE12-6
VTW-RLE12-8

£
>

R~, in.(mm)
L M

0.98 (25)

1.06 (27)

1.06 (27)
1.24 (31.5) 0.75 (19.0)
1.24 (31.5)
1.24 (31.5)

* ITMREYEEERa(FY) <0.4R9ECHHRS, FETTEASHIAINBA, fIaN: VTW-RLE6-4-BA
* BRUATZHBEVS001B, MFEITHVIGOUREELF =R T ZMEVS00TABNERIEELRS, EITERSHARINP, Fi0: VTW-RLE6-4-P

6/16
7/16
7/16
15/16
15/16
15/16

VIGOUR #&El

TRER
psig (bar)

3300 (227)
3700 (254)
3300 (227)
2400 (165)
2400 (165)
2400 (165)

134



VISR / Tube Butt Weld fitting

VTW 71

BE o
n. n.
1/4 0.035
3/8 0.035
1/2 0.049
3/4 0.065
1 0.065

T R e}
M
VTW-LT4 2.46 (62.5)
VTW-LT6 2.40 (61.0)
VTW-LTS 2.68 (68.1) 0.75 (19.0)
VTW-LT12 2.91 (73.9)
VTW-LT16 2.68 (68.1)

* ITMREYEEERa () <04RIECIHRS, ETTERSHIRINBA, faN: VTW-LT4-BA
* BUATZHBEVS001B, MNFITHWVIGOURESLE=R I ZHEEVS001 AFIERYESRS, EITHSHRMP, Fig0: VTW-LT4-P

={= == e

BE

in. in. in. mm TRS
3/8 0.035 1/4 0.035 VTW-RLT6-4
1/2 0.049 1/4 0.035 VTW-RLT8-4
1/2 0.049 3/8 0.035 VTW-RLT8-6
3/4 0.065 1/4 0.035 VTW-RLT12-4
3/4 0.065 3/8 0.035 VTW-RLT12-6
3/4 0.065 1/2 0.049 VTW-RLT12-8

L

2.39 (60.7)
2.67 (67.8)
2.67 (67.8)
2.91 (73.9)
2.91 (73.9)
2.48 (63.0)

R~ in.(mm)

0.75 (19.0)

* ITRECEERa(FY) <0.4R9ECHRY, FEITERSHIRINBA, fUaN: VTW-RLT6-4-BA
* BIATZHEVS001B, a1FmITMVIGOURESLF R T ZAEVS001 AHIEAEELRT, ETREHRMP, Fa0: VTW-RLT6-4-P

135 VIGOUR BEE

F

7/16
7/16
11/16
15/16
1-1/4

F

7116
11/16
11/16
15/16
15/16
15/16

H1

TIEED
psig (bar)

H

1.23 (31.2)
1.20 (30.5)
1.34 (34.0)
1.46 (37.1)
1.34 (34.0)

5100 (351)
3300 (227)
3700 (254)
2400 (165)
1900 (130)

H H1

1.20 (30.5)
1.34 (34.0)
1.34 (34.0)
1.46 (37.1)
1.46 (37.1)
1.24 (31.5)

1.23 (31.2)
1.34 (34.0)
1.35 (34.3)
1.48 (37.6)
1.48 (37.6)
1.24 (31.5)

TFERN
psig (bar)

3300 (227)
3700 (254)
3300 (227)
2400 (165)
2400 (165)
2400 (165)



Tube Butt Weld fitting / {2 E4RH
VTW %7l

=Y EE
n n.
3/8 0.035
1/2 0.049
1/2 0.049
3/4 0.065
3/4 0.065
3/4 0.065
1 0.065
1 0.065
1 0.065
1 0.065

1/4
1/4
3/8
1/4
3/8
1/2
1/4
3/8
1/2
3/4

BB

mm

0.035
0.035
0.035
0.035
0.035
0.049
0.035
0.049
0.049
0.049

1TI4RS

VTW-RLUG-4
VTW-RLU8-4
VTW-RLU8-6
VTW-RLU12-4
VTW-RLU12-6
VTW-RLU12-8
VTW-RLU16-4
VTW-RLU16-6
VTW-RLU16-8
VTW-RLU16-12

* RS ERa(F) <04 RS, EITERSRIRMBA, filfn: VTW-RLU6-4-BA
* BRATZABVS001B, WIZEITMEVIGOURBEM R T ZMBVS001 AFERESLAT, EITRSHRINP, Flan: VIW-RLU6-4-P

R, in.(mm) T{EED
psig (bar)
L M
3300 (227)
3700 (254)
3300 (227)
2400 (165)
1.50 (38.1) 0.75 (19.0) 2400 (165)
2400 (165)
2400 (165)
2400 (165)
2400 (165)
2400 (165)

VIGOUR #&El

136



YEIEEREREE / Weld Assembile
VWR 7%l

VieseiEss

RIS ERSL o fat
VFS R, in.(mm) THEES
RY R ITmS psig (bar)
in. L G Ni 316L
1.00 8000 10000
1/4 316L VWR-FE4 3/4
(25.4) (551)  (689)

* BUATZHEEVS001B, WNFEITMVIGOURESAF R I EMEVS001 ABIERYEELRY, EITRSHHRIMP, F4N: VWR-FE4-P

IR =ik

VFS R, in.(mm) TEED
R R TS psig (bar)
in. L G Ni 316L
1.00 8000 10000
1/4 316L VWR-FT4 3/4
(25.4) (551)  (689)

* BUATZHIEVS0018, ANFTMVIGOURIBEAF R T EMFEVS001 ASRSAELRS, TSP, FIN: VWR-FT4-P

137 VIGOUR BEEl



Cylinder Connection / {iiff#&sk
VUC &5

| =Riss

o {RIEESL

o EIEENARE)

o 1/4 "NPTHMEL / emmTEREL / emmiMIEIERE
o FERHNESS VS001B TEHE (FENMR)

o FTBEEYESRE

- FYFREEEE: 10p.Ra, RAFREIEEE: 150.Ra

o FFRE100RFTAENAFIEEE

DIN

CGA

BSP

GB

115

RFTRZEMEREL
(E5): VCC-C-HNN-DIN477.6)

I:iTtss

VUC -S - N -CGA580 - TF6M

R J \— HRER

S: 316L 6M: 6mm REREL
TW6M: 6mm |EE5EE

TW4: 1/4" 12iEEE

HHIRIN

N: 253 S

N *égﬁ%é’%* PORER:

HN: FhEEES SEDEZEANFER,

HNN: FEhEENZE+iRsdEsL MR

NNP: 1R Rt EIERRAERNERENE

NNGP: 1R +I250%L, By, 8

G: 85

VIGOUREE 138



§MiRIEL / Cylinder Connection
VUC DISS #7%1

| A%
IR
R
125 316 5550
sk 316 5N
HSERE G 316 555N
R H SR 316 5550
2oy B ()™

* INFEMAT MR, B5I KR,
* FEEREIERFS VS001B TZHEE (FEIMSR)
* PR 100k A EMAAN A

126, EiELRB R SRk
F
CGA/DISS 4wfg Im iR NAFE
in.
1/4" 1BEEE
- 172" 12EEE _q/an
632 ~ 642 174" VFS sy 1-1/4
1/4" 125EEE
712 ~ 728 1/2" 1R 1-3/8"
1/4" VFS MBS
24.50
36.35 — @12.70
24.50 - 210.20
24.50 A

08°€9
08°'€9

0,82

/4" 1REEEE 172" \2peEE

1218
F H
CGA/DISS . o . _ _
pae TS )5 NEFHE KE S5
- in. in.
632~642  VUC-DISS-C-63 1-1/4 0.98
712~728  VUC-DISS-C-71 iR’ / PTFE 1-3/8 ' =

139 VVIGOUR BEE

1/4" VFS GMZET

0S92

A

A\

/K

2

3

If
N
N

.__._.“““‘“
S . >\

N

oSN
24\

N

%

7.

HH Yy -

EiESN

1/4" VFS pPoigey

6’18



Cylinder Connection / §f#Ri%:sk
VUC DISS &5

%154 1T9RS A H E
4 VUC-DISS-G-NI 0.105
PCTFE VUC-DISS-G-PC 056 0.125 0.21 <
11}
* IEE R 1054,
IEETEE
E
CGA/DISS . o s H I
ﬁﬁg LTMQH%’E Uy D&*ﬁ FE';\ KfE / \ﬁ;n:FE
632 ~ 642 VUC-DISS-BP-63 1 1.53 1-1/8
712 ~718 VUC-DISS-BP-71 EE 1.53 1-1/4
720 ~ 728 VUC-DISS-BP-72 1EE 1.53 1-1/4
F F

il
i

)=

g M

&)

|iTias#
VUC DISS- NNG - CGA632 - TW4 - Ni
AR J L BEMER
N: 253 Ni: &
P: &2 PC: PCTFE

NNG: 128+1280%L, B

NNGP: #2fg+iBausk, thhy, 13 JOTT,
e i M

MV4: 1/4" VFS JMEL

TW4: 1/4" |8fsises

CGA %75 TWS: 1/2" |8fsise

CGA632  CGA64 CGA720 FV4: 1/4" VFS PR

CGA634  CGA71 CGA722

CGA636  CGAT71 CGA724

CGA638  CGA71 CGA726

CGA640  CGAT71 CGA728

* HftiEing, BEE0 R,

VIGOUREE 140



E/3% / Pressure Gauge
VGU/VRU/VGT/VRT 5%l

141

=z O/t
Il“‘l:ln*»:r,ﬁ

- BRE "EE FSUESIRNA, FFESEMI/SEMATECHITE

« AR

. FERHENERE VS001B TZHE (EUMR)

o I28OERE FRCERIPIE

+ 100% L/ SR

o BRAIEZF1x10° mbar I/s He
s FRE100RFTAEMNFELE

| Bzt

| ~=2R< (mm)

@58

VIGOUR #&El

VRU

Ehz

316L VAR, EBf@ifiiy%

316L SS

304 SS

WiBE

7

psig / bar ZIE

o

Grade A per ASME B40.1
—40°F to 140°F (-40°C to 60°C)

VRT

@58 29.6

@51
}
1
:
@575

80.3

10.2

VRU

VGT

VGU

VGT

@57.5

29.6

26.1

10.2
—
»

IS




Pressure Gauge / [EH®E
VGU/VRU/VGT/VRT %5l

|iTs%

VGU/VRU #7l (EBR2EVFSini&Es)
RS

VGU20S-1.6/2.5/4/6/7/10/14/16/25/35/60B-FV4
VGU20S-1.6/2.5/4/6/7/10/14/16/25/35/60B-MV4
VGU20S-1.6/2.5/4/6/7/10/14/16/25/35/60B-RMV4
VGU20S-100/150/250/315/400B-FV4
VGU20S-100/150/250/315/400B-MV4
VGU20S-100/150/250/315/400B-RMV4
VGU20S-V1.6/V2.5/V4/IV6/INTIV10/V14/V16B-FV4
VGU20S-V1.6/V2.5/V4/V6/V7IV10/V14/V16B-MV4
VGU20S-V1.6/V2.5/V4IV6/VT7/V10/V14/V16B-RMV4

VRU20S-1.6/2.5/4/6/7/10/14/16/25/35/60B-FV4
VRU20S-1.6/2.5/4/6/7/10/14/16/25/35/60B-MV4
VRU20S-1.6/2.5/4/6/7/10/14/16/25/35/60B-RMV4
VRU20S-100/150/250/315/400B-FV4
VRU20S-100/150/250/315/400B-MV4
VRU20S-100/150/250/315/400B-RMV4
VRU20S-V1.6/V2.5/V4/V6/V7/V10/V14/V16B-FV4
VRU20S-V1.6/V2.5/V4/V6/V7/V10/V14/V16B-MV4
VRU20S-V1.6/V2.5/V4/V6/V7/V10/V14/V16B-RMV4

VGT/VRT &% (FEROEE)
TS

VGT20S-1.6/2.5/4/6/7/10/14/16/25/35/60B-T4
VGT20S-1.6/2.5/4/6/7/10/14/16/25/35/60B-T6M
VGT20S-100/150/250/315/400B-T4
VGT20S-100/150/250/315/400B-T6M
VGT20S-V2.5/V4/V16B-T4
VGT20S-V2.5/V4/V16B-T6M

VRT20S-1.6/2.5/4/6/7/10/14/16/25/35/60B-T4
VRT20S-1.6/2.5/4/6/7/10/14/16/25/35/60B-T6M
VRT20S-100/150/250/315/400B-T4
VRT20S-100/150/250/315/400B-T6M
VRT20S-V1.6/V2.5/V4/V6/V7/V10/V14/V16B-T4
VRT20S-V1.6/V2.5/VAINV6/V7/V10/V14/V16B-T6M

HSEE
VGU £7%1, R, VFSiEsk

1/4" VFS PRIBLL
1/4" VFS HMBEY
1/4 AT hiEle VFS JMREL
1/4" VFS P2y
1/4" VFS HMBEY
1/4" ETfiEls VFS JMREL
1/4" VFS PRIRLL
1/4" VFS 4MBEY
1/4" BThiEk VFS JMBLL

VRU 271, @&, VFSiEsk

1/4" VFS PRIBLL
1/4" VFS JMBLL
1/4" A]hiEe VFS JMELL
1/4" VFS PRIBLL
1/4" VFS GMELL
1/4" ETliEkE VFS JMRSL
1/4" VFS PRIBLL
1/4" VFS HMREY
1/4" ETliEkE VFS MR

HSEE
VGT R7l, FMEEE, REiEL

14" RERSL
6mm RE#EL
14" RERSL
6mm RE#EL
14" REREL
6mm RE#=L

VRT Z7, HIE&EE, ~EEEk

14" RERSL
6mm RE#EEL
14" RERSL
6mm RE#EEL
14" RERSL
6mm RE#EEL

EH%E (bar/psig)

0~1.6/2.5/4/6/7/10/14/16/25/35/60 bar
0~23/30/60/86/100/140/200/230/350/500/860 psig

0~100/150/250/315/400 bar
0~1500/2000/3500//4500/5800 psig

Vac~1.6/2.5/4/6/7/10/14/16 bar
Vac~23/30/60/86/100/140/200/230 psig

0~1.6/2.5/4/6/7/10/14/16/25/35/60 bar
0~23/30/60/86/100/140/200/230/350/500/860 psig

0~100/150/250/315/400 bar
0~1500/2000/3500/4500/5800 psig

Vac~1.6/2.5/4/6/7/10/14/16 bar
Vac~23/30/60/86/100/140/200/230 psig

EHzk (bar/psig)

0~1.6/2.5/4/6/7/10/14/16/25/35/60 bar
0~23/30/60/86/100/140/200/230/350/500/860 psig

0~100/150/250/315/400 bar
0~1500/2000/3500//4500/5800 psig

Vac~1.6/2.5/4/6/7/10/14/16 bar
Vac~23/30/60/86/100/140/200/230 psig

0~1.6/2.5/4/6/7/10/14/16/25/35/60 bar
0~23/30/60/86/100/140/200/230/350/500/860 psig

0~100/150/250/315/400 bar
0~1500/2000/3500/4500/5800 psig

Vac~1.6/2.5/4/6/7/10/14/16 bar
Vac~23/30/60/86/100/140/200/230 psig

VIGOURIEE 142



BiERENZE / Contact Gauge
VGU20SE / VRU20SE 7l

| =545s

o AR EIRKI)

o ATFENESESFEEER

- BFEE. WM. St BEESERSINESY
o PEEREIERFE VS001B TEHE (ERMR)

« TREREYEEE10pin. (0.25um) Ra

« BBZKEO0S5m

« mBNAMURERLES

o EHIRETREBITER0~24%

s FRE100RFLENAEEE

| =&5E
EhEHERANAE EERE IR, SrliEEEEEEnEUE, 555 VGU

TEEAER, BENTRERGRENEERN T SSMERE.

et
WAIE: bar / psi
&R 1/4" VESHMRLL / 1/4" VFSPIIREL
R 2"
BE: +2.5%
B 316L VRU
Ihee: A
ISR NAMUR
BE -25~100°C

| ~RRJ (mm)
£
g7 &

63

68.5

s
11754 VGU 20 SE - 400

- -
=5 ] ENE |
GU: 2 400: 0~5800ps!g (400bar)
RU: %] 250: 0~3500psig (250bar)

60: 0~870psig (60bar)
25: 0~360psig (25bar)

R
S: 316LEP

143 VIGOUR BEE]



Contact Gauge / BiESEHE
VCG20S / VRG20S %5l

=y
I}"‘nn&hr,'#\

HREBERRIEDZRKI)

FRFHSEDRIE

- BRTENL. TR SHAOREESERSERSY
FRENERE VS001B TZHE (FEIMR)
TERIREDGERE 10pin. (0.25pm) Ra

« WEBEEEMRILE, HEMERETE

o 100%s R
o FFRIE100FRTTAENRAFIELE
| =5 R

SIMEHIRAIEECRERENR. BERAEDRES T RIS -FIE
ESEHNER. £5ES8, AENTEER F-ENHiESRERS
S, FRETERERNELED.

VCG

| 5AS%

WAIE: bar / psi

R VFSHESL

R 2"

B Grade A per ASME B40.1

B 316L

Thee: BRF/BE

FESEEE: FFXERSE < AC 24V / DC 24V

FFREBAR < 0.5A
FFKEEIR < 10VA /W

|
®50.7

T
] Union Nut
o19
i 0158 9/16-18UNF
Male Nut

9/16-18UNF

| T

VCG20 S - 400 - FV4 - NC

%51 _ -~ wm
CG: 12m

None: NC/NO
. . NC: 5

RG: HiE ES35EE NO: #FF
400: 0~5800psig (400bar)
250: 0~3500psig (250bar) =

?”T} 6L EP 60: 0~870psig (60bar) i 1R

’ 25: 0~360psig (25bar) FV4: 1/4" VFS PEREL

V4 :Vac~60psig (4 bar) RMV4: 1/4" VFS JMEL (FTTiEkE)

V7 :Vac~100psig (7 bar)

V10 :Vac~150psig (10 bar)
V16 : Vac~230psig (16 bar)
V25 :Vac~360psig (25 bar)

VIGOUR #&El

144



ESEFFmIZHE
Ultrahigh-Purity Process Specification VSO001A

. oE

X ABAEF A THSM T ASER A I CRIRNEN M T TIE, AFERTESAEN R, WXMFEES M

BR, RARSHRESF—RER, XE-RiERd .

=. &t

PRSI TR, SXEIREHTIRIT. FRER. EEEHTREINL- +EREERT TIIRE:

B

KD FFEIREASTM F 1397 "BTFRESESEEFITHK D RERREWRTTE"
RENEWDWT, FFEIREASTM F 1398 "BTRESHS RS RRES N SRR ERREULITE"
BHEEE, FEINEASTM F 1374 "BTFRESHSEERTHERES 7/ ZERY-IC/GC/FTIRARENL A"

. 1AEER

BT HMENASEAMREMMEAEE, BLRUNERTSERRGRESA midfl. AISIZE316L (UNSS 31603) fRiEA

BINEIRERN OB NERTRERM, BT R 2R,

"y v B v v v B

]t

NENERE TR

ASTM A479 " BTAEIFFIEEEDSRINEIMRER R BT .

ASTM A484 "RIFREFMIAE. IMERIRARTBRERITE" .

ASTM A276 "AEEFOMAVERA B o

BRFHFFE TIINE

ASTM D3294 "BRI@m ZIENAS E BRI E 2R ERE" .

ASTM D4894 "BRINEZIBIHIMESF TR FRIIEL, 1HRNEIIE.

316L E=HIIER (VAR) fi316L HE=REREL (VIM) +BE=HIIER (VAR) AIEHFFS SEMI F20-0305 “B®BRATI. 54
MBS SAENE316LATENE, RIS, FERE. WFfETHETe” .

NRFNITZHERANK (AOD) HEETRMIEE (VIM) . TR RERIRE, FIINE=REIIER (VAR) LIRS
FEFRGEIRE, REAOD+VARKIEATHA# 3161 VARIAH), RFBVIM+VARSMERIF#/9316L VIM-VARKF#,
ATHREE—ERIFT ML, FAXIHHFRXBETRSEH T TNE, WF1.

F1: TENFRXBTRSENE

TR 316 AOD 316L AOD 316L VAR 316L VIM-VAR
Chx 0.035% ~0.050% | 0.015% ~0.030% | 0.015% ~0.030% | 0.015% ~ 0.030%
S 0.020% ~0.030% | 0.005% ~0.030% | 0.005% ~0.012% | 0.005% ~ 0.010%
Mn & 1.50% ~2.00% 1.00% ~ 1.50% 1.00% ~ 1.50% 0.15% ~ 0.40%

IRER mAIEEEERRRT TFIS:

MRFFEHEISEEREASTM A2628ZA "BREATNEINRBREBEMHENRRER" BER.
WERDIIEERFGASTM A751 "BITNRERUFOHEINRTTE. AEIAE" HEX,
REREBETEFRUNEHTIE, FEASTM E214 "ERKPNRRFTESATERRURAEE .
SREAMEII K THEN, FFEASTM E45 "HERERMSERITENE, 5iEA" | FRETPlate |-,

. HIEMRELE

EHRESED, ENRITMRECHTSEE, SMUINLTHEERFIFRmELY:, FRdE, £FRREMTFERNRE

T LS L BB B A AR B/ M

EEHREE /A ARERTSEMI F19 RSN REMEESIHTE’ fISEMI F37 AT SAS TR TR
ESBNSE .

R BRI NBI SRR RN T in (0.20um) | FEFBRBIY NI EREREREEERa/VF15¢in (
0.40pm) .

KA RACEREIESEMI F37TAAFTEMITRIOE, SRNRa T EakeEE.

s VIGOUR BEE



FS=mIZHE
VSO001A Ultrahigh-Purity Process Specification

n REEREE/MYCEI ERMAASME B 46 1RYBRA(GHITIRE, NERRAELERINANSRARREGKE, FaEERER,
X REREELL,

h. EBaityeFsL
XA RIERT RIS EAFENT M. RSN RIZREERET B LIRERER MR AN BB REEE. 1
JtiE, FrEREEMEIES FIARBRIFE .
. FETZEETASTM E1558 "SRRI | FHEREFISERTLHE.
n FWTZETASTM A380 "REREM. REMNRGANER. FRBHEL" .
n RRRER2HH TR RIS LA T 28I,
R2: EEHLEAVIIETIERIRDE

2 & Mh7AE
%/ 8% =520
FBFEIE{Y (ESCA)
SEE / |tk tbER>2.0
SHWEFIEE >15A S EFHEEMY (AES)
RETRFEDHT SRR, S XKIERIERE <404 BFRHE (SEM)
eyl EENENEE, —SEEREE BaE

. GG R
XE5 REFRTFEIAN=R, HRAIERMREE (CPT) MASTM G15055H, FMTHERAMIAAR, HCPTIRE
— MBS R KBTS IR RS T, ERSIER, BRRETE. ISR > 13°C,

+t. EEETE

HERAEEFKIREERATSR. FREEIS M TEN—RIIRERREL, EBFKMAILRTEEHITES, 5871
IKEFRLATIRE:
n EEFKRRHAIERSSEMI E49.7 "RENRRFREEEAINRIZRIER" .

&3 EBEFKEAE

FHE 2%
FEpE >17.5MQ.cm (25°CH)
BB A TOC <20ppb
=70 =3 <5ppb
HE £100ml < 104HEER
MEBTKEE >60°C

I\, B
ATRIFTTHAZZSER, THEENSERRTEERESAHTAEMNLE. EFEXKSRIFRINENS RSSO
14644-1 "BEFERBERAOOZEINE" B9Class S5FR, BIJTHKAIZSH>0.5pumAIEREE < 35205,

h. SEMER

»  EEMIRRRER SN RENTRAISEMI E49.6 "ATFAERAERNFRABRINTRIERERE" HEK.
»  RRAABREREN I mEEAER T .

VIGOUR EE] 14



FARFmIZSHE
Photovoltaic Process Specification VS001B

—. &
X ABEF AT UM TR FER =R T TRE. BXHFESTmER, FIALENRESFEBHER, Xt -nfER
75, WXARHERT SN RSAMERATER .

=. &t
PRSI TR, ST TIRIE. FRER. EEEHTIRIININEREERT TR E:

. KDDHT FFEINEASTM F 1397 "BTFRESAD R RERENRTTE"

. REWEWHHT, FEIWEASTM F 1398 "ATRESADERATH MRS SYIRERNENLTTE"
BHEEE, FEINEASTM F 1374 "BTFRESKSEEFTHRES T/ ZERY-IC/GC/FTIRARENLTTE"

. 1AEER
BT MENASEAMREMMEAIEE, BERURNERTSHRRGRESA ~midFl. AISIEL316L (UNSS 31603) fREEA
BINEIRERN ORNERTRERM, BT R 2R,
BT E T RE:
ASTM A479 "BT RN CEDBRAINBIIMAEI R BT
ASTM A484 "RITAFEMIRE, IMERBREBRAZERIGE" .
ASTM A276 "AEEFIMIREII R ENS" |
SEMI F20-0305 "BAT. SEMEEEESAEHIES16LFENE. RE. FEME. REIEMTHIiE .
NRFNITZHERANK (AOD) HEETRMIEE (VIM) . AR RERIRE, FIINE=HEIIER (VAR) LIRS
FEFRGEIRE, REAOD+VARGIEATHA#H316L VARIAH}, RABVIM+VARSMERIF#/9316L VIM-VARKF#,
. ATREEHRNERON, BAHPRXETRSEHIT TR, WK,
F1: TENFRXBTRSENE

TR 316 AOD 316L AOD 316L VAR 316L VIM-VAR
Chx 0.035% ~0.050% | 0.015% ~ 0.030% | 0.015% ~0.030% | 0.015% ~0.030%
S 0.020% ~0.030% | 0.005% ~ 0.030% | 0.005% ~0.012% | 0.005% ~0.010%
Mn & 1.50% ~ 2.00% 1.00% ~ 1.50% 1.00% ~ 1.50% 0.15% ~ 0.40%

IRER mAIEEEERRRT TFIS:

MHEFFEHEIEEREASTM A2628ZA "BREAREINGRBRZBEIHENRRENE" AIEK,
WERDIIEERFGASTM A751 "BTNRERUEOHEIIRTTE. IEIAE" HEX,
REREBBEITEFRUNEHTIE, FEASTM E214 "ERKTNRRITESATERRURATE" .
FFAPETI K TR, FEASTM E45 "RENEIFRBINNENE, 3iEA" |, FRETPlate |-,

), LSRRG
AEHRESED, ENRIMREI T SEE, SMUIITTHEERFORmEitY ., FEdE, £FRnEMTFERIRE
T LS B BB B A AR B ) M
n REFEREE/MYRERETSEMI F19 "RNERTTHSMT RIZMERESFMAEE" FISEMI F37 "BT SIS RRSTTHRERmEME
ESHH5E W
n  ERANENT R MEAEREAEE RN F8pin (0.20um) | REEFEMICAIRAEREREREER/NT15pin (
0.40pm) .
A mATEREE TS SEMI F37TRATZHTEE, RARESTIEEEEE.
REARREE /OB ERFFSASME B 46.1RUGIAGETREE, MERRAZLERIINIANSRATREGRKE, FEE#ETRE,
X RERERAL.

A. iyt

XED RERTEIYm. EEFRRS N REMRER ST B MRS REF A AEEETRRREE. s,
PrEREERET T LA RRRIF R k.
n BRI TZRETFASTM BI12 "FERBEMHIA SN IRENE" .

147 VVIGOUR BEEl



FARFmIZHE
VS001B Photovoltaic Process Specification

n  EMERIFRERHYEEE L ZETASTM A380 "RNEREM. REMARFAVEE. FREMENL" .
n  EEHBEANECAOIGIEEARIZASTM BO12  "(EFRFEHI SR SEIREI RN PEE6RRD AOMIET5 51T,

7. EBiRInRAEE
XEDRIERTEIE M. WEAFIRRREE (CPT) MKXLIASTM G1500EH, BFHRESAMINARM. HCPTHAE

— P EERS FHERE SRS KESRERFIGREH T, FRSURER, BBREFE. IRRRIWREER > 10°C,

+t. FEST®R

EERAEE KRS ER, FREBEISMEERN—RIIRERRERL, SRR HRERTES, RIE
ASTM G127IEEEEEH.
. EEFKAMHEERSASTM D51273880E-3  "RTFREFESMTAGBAKAINEISE" AIE,

w2 KB

FHIE b
EBfE= >12MQ-cm (25°CHT)
Bt EH TOC <300ppb
=R <50ppb
e 5 100ml < 50 4HEEL

I\, AR
ATHRIPTTHARZESIER, THEENSERATEEEE S A TR,

h. SFMFER

s BEMRREFSHNASEN=RNSEMI E49.6 "ATFABNERNFRAAEULRIEERE" NEK,
n  RRHTBREEEN I mERAER Fata W,

VIGOUREE 14



BAREAT

Conversion Factors

EH
| atm bar ft of H.O in of hg in of H-0 kg/lcm? kPa mm of Hg PSI
LA BY
atm 1.01325 33.932 29.921 407.1827 1.0332 101.3171 760 14.696
bar 0.98692 33.4883 29.530 401.8596 | 1.019716 100 750.062 | 14.50368
ft of H.O 0.02947 | 0.029891 0.882646 12 0.03048 2.9890 22.4198 | 0.433107
in of hg 0.03342 | 0.033864 1.1340 13.6 0.034532 | 3.376895 25.4 0.49115
in of H-O 0.00246 | 0.002499 | 0.083333 | 0.073556 0.00254 | 0.0249089 | 1.86832 0.03609
kg/cm? 0.9678 0.980665 | 32.8084 | 28.95903 | 393.7008 98.03922 | 7355592 | 14.22334
kPa 0.00987 0.010 0.33456 0.29613 4.01472 0.01020 7.5006 0.14504
mm of Hg 0.00132 | 0.001333 | 0.044603 | 0.03937 | 0.535240 | 0.001360 | 0.133322 0.019337
PSI 0.06805 | 0.068948 2.3089 2.0360 27.70851 | 0.070307 | 6.89465 51.175
i
cm’/min cmé/sec ft/hr ft/min mé/hr m*/min L/hr Lpm
Feld BY
cm¥min 0.0166667 | 0.0021189 | 0.0000353 0.00006 0.000001 0.06 0.001
cm?®/sec 60 0.1271340 | 0.0021189 0.0036 0.00006 3.6 0.06
ft¥/hr 471.9474 7.865790 0.0166667 | 0.0283168 | 0.0004719 28.31685 0.4719474
ft/min 28,316.85 471.9474 60 1.699008 0.0283168 1699.008 28.31686
mé/hr 16,666.67 277.7778 35.31467 0.5885777 0.0166667 1000 16.66667
m*/min 1,000,000 16,666.67 | 2118.876 35.31467 60 60,000 1000
L/hr 16.66667 0.2777778 | 0.0353147 | 0.0005885 0.001 0.0000167 0.0166667
Lpm 1000 16.66667 2.118876 0.0353147 0.06 0.001 60
BE
gms/cm?® kg/m? Ibs/ft® Ibs/in lbs/U.S. gal
A BY
gms/cm? 1000 62.428 0.0361273 8.3454
kg/m?® 0.001 0.062428 3.61273 x 10° 0.0083454
Ibs/ft* 0.0160185 16.018463 5.78704 x 10* 0.13368
Ibs/in® 27.679905 27.679.9 1728 231
Ibs/U.S. gal 0.1198264 119.8264 7.4805195 0.004329




MHREE
Material Compatibility

Material Compatibility
materials
metal plastic synthetic
rubber
Process Gas chemical formula E _ > . |

:Eg = _(Cg o S [Tw}

Ammonia NH; 1 1 1 1 3 1 3 1
Argon Ar 1 1 1 1 1 1 1 1
Arsine AsH; 1 2 2 1 0 1 1 0
Boron Trichloride BCl; 2 1 1 1 2 1 1 0
Boron Trifluoride BF; 2 1 1 1 0 1 1 0
Carbon Dioxide CO, 1 1 1 1 1 1 2 2
Carbon Monoxide Cco 1 2 2 1 1 1 2 2
Carbon Tetraflouride CF, 1 1 1 1 0 1 1 0
Chlorine Cl, 2 1 1 1 0 1 2 3
Diborane B,H¢ 1 2 0 1 0 1 0 0
Dichlorosilane SiH,Cl, 2 1 1 1 0 1 1 0
Fluorine F, 2 1 1 1 0 1 1 0
Freon 23 Trifluoromethane CHF; 1 1 1 1 0 1 1 0
Freon 116 Hexafluoroethane C,Fs 1 1 0 1 0 1 1 0
Germane GeH, 1 1 1 1 0 1 1 0
Helium He 1 1 1 1 1 1 1 1
Hydrogen H, 1 1 1 1 1 1 1 2
Hydrogen Bromide HBr 2 1 1 1 0 1 1 0
Hydrogen Chloride HCl 2 1 1 1 0 1 2 0
Hydrogen Fluoride HF 2 1 1 1 0 1 1 3
Hydrogen Sulfide H,S 1 1 0 1 0 1 3 1
Krypton Kr 1 1 1 1 1 1 1 1
Methane CH, 1 1 0 1 1 1 3 2
Methyl Fluoride CH;F 1 1 0 1 0 1 1 0
Nitric Oxide NO 1 1 1 1 0 1 1 0
Nitrogen N2 1 1 1 1 1 1 1 1
Nitrogen Trifluoride NF3 1 1 1 1 0 1 1 0
Nitrous Oxide N20 1 1 1 2 1 2 1 1
Neon Ne 2 2 1 1 1 1 1 1
Oxygen 0, 1 1 1 1 1 1 1 1
Ozone O3 2 2 1 1 0 1 2 1
Perflouropropane CsFg 1 1 1 1 1 1 1 0
Phosphine PH; 1 2 2 1 1 1 1 0
Phosphorus Trifluoride PF; 2 1 1 1 0 1 0 0
Silane SiH, 1 1 1 1 1 1 1 2
Silicon Tetrachloride SiCl, 2 1 1 1 0 1 0 0
Silicon Tetrafluoride SiF, 2 1 1 1 0 1 0 1
Sulfur Hexafluoride SFe 1 1 1 1 0 1 1 1
Tetraethyl Orthosilicate TEOS 1 1 1 1 0 1 0 0
Trichlorosilane SiHCl; 2 1 1 1 0 1 1 0
Tungsten Hexafluoride WFg 2 1 1 1 0 1 0 0
Xenon Xe 1 1 1 1 1 1 1 1

“0" no data / “1” recommend to use / “2” Part resistant, can be used / “3” Unavailable



R 8RR R SR

Pressure Regulator and Valve Selection Gulde

il Al i il wE | SmsEE TR R
- BAT SR AT (RN BAT SEAEES | SR (MBS
(slpm) UA/UB/UC (slpm) UA/UB/UC (slpm) UA/UB/UC (slpm) UA/UB/UC
Butadiene (normal) 60 VDV32 1/2" 60 VDV32 1/2" 3 VSR-510S 3 VSR-100S
(C4H10) 40 VSR-410S 5 VSR-100S HF
Butene-1 65 VDV32 1/2" 60 VDV32 1/2" 3 VSR-510S 3 VSR-100S
(C4Hg) 50 VSR-410S 5 VSR-100S HF
200 VDV33 1/4" 75 VDV32 1/4" 3 VSR-5105 8 VSR-100S
75 VSR-410S 20 VSR-100S HF
500 VDV33 172" 140 VDV32 172" 150 VSR-210S VS 40 VSR-410S
Carbon Dioxide
(02 500 VSR-2105 VS 100 VSR-210S
2500 VDV38H 750 VDV37 PC VSR-210S HF VS 160 VSR-210S HF
VDV37 M 1000 VSR-910S VS 325 VSR-210S FC
VDV39 800 VSR-910S
185 VDV33 1/4" 90 VDV32 1/4" 5 VSR-510S 5 VSR-100S
Carbon Monoxide 15 VSR-510S HF 15 VSR-100S HF
(o) 225 VDV33 1/2" 160 VDV32 1/2" 50 VSR-410S 50 VSR-410S
VDV33 1/4"
75 VDV32 1/4" 50 VDV32 1/4" 3 VSR-510SH 5 VSR-510H
VDV33 1/4° 50 VSR-410S 15 VSR-510H HF
150 VDV32 172" 100 VDV32 172" 75 VSR-210SH 30 VSR-410SH
Chlorine
200 VSR-210SH HF 75 VSR-210SH
()
300 VDV38 400 VDV37 PC 125 VSR-210SH HF
VDV37 M
VDV39 250 VSR-210SH FC
Ch"’””(eCITFg'“O”de 20 VDV32 172" 15 VDV32 172" 6 VSR-4105-VC2 6 VSR-410S-VC2
185 VDV33 1/4" 90 VDV32 1/4" 5 VSR-710S 10 VSR-100S
Diborane Mixtures 20 VSR-100S HF
(Nitrogen Balance) 225 VDV33 172" 160 VDV32 172"
VDV33 1/4°
Dichlorosilane 20 VDV32 172" 20 VDV32 172" 7 VSR-410S-VC2 7 VSR-410S-VC2
(SiH2 CI2)
70 VDV33 1/4" 35 VDV32 1/4° 3 VSR-510S 3 VSR-100S
Diethyltelluride 5 VSR-510S HF 5 VSR-100S HF
(Te(C2H5)2) 85 VDV33 172" 60 VDV32 172" 25 VSR-410S 25 VSR-410S
VDV33 1/4"
140 VDV33 1/4" 55 VDV32 1/4" 3 VSR-510S 3 VSR-100S
Diflucroethylene 50 VSR-410S 6 VSR-100S HF
(@H2F2) 200 VDV33 1/2" 100 VDV32 1/2" 75 VSR-210S 50 VSR-410S
VDV33 1/4" 75 VSR-2105
14 VDV32 1/2" 7 VDV32 1/2" 3 VSR-510S 3 VSR-100S
Dimethylsilane 50 VSR-410S 50 VSR-410S
(C25iH8) 150 VDV37 PC 75 VDV37 PC 75 VSR-210S 75 VSR-210S
VDV37 M VDV37 M
Disilane 14 VDV32 1/2° 7 VDV32 172" 1 VSR-100S 1 VSR-100S
(Siz He) 7 VSR-410S-VC2 7 VSR-410S-VC2
380 VDV33 1/4° 90 VDV32 1/4° 3 VSR-510S 3 VSR-100S
Ethylene 50 VSR-410S 5 VSR-100S HF
(C2H4) 485 VDV33 172" 160 VDV32 172" 75 VSR-210S 50 VSR-410S
VDV33 1/4" 75 VSR-210S
F";‘F’Z”)"e BT B B B BT B B B




R 8RR R SR

Pressure Regulator and Valve Selection Gulde

" BRARR SiRmiE ] BRARR iR BRARR SiRimEES BRARR (R EmEERS
(slpm) UA/UB/UC (slpm) UA/UB/UC (slpm) UA/UB/UC (slpm) UA/UB/UC
210 VDV33 1/4" 105 VDV32 1/4" 10 VSR-510SH 10 VSR-510H
Hydrogen Chloride
Mixtures 20 VSR-510SH HF 20 VSR-510H HF
(Nitrogen Balance) 265 VDV33 1/2" 190 VDV32 1/2" 40 VSR-410S 40 VSR-410SH
VDV33 1/4"
Hydmg(e;;'“”de 20 VDV32 172" 20 VDV32 172" 5 VSR-4105-VC2 5 VSR-4105-VC2
125 VDV32 1/4" 55 VDV32 1/4" 5 VSR-5105 5 VSR-100S
Hydrogen Selenide VDV33 1/4" 40 VSR-410S 20 VSR-100S HF
(H2 Se)
215 VDV32 1/2" 95 VDV32 172" 40 VSR-410S
185 VDV33 1/4" 90 VDV32 1/4" 10 VSR-510S 10 VSR-100S
Hydrogen Selenide
Mixtures 20 VSR-510S HF 20 VSR-100S HF
(Nitrogen Balance) 225 VDV33 1/2" 160 VDV32 1/2" 50 VSR-410S 50 VSR-410S
VDV33 1/4"
210 VDV33 1/4" 80 VDV32 1/4" 5 VSR-510S 5 VSR-100S
Hydrogen Sulfide 40 VSR-410S 10 VSR-100S HF
(H2'S) 260 VDV33 1/2" 140 VDV32 172" 40 VSR-410S
VDV33 1/4°
105 VDV33 1/4" 50 VDV32 1/4" 20 VSR-510S 20 VSR-100S
Krypton 60 VSR-410S 30 VSR-100S HF
(Kr) 130 VDV33 1/2" 90 VDV32 1/2" 60 VSR-410S
VDV33 1/4"
245 VDV33 1/4" 120 VDV32 1/4" 10 VSR-510S 10 VSR-100S
Methane 20 VSR-510S HF 20 VSR-100S HF
(CH4) 295 VDV33 172" 210 VDV32 1/2" 40 VSR-410S 40 VSR-410S
VDV33 1/4"
Methanol 70 VDV32 172" 40 VDV32 172" 3 VSR-510S 3 VSR-100S
(CH3 OH) 50 VSR-410S 5 VSR-100S HF
Methyl Bromide 25 VDV32 172" 15 VDV32 1/2" 5 VSR-410S-VC2 5 VSR-410S-VC2
(CH3 Bn)
Methyl Chloride 60 VDV32 172" 45 VDV32 172" 1 VSR-100S 10 VSR-4105-VC2
(CH3Ch 10 VSR-4105-VC2
200 VDV32 1/4" 70 VDV32 1/4" 3 VSR-5105 3 VSR-100S
Methysilane 50 VSR-410S 5 VSR-100S HF
(CH3 SiH3) 350 VDV32 172" 120 VDV32 172" 75 VSR-210S 50 VSR-410S
75 VSR-210S
400 VDV33 1/4" 120 VDV32 1/4" 5 VSR-5105 5 VSR-100S
Methyl Fluoride 50 VSR-410S 10 VSR-100S HF
(CH3 P 490 VDV33 1/2" 200 VDV32 1/2" 50 VSR-4105
VDV33 1/4"
215 VDV33 1/4" 110 VDV32 1/4" 20 VSR-510S 20 VSR-100S
Neon 40 VSR-510S HF 40 VSR-100S HF
(Ne) 260 VDV33 1/2" 190 VDV32 172" 300 VSR-210S 100 VSR-410S
VDV33 1/4"
250 VDV33 1/4" 100 VDV32 1/4" 50 VSR-510S 25 VSR-100S
50 VSR-710S 50 VSR-100S HF
400 VDV33 1/2" 200 VDV32 1/2" 250 VSR-510S HF 150 VSR-410S
Nitrogen VDV33 1/4" 1000 VSR-210S 250 VSR-210S
(N2) 1000 VDV38H 1000 VDV37 PC 300 VSR-210S HF
VDV37 M 300 13008
VDV39 400 VSR-210S FC
1000 VSR-910S




R 8RR R SR

Pressure Regulator and Valve Selection Gulde

JE— BARE SRR BARE R BARE SiRimEER BARE (R RS
(slpm) UA/UB/UC (slpm) UA/UB/UC (slpm) UA/UB/UC (slpm) UA/UB/UC
Nitrogen Dioxide 60 VDV32 172" 60 VDV32 172" 4 VSR-510S 4 VSR-100S
(NO2) 5 VSR-410S 6 VSR-100S
75 VDV33 1/4" 60 VDV32 1/4" 5 VSR-510S 6 VSR-100S
60 VSR-410S 15 VSR-100S HF
100 VDV33 172" 110 VDV32 1/2" 150 VSR-410S 30 VSR-410S
Nitrogen Trifluoride
VDV33 1/4" 400 VSR-210S 75 VSR-210S
(NF3)
350 VDV38H 500 VDV37 PC 1000 VSR-910S 125 VSR-210S HF
VDV38H VDV37 M 250 VSR-210S FC
VDV39 600 VSR-910S
310 VDV33 1/4" 75 VDV32 1/4" 3 VSR-510S 3 VSR-100S
Nitric Oxide 50 VSR-410S 6 VSR-100S HF
(NO) 380 VDV33 1/2" 125 VDV321/2" 75 VSR-210S 50 VSR-410S
VDV33 1/4" 75 VSR-210S
300 VDV33 1/4"VS 70 VDV32 1/4" VS 3 VSR-5105 VS 8 VSR-100S VS
60 VSR-410S VS 20 VSR-100S HF VS
500 VDV33 1/2'VS 140 VDV32 1/2" Vs 100 VSR-2105 VS 35 VSR-410S VS
Nitrous Oxide 150 VSR-210S HF VS 85 VSR-2105 VS
(N20) i i
1500 VDV38 VS 750 VDV37 PCVS 500 VSR-210S HF VS 160 VSR-210S HF VS
VDV37 M VS 1000 VSR-9105 VS 320 VSR-210S FCVS
VDV39 VS 800 VSR-910S VS
250 VDV33 1/4" 75 VDV32 1/4" 10 VSR-5105 10 VSR-100S
80 VSR-510S HF 25 VSR-100S HF
400 VDV33 172" 150 VDV32 172" 150 VSR-510S HF 50 VSR-410S
Oxygen
02 VDV33 1/4" 1000 VSR-210S 120 VSR-210S
1000 VDV37 PC 200 VSR-210S HF
VDV37 M 400 VSR-210S FC
VDV39 1000 VSR-910S
70 VDV32 1/4" 35 VDV32 1/4" 2 VSR-510S 2 VSR-100S
Perfluoropropane
VDV33 1/4" 20 VSR-410S 4 VSR-100S HF
(C3F8)
125 VDV32 172" 60 VDV32 1/2" 20 VSR-410S
Pe'ﬂ”‘(’éib;g)"’d‘e”e 25 VDV32 172" 25 VDV32 172" 5 VSR-4105-VC2 5 VSR-4105-VC2
320 VDV33 1/4" 80 VDV32 1/4" 5 VSR-510S 5 VSR-100S
Phosphine 40 VSR-410S 10 VSR-100S HF
(PH3) 390 VDV33 1/2" 145 VDV32 1/2"
VDV33 1/4"
185 VDV33 1/4" 90 VDV32 1/4" 10 VSR-510S 10 VSR-100S
Phosphine Mixtures 20 VSR-510S HF 20 VSR-100S HF
(Nitrogen Balance) 225 VDV33 172" 160 VDV32 172"
VDV33 1/4"
15 VDV33 1/4" 5 VDV32 1/4" 10 VSR-510S 10 VSR-100S
20 VSR-510S HF 20 VSR-100S HF
Phosphorqus
Pentafluoride 19 VDV33 1/2" 9 VDV32 1/2"
(PF5) VDV33 1/4" 52 VDV37 PC
41 VDV38H VDV37 M
VDV39
65 VDV32 1/4" 42 VDV32 1/4" 3 VSR-510S 3 VSR-100S
Propane VDV33 1/4" 50 VSR-410S 5 VSR-100S HF
(C3 H8) :
115 VDV32 1/2" 75 VDV32 1/2" VSR-210S 50 VSR-410S




R 8RR R SR

Pressure Regulator and Valve Selection Gulde

JE— BARE SRimH1EI ] BARE iR BARE SRmEERS BARE {EEREERS
= (slpm) UA/UB/UC (slpm) UA/UB/UC (slpm) UA/UB/UC (slpm) UA/UB/UC
185 VDV33 1/4" 90 VDV32 1/4" 5 VSR-510SH 5 VSR-510H
Fluorine Mixtures 50 VSR-510SH HF 10 VSR-510H HF
(20% maximum F2) 225 VDV33 172" 160 VDV32 1/2" 50 VSR-410SH
VDV33 1/4"
10 VDV32 1/4° 4 VDV32 1/4" 1 VSR-100S 1 VSR-100S
Germane
VDV33 1/4" 7 VSR-4105-VC2 7 VSR-4105-VC2
(GeH4)
18 VDV32 172" 7 VDV32 172"
185 VDV33 1/4" 90 VDV32 1/4° 10 VSR-510S 10 VSR-100S
Germane Mixtures 20 VSR-510S HF 20 VSR-100S HF
(Nitrogen Balance) 225 VDV33 172" 160 VDV32 172" 50 VSR-410S 50 VSR-410S
VDV33 1/4"
55 VDV32 172" 40 VDV32 172" 3 VSR-510S 3 VSR-100S
Halocarbon 12 50 VSR-410S 5 VSR-100S HF
(cCl2 F2) ;
50 VSR-410S
Halocarbon 1282 15 VDV32 172" 15 VDV32 172" 5 VSR-410SA 5 VSR-4105-VC2
(CBr2 F2)
140 VDV33 1/4" 40 VDV32 1/4" 3 VSR-510S 3 VSR-100S
Halocarbon 13 50 VSR-410S 5 VSR-100S HF
(CIF3) 170 VDV33 172" 70 VDV32 1/2" 50 VSR-410S
VDV33 1/4"
110 VDV32 1/4" 35 VDV32 1/4" 3 VSR-510S 3 VSR-100S
Halocarbon 1381 50 VSR-410S 5 VSR-100S HF
(CBIF3)
190 VDV32 172" 65 VDV32 172" 50 VSR-410S
10 VDV33 1/4" 50 VDV32 1/4" 10 VSR-510S 5 VSR-100S
40 VSR-510S HF 15 VSR-100S HF
200 VDV33 172" 100 VDV32 172" 80 VSR-510S HF 30 VSR-410S
Halocarbon 14
VDV33 1/4" 500 VSR-210S 60 VSR-2105
(CF4)
600 VDV38H 500 VDV37 PC 100 VSR-210S HF
VDV37 M 250 VSR-210S FC
VDV39 500 VSR-910S
Halocarbon 21 25 VDV32 1/2" 15 VDV32 172" 5 VSR-4105-VC2 5 VSR-4105-VC2
(CHCI2F)
115 VDV33 1/4" 145 VDV32 1/4" 10 VSR-510S 10 VSR-100S
Halocarbon 23 50 VSR-410S 20 VSR-100S HF
(CHF3) 140 VDV33 1/2" 250 VDV32 172" 50 VSR-410S
VDV33 1/4°
140 VDV33 1/4" 55 VDV32 1/4" 3 VSR-510S 3 VSR-100S
Halocarbon 32 50 VSR-410S 6 VSR-100S HF
(CH2F2) 175 VDV33 1/2" 100 VDV32 172" 75 VSR-210S 50 VSR-410S
75 VSR-210S
Halocarbon 114 30 VDV32 172" 25 VDV32 1/2" 7 VSR-4105-VC2 1 VSR-100S
(C2dFa) 7 VSR-410S-VC2
60 VDV32 172" 40 VDV32 172" 3 VSR-510S 3 VSR-100S
Halocarbon 115 50 VSR-410S 5 VSR-100S HF
(€2 CIFs) 75 VSR-210S 50 VSR-410S
75 VSR-2105
60 VDV33 1/4" 40 VDV32 1/4" 3 VSR-510S 3 VSR-100S
50 VSR-410S 10 VSR-100S HF
100 VDV33 172" 80 VDV32 172" 75 VSR-210S 25 VSR-410S
Halocarbon 116 VDV33 1/4" 125 VSR-210S HF 50 VSR-210S
(C2F6) 275 VDV38 400 VDV37 PC 90 VSR-210S HF
VDV37 M
VDV39 175 VSR-210S FC
450 VSR-910S




R 8RR R SR

Pressure Regulator and Valve Selection Gulde

JE— BAmE SiRimiEI ] BAE R BARE SiRiHEERR BARE {REIRBERR
(slpm) UA/UB/UC (slpm) UA/UB/UC (slpm) UA/UB/UC (slpm) UA/UB/UC
180 VDV32 1/2" 70 VDV32 172" 3 VSR-510S 3 VSR-100S
Halocarbon 125 25 VSR-410S 5 VSR-100S HF
(C2 HF5) 75 VSR-210S 25 VSR-410S
75 VSR-210S
55 VDV32 172" 40 VDV32 172" 3 VSR-510S 3 VSR-100S
VDV38 50 VSR-410S 5 VSR-100S HF
Halocarbon 134A 75 VSR-210S 50 VSR410S
(C2 H2 F4)
350 VDV37 PC 230 VDV37 PC 75 VSR-210S
VDV37 M VDV37 M
35 VDV32 1/4" 20 VDV32 1/4" 3 VSR-510S 3 VSR-100S
Halocarbon R218 VDV33 1/4" 50 VSR-410S 5 VSR-100S HF
(C2F8) 60 VDV32 172" 40 VDV32 1/2" 75 VSR-210S 50 VSR-410S
75 VSR-210S
Haloc(zr:’;’é‘)a 18 25 VDV32 172" 20 VDV32 172" 6 VSR-410S-VC2 6 VSR-410S-VC2
Halocarbon C1418
(Octafluorocyclopentene) 7 VvDV32 1/2" 7 VDV32 1/2" 3 VSR-410S-VC2 N/A FEEFTE
(C5 F8)
750 VDV33 1/4" 250 VDV32 1/4" 125 VSR-510S 65 VSR-100S
500 VSR-510S HF 125 VSR-100S HF
1000 VDV33 172" 450 VDV32 172" 2000 VSR-210S 275 VSR-410S
Helium 625 VSR-210S
(He)
2500 VDV38H 2500 VDV37 PC 900 VSR-210S HF
VDV37 M 1200 VSR-210S FC
VDV39 2500 VSR-910S
Hexafluoropropane 20 VDV32 1/2" 15 VDV32 172" 6 VSR-410S-VC2 6 VSR-410S-VC2
(C3 H2 F6)
60 VDV32 172" 40 VDV32 172" 3 VSR-510S 3 VSR-100S
Hexafluoropropylene 50 VSR-410S 5 VSR-100S HF
(G F6) 75 VSR-210S 50 VSR-410S
75 VSR-210S
800 VDV33 1/4" 300 VDV32 1/4" 125 VSR-510S 65 VSR-100S
500 VSR-510S HF 125 VSR-100S HF
1600 VDV33 172" 600 VDV32 172" 1200 VSR-210S 275 VSR-410S
Hydrogen VDV33 1/4" 625 VSR-210S
(H2) 3000 VDV33 1/4" 3000 VDV33 1/4” 900 VSR-210S HF
VDV38H VDV37 PC
VDV37 M 1200 VSR-210S FC
VDV39 3000 VSR-910S
155 VDV33 1/4" 55 VDV32 1/4" 1 VSR-510SH 1 VSR-510H
Hydrogen Bromide 30 VSR-410S 2 VSR-510H HF
(HEr) 190 VDV33 172" 95 VDV32 172" 50 VSR-210SH 30 VSR-410S
VDV33 1/4" 50 VSR-210SH
350 VDV33 174" 75 VDV32 1/4" 2 VSR-510SH 8 VSR-510H
90 VSR-410S 20 VSR-510H HF
500 VDV33 172" 150 VDV32 172" 150 VSR-210SH 40 VSR-410SH
Hydrog(?cf)hloride VDV33 1/4" 600 VSR-210SH HF 85 VSR-210SH
2000 VDV38 850 VDV37 PC 2000 VSR-910S 160 VSR-210SH HF
VDV37 M 300 VSR-210SH FC
VDV39 800 VSR-910SH




R 8RR R SR

Pressure Regulator and Valve Selection Gulde

J— RARE SiFwHTE| ] BRARER iR ] BAE SiRimEERS BAE {REmEERS
(slpm) UA/UB/UC (slpm) UA/UB/UC (slpm) UA/UB/UC (slpm) UA/UB/UC
200 VDV33 1/4" 25 VDV32 1/4" 3 VSR-510S 3 VSR-100S
45 VDV32 172" 50 VSR-410S 6 VSR-100S HF
Acetylene
(Cor2) 280 VDV33 1/2" 400 VDV37 PC 75 VSR-210S 50 VSR-410S
VDV37 M 75 VSR-210S
VDV39 95 VSR-210S HF
150 VDV33 1/4° 90 VDV32 1/4" 30 VSR-510S 30 VSR-100S
160 VDV32 172" 100 VSR-510S HF 50 VSR-100S HF
. 250 VDV33 1/2° VDV37 M 200 VSR-410S 150 VSR-410S
AT 890 VDV37 PC 800 VSR-210S 400 VSR-210S
500 VDV33 172" VDV37 M 600 VSR-210S HF
VDV39
250 VDV32 1/4" 100 VDV32 1/4" 5 VSR-510S 5 VSR-100S
VDV33 1/4" 50 VSR-410S 30 VSR-100S HF
450 VDV32 1/2" 225 VDV32 1/2" 75 VSR-210S 60 VSR-410S
Ammonia 400 VSR-210S 125 VSR-210S
(NH3)
1000 VDV38 1000 VDV37 PC 600 VSR-210S HF 250 VSR-210S HF
VDV37 M 1100 VSR-910S 500 VSR-210S FC
VDV39 1000 VSR-910S
200 VDV33 1/4° 80 VDV32 1/4” 10 VSR-510S 10 VSR-100S
100 VSR-510S HF 25 VSR-100S HF
350 VDV33 172" 150 VDV32 172" 250 VSR-510S HF 50 VSR-410S
Argon
A VDV33 1/4" 600 VSR-210S 100 VSR-210S
1000 VDV38H 800 VDV37 PC 200 VSR-210S HF
VDV37 M 400 VSR-210S FC
VDV39 1000 VSR-910S
140 VDV32 1/4" 55 VDV32 1/4" 5 VSR-510S 5 VSR-100S
Ausine VDV33 1/4" 40 VSR-410S 20 VSR-100S HF
(AsH3)
240 VDV32 1/2" 95 VDV32 1/2"
185 VDV33 1/4" 90 VDV32 1/4" 15 VSR-510S 15 VSR-100S
Arsine Mixtures 50 VSR-510S HF 50 VSR-100S HF
(Nitrogen Balance) 225 VDV33 1/2" 160 VDV32 172" 150 VSR-410S 150 VSR-410S
VDV33 1/4"
B°'°”(chifsh)'°"de 20 VDV32 1/2" 15 VDV32 1/2" 6 VSR-4105-VC2 6 VSR-4105-VC2
185 VDV33 1/4" 90 VDV32 1/4" 15 VSR-510S 15 VSR-100S
Boron Trichloride Mix 60 VSR-410S 30 VSR-100S HF
(Nitrogen Balance) 225 VDV33 1/2" 160 VDV32 1/2" 60 VSR-410S
VDV33 1/4"
115 VDV33 1/4" 60 VDV32 1/4" 5 VSR-510S 5 VSR-100S
Boron Trifluoride 25 VSR-410S 10 VSR-100S HF
(BF3) 145 VDV33 1/2" 100 VDV32 1/2" 25 VSR-410S
VDV33 1/4°
115 VDV33 1/4" 60 VDV32 1/4" 5 VSR-510S 5 VSR-100S
Boron 11 Trifluoride 25 VSR-410S 10 VSR-100S HF
(11BF3) 145 VDV33 1/2" 100 VDV32 172" 25 VSR-410S
VDV33 1/4"
Butadiene 60 VDV32 172" 60 VDV32 1/2° 3 VSR-510S 3 VSR-100S
(C4 He) 40 VSR-410S 5 VSR-100S HF




FmiRIZERSS

1. fRIZEH
BA(JHE14E, FELHRE), RAMTAREEARIREMSTIRENE, ANENSRBMEHENEIRR,

2. (RMEEHE
o (RIESBENRALN T L SHWEH RSN AAT=R.
TICREERMEBR, AATIFRIEMFERESAME, RN FEFRNSREK. FiEHRk. DRIRK, NAATF=REINER
ARG R EFRERIEL. SIS ENEFRE RS T TIEIAME,

(3%m]
LI EIREMEERMERIR AT ARIE :
1) FFRBEARERZIREEMS (HHE) BRERHIE.
2) RREAAIATERATAIE.
3) BRAFEIREURFRBITIERAIEE,
4) (ERESEFREMETRS.
5) FERITAUESMACEEIMER, BRIRMTRETHIE. BTIHEERM.
6) SMEREIZRR R MR FTIE AR IR B,
7) EHRARTAARREIEMEER.



VIGOURI

Website : www.vigourco.com

]

I

Add: ESHNT IR ARE5355526#2/F
Phone: (86) 021-6760 1819

Email: info@vigourco.com

LN )
AL :'.l
B .\'\\ul Q
:“:\\ (P 3¢
-_— -
:/-;'l \'Q:.'.:
B “tee \ P
CLPTNN
N
a
FRSRE-REB FER!

KiFEA], KEEZVIGOURER!

% &)

© 2025/07/09 VHPS Catalog CN Ver 5.0 CATA# VIGOUR® {REBEFEHF),




	封面封底分页版
	P1-30
	P31-62
	P63-94-新
	P95-126-新
	P127-131-新



